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1. JE < eAH-0539 T7 UH %S © H3T 378 Us-UAsa '3 fase-
AT &J1 53 ASET | (FHAT-9%3dT &7% J€ AHS S 9 U7 &. 7 MGH™T)
2. UFT Ag® T 8§93 gaT sUSTEHT 3 yaHS Us-UAsdr ©
AE! STBT UTHST (UG- URSST) Bt SUTet, Ui, AeTd FaaT, Ay
uﬁwﬁaﬁwﬁemmaw ; Ermsaagaﬂ@?rfmral
(JFg Ags iy 898 St Us-yASat 895 © ‘@ed Had @78
It §Ug I Su=TEPHT A hHT I )

feT YRS feadt »et &dt I

AA39, UAE Ha® 1 Tt 893, i fenm 9=, 37— 9 Arfogarer w3 fiw sae- 160062 3t

(it)



d HIdd

A Ags fiftnm 895 us-gvt w3 Us-yA3dt § Aue w3
famg a5 & oW &9 afewt Jfour J1 »im fAr &9 S5 Wit Jw 39
Jifes fem € Us-gHt M3 Us-unagdar 9 SHaS IdIa®H SIHIa-
2005 M@HT ¥ HIITYIS Ufa=d3s J13 AT 3J I& |

Ag® dtgsH &g arfez fen e viseyes daes J w3 &83te
fifima a3 YUz 995 et dait us-ynza T g ufost Ages JI
fen et fen us-ynsa fe9 feur Anaret § fer 397 AEfuz a3 farur
J fan o fefewrgatnt & 39 mast ygfes 9= © a%-a% fem &
A € WargT &9 &t =ur 9=ar | sfgwmt € yns fefemmagtdt €
H&fAT Uud & MaAg famg Ji3 I g5 | feg yAaa IwHedt fefemr
g9 w3 frustet Angr @8 o<t Aet set faurg aist gt afes fen
Tt ynsa &t maAesT gdet J1 feg ynsa #s At gt g @t 3 y=raat
s Qud3 Ury ngw fifunt S93 e yarfas Sist aret I

fen us-yAza § fefenmmagtmt w3 wforyat € et g 3 <0
Sutiait s=@< T F9yg W3 ai3T farur I feg &, yAsa & J9 daer
g8 T e 439 f&9 We gget @r Af3aa J13T AT=ar|

‘AfAa fomT mfgaraaT M3 uie farest feswar, yag

(if)
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1.1 gfiar

&< w3 99 HT emsfed Aftmret €t ud 79 i3t w3 fem ifafonr
TS TS MUfgnw wftmet w79 wreardt st fer uts &9, it emsfed
Afgwret 979 Wruet IagT ATt Juidr| feg 999 wHE ITa1 1.2 W3 1.3 &9
USTSHA HYTS (integers) Aftel € € 993 dF HI3TYIS IIt 3° B JITdT|
feg 9€ 95 : w8z <3 WSJIfaaH (B(BE f%ﬁ) (Euclid’s division algorithm)
W3 wigarfes =t H&I3 YN (fg8aH) (Fundamental Theorem Arithmetic) |

fm 3gt fa o1 37 Uz S9TeT J, wafss I3 wdifder Hyds Hitmret
(mtegers)e?esmﬁmzv%maufe—ﬂﬂﬁugmWW%H%{UTWBT
WSIIEH & MarTd, 8 ga3Hd Hyas wftm o & fan Trdt ussHa Huds
wafenwmwmaﬁwsﬂrwae T b3 B ()
ﬁ%lmﬁmmmfgﬂgwwgm(longdwlswn
process)@wﬁﬁmwlﬁﬁ%m(ﬁ)m@(FD-FSE)fEUH
g3 AIS J, Ud3 Ayds Aftmret €t I3 © gt oy Hdfus fem dt 593
Hrdtwit fefmaTet g 1wt fogst i g3 '3 IHST Ui w3 Wy gu feg femer
W?WWWEHddHM@d:d (HCF) Jg< € g7d 93Tl |

THJ UTH »iaaife3 € U833 YNW T HeU T&T3HT HYJS Hiynet o
W?UIE#W?G%WU%W%HWW(comp031tenumber)
SWIB’T-[H'FHWET(prlmenumbers)EW?W@WWWUI&U
HI3QYIs 39 Wigdfes €t ysg3s fafan J1 feg 3° feg ufgen (i) afae
w3 AHST fET 993 A9S J, U3 9ife3 © 139 &9 fon gt 993 fermaet g5
&8 wirt vigarfez € vags faGan Ef © Wy femmaet 2ufar| fia 3t wirt




2 Jfes

ferer Yuar AH3 IX &9 uSht aret 33 Hfimret, fam 39t 2,3 3
J5 »fe € miufonwsT g a9e Set Jatar | grar, wirt ferer yuar feo Sge

feg qarar fa fam ufanw Ao Vs 6 qﬁ(q # 0) TTEHHBE feA31d 92 Hi3
(terminating) I€T I W3 & WMH3 M<I3T (non-terminating repeating) Ie7 J |
feg it g T J9, ¢ € MIH JTSUST § €Y o U3T Ia¢ JF I 3HT 2Hdl T ¢

T MIH JesHsT 3 g T EAHSE gu ©t Yfaa3t e ydt 39t uzT a1 A

fen Bet, WS wmust uw Hg It |
1.2 G_'Hf&'g CE S 1{):I'ﬁ?I?:F (Euclid's division Lemma)

Jo' fa3t 89 g593* '3 fegd g

S feadsT A3a '3 7rer JfomT wiz 29 faar Hii Ba »i@H! et
fare 3% el g 31 Hl, 3 6F feadsT 378 Hee! HaT (S9137) T8 ad 2371
for 37% 918 Wdl €7 aret w3 RS wifsmi &t 2adl 4a d A3 '3 He B3t wis
2e 18| feadzT 3 Yofez & faar fa En femast & 22 38 wifsmi e iR 8 &
g1 YTfez 3 feda37 & Ylen fd 168 »is 22 A& BA3 Ja1 maHg 839
fagr

o-v floe 78 F°d 94T,

[Fo-1e forse 38 & o4

T19-97d fdloe 378 36 gogadl:

UA-UH 1d16e 378 99 g9l

5-5 1915 378 Ud g9l

Hat 2adl fe T 150 3 T w3 &J1 W™ HIE |

fen Bt fda i3 As? wi foer 9793 § I8 995 B W3s adie | He

B niifsmt &t fareat @ J1 g €2 g 3 1y I9¢ IT, wiHt Tue IF fa a
At 150 37 21 3 A fere 9999 J1

* feg Bud €. IHUS W3 97 o foudlt fagme fsGHart a@en fe's fout gsa3 &
yedf33z (Fes<l) gu J




s3faq Aftpyrai 3

HId A3-A3 foele 3 g &t gwari fed a=7p+0€ QU f€®

yeaf3z J wer 9, g p aet yfgfsa At I

wag &8 forele 3t 5 guedl Ifeg a=6g+ SE U e yeaf3z IAfeT 4,
g ¢ et yfgfsa wftmr J1

UA-UH fores &5, 4 g9eT JIfega=5s+4T ufegyeafzz gater g,
g s ot yfgfaa vt J1

T9-979 fores 578, 3 99e7 J1feg a =41+ 3 € QU 9 Yeaf33 J A
3, frig ¢ et yfafsa mftor I

f35-f3s fores &5, 2 g9er J1fega=3u+2% gu e 9 yeafsz I A
3, fig u It yfgfsa wfwmr I

o€ fores 5%, 1 999 Ifeg a=2v+ 12 gu €9 Yeaf33 Iafer J, fifg
v aet yrfgfsa wfumr J1

e, Quda3s I3 fed A3t i 9, A1 98 © UaT3Hd AYTs Hitme a w3
b IS (BEIE Gurade fe g h T HS gHEd 7, 6, 5, 4, 3 M3 2 75) | fegst feg
ad b IS I TS '3 r Tt g J (QUIII T r WS gHE9 0, 5, 4, 3,
2M3 1 T8) I r WA b 3 8 I It wirt fem 397 © mftage foue 7,
W Gdfss €5 YHwdr (Euclid’s division lemma) BT YyWar 99 39 JF, fen &
ynw 1.1 feg fe3r 7 faar I

g, WA g3793 '3 @fur v J8, ot IHT A9 I € Aae J fa fer
g993 ¢ fae” I Iafa? of, It 7 € fen 3gT © A JredA T U3T A9 |
Qudaz AT Heut § H3He J9¢ I A9 W3 95 fedt 8 LCM ©t 293 qae 3
3AT U3T 99 Aae d fa iifsmt €t farezt 119 Hh

for 918 € wigge 995 BEt fa wafss €5 yifaar ot 9, fygs Aftmret @
Js oy Afamt *3 fegg 9:

(i) 17,6 (ii) 5, 12 (iii) 20, 4

fm 3gt fa wirt g3793 @t Gergae feg i3 H, o8 & vt 99 fe'w
T3 Sel Hou foy Aae I fan 3g7 fa Ja warfenr 7 faar J1

)17=6x2+5 (17 f&9" 6 © 9 Awr I W3 5 gt 97 J)

(ii) 5 = 12 x 0 +5 (feg Hey fem =t vt 9, fa€fa 12, 5 37 €37 9)

(i) 20 =4 x 5+ 0 (20 &9 4 A =79 7T I w3 gelt 99 &t g9e7)
I U&IHI HYTS AT o W3 b & I3 € A3 € set wirl fer 3gt it
Y3s HitMet ¢ w3 r U3T dd gd JF fd

a=bqg+r,0<r<bJl

fonrs fef fa g w3 r figg & Aae T51




4 afez

I AT TET3HE HYTS At @ W3 b & Jof fo 3 Afamt € SEt Aygs
HitTet ¢ W3 r U3T IS T W3S 4

(i) 10, 3 (i) 4,19 (i) 81,3

ot 3HT s fe 3 fa ¢ W3 r fes ue 987 feg ot Jes for 3gt &
HYTs At 98 § HET a=bq +r,0<r<b  HgHe daemt 95| AT feg
& 2y fomr J<ar fa feg St I3 fedt 3 femrer g9 S &t 9, i & 3t Tt
W?W@Wﬁﬁ@q@réwm(quotient)h@El"Bﬂ(remainder)
foar AT J1

fer a3t & GuTTad aufeu_tr(formal)hmﬁ‘ﬁsfe“rs"cffgtrﬂaﬁaf
yw (fa€an) 1.1 wafess <5 Yifaar (Euclid’s division lemma) faFmit
WEWWWawaeﬁmmqur
IdmT Is T a=bg+r, 0<r<bJer JI

fer a3t &t Areardt g3 ufost 37 d A, Y3 fust gufe g fererrg 3¢
ufast 88y wafgs W& A (Euclid’s Elements) €t YA3d VII feg o137
famm J1

WS €3 Wdifgar (F%s fedt) fer It yiwar (Lemma) '3 wofaz I
= fo'g Bt It 9, 7 f£q femm yag
= AT § T8 Jas ©f e yfafamr
7 fedt et I

HEe  wadifdan’’ ot rete iy
gTgHt Jife3 fefamirat ws-ynifamit 2
aH 3 fonr fapm J1 wins e Hee
MBAEIT (Algebra) <t fegst emmar
fodt yrsy ‘forg s 799 <t mis
HagsT 3 fon faprr J1

YHuar feg g iz dfenm sms winie fems war wis wrfamdt

Jer I w3 fend fan J9 ags & g (780 — 850 T, )
IJ& Bt <93¢ IS |
HAfSF T3 WSIIEH € TSTIHT HYTS HitPTt BT H.H.T (H.C.F) TS

q9& T f¥a 3T I1 3976 e I fa € usT3Ha Hyas Hitmret o W3 b &
HF%’(HCF)@UHEB‘%B’TWWWd J, W am3 pEet S ydt
3g" gTaT Jaet I



THIfea Afgr=t 5

g Afont 37 ufgst fea Bergde 8 o euite fa feg wdifoar fam 3gt
I FgeT J1 He B miHt Hugs Hitmet 455 W3 42 ¥ HA.€ (H.C.F) U3
II&TJ I wHT T3 HYTS At 455 37 HY J9€ I | IS WATSS YHWdT 3° A
Y3 Jer I

455= 42x10+35
I I 42 M3 gt 35 & B d, WAS3 YHWdT €7 YWdl dde IF, A
1{“13’@?%
42=35x1+17
IS IS 35 M3 Tt 7§ B o, FASGS YW € YWdl 996 3, AS Y3
REEUE
35= Tx5+0
fimies @ for 8 wrslt firga (+19) wir famm 3 wi3 wit il a9 ot o3
Aae | At wnye IF fg fem Afet et g g@ 7 455 M3 42 TTH AT
(H.C.F) J13HT fer &t 719 455 W3 42 € °AJ JIeayst & fou o 99 Ade J1feg
fedt fam arge W =9 At 7
fer T Ide wafes <3 wedifgan 9, fere uar & Jat Aure o137 7 faar
J:
T TSN HYIS Ritmet Ha B ¢ M3 d (c>d) T H.A.T (H.C.F) U3
I35 Bt It fg3 UaT MaHTd I J9:
UTl 1: ¢M3 d © SE A8 €3 YHTaT ©F YudT 94 | fom sEt, »irt fem 3gt
@’qm_;’rl{flra’a_d_é’tl'fﬁc=dq+r,03r<dﬁé’l
UGl 2: Wad r=0 J, 3t d AYIS Aimet ¢ 3 d T H.A.T (H.C.F) J1 Had
r#09, 3T dM3 r T BE, FAfSs TF YNWAT € YWdT a9 |
uar 3: fem yfafgnr & €€° 39 7rat 94, 72 3 gt fAea (#9) yuz &7 J
< | for 39t yuz 3d It SSETHA.E (H.CF) JI
feg wizdifgan fem et ygrenst J fagfa HCF (¢, d) = HCF (d, r)deT J1
f&" Ho3 HCF (¢, d) T H3®9 J ¢ M3 d T HCF|
Serags: 4052 W3 12576 € H.A.T (H.C.F) UI(SS <3 WMSIITIEH BT YUl
I3 U3T AT |



6 difes

Y]

J &
uar 1: 88 12576 > 4052 1 12576 W3 4052 €Ug WafSs YHwar €7 yoiar
IS 3 WA Y3 dae TN
12576 = 4052 x 3 + 420
uar 2: fa@fa gt 420 20 I, fem SEt 4052 W3 420 © St gafss Yyuwar
T YWl 996 3 MHT Y3 dae In:
4052 = 420 x 9 + 272
UaT 3: wHT 3 I 420 M3 &L Tt 272 & & F WSS YHTST B YuIdT
J9d, J&T WA YU dad I
420 =272 x 1 + 148
IE MHT 3T IHF 272 M3 B Tl 148 '3 WATSS YHTT YWl ddd YU3
ddd Jn:

272 = 148 x 1+ 124
IE AT 32 I 148 M3 < Il 124 '3 WSS YHWST YWdT ddd
1{“43’3(3%87
148 = 124 x1+24
IS AT 32 I 124 W3 < I 24 '3 WSS YHWAT YW T d9d YU3
e TN
124= 24 x5+4
IE WA & I 24 M3 B Tt 4 '3 FAMSF YNWST € YWdT ddd
1{“43’3(3%87
24= 4x6+0

&g gt figg (0) yuz I famr J1 fem et Yfafonr feg wzw It I
faGfa fem nfazt fs 3a 4 J1 fem e 12576 W3 4052 € H.C.F 4 J1

fimis fe@ fa HCF (24, 4) = HCF (124, 24) = HCF (148, 124) = HCF
(272, 148) = HCF (420, 272) = HCF (4052, 420) = HCF (12576, 4052) J1

AfB3 23 MEdifgaH &1 fHde €St Aitmie & H.A.€ (H.C.F) U3T J3&
&g Quuatt 9, gsfa feg fom ot & wdseyuae I fa feg Qg wedifaan feo
fig 3, fagt = dfubed  fig Japv @ gu feg Ag 3 ufasst yGiar szt fam|
feuat:
1. WIS 3 YHUaT W3 WafSs €3 madifdan »un feg fem 397 93 I8
T& fa B wi 39 3 wafss <3 yawar § It wafes €3 medifaar afde Is|
2. wmaw/msmmwmew
It fafemr faprr I, 3 fog At Hugs wftmet (fleg g€ d g h#0) ©



s3faq Aftpyrai 7

et g 3T A AT I
ge, feg wirt fer 35 '3 fegd odt” satar|
WSS €3 YHWaT/ M difaaH & Aitpre’ € qIet 578 Hfg3 g3 A

fermstet Io | wiHt fegst fermzTe @ 99 Gerade Jaf € 9J I
@_E"TEIEZ few@ fa g9 f£'s ga=Ha farz Hyds Aftmr 2¢ & gu &t Jet
I W3 I3 €T UsT3IHT ' HYTS 2¢ + 1 & gu &t Jet 9, e ¢ It Hyas wfumr
JI
T HE B a JEt TESHT YIS Rt I w3 b =2 JITT FASS <3
WSdifaad 3, far Ayds Aftmr ¢ > 08 Bt a=2¢+r J, 8 r=0 3 7
r=13 fa8fs0<r<2 RSt a=2¢g A a=2g+1 JI

WG a = 2¢ J 3t feg fe'q iz Augs Aftmr 31 &5 It fed ge=sHa
Hygs it 7f 3T iz Jer J 7 i) for et Jet & gasHa o Huds
Hitmm 2¢ + 1 € gu feg Jatt
Gergees 3. fow@ fa €5 uarana i Hyds HitmT 4g + 1 AT 4g + 3T gu &t
Jet 9, g ¢ f€a Hygs At J1
I5: MG fE's usT3Ha 2iq HYds At ¢ § & I AS™S & I8 99T 1Y Jdte |
Wt g W3 b =4 '3 T3 HSTTIEH & YGdT ga€ I

fagfa 0<r<4 3, fon st Harfes w6t 0, 1, 2 W3 3 TS|

Ie arfumE 4g, 4g + 1, 4q + 27 4g + 3T U T J e J fiE ¢
Fares J 1 faGfa a f&q <iq Hygs wfimr 3, fen et feg dgm3 4g+2€ QU
T ot T AT (faefa 927 2 '3 €5 7 AaR 99) |

fer =€, ot & us3Hd 2 HYds it 4q + 1 A 4g + 3 € U €t Jeaft|
Gurges 4: & Hiommet fegd3a™ 98 420 ag &t gadht W3 130 gEH
Tt gaent 951 BT STt T fem 3t It Bdht @ vrder I fa I9
fe'g B4t fev gaeh™ <t fare3t gamgg 99 w3 feg Tdtvt ga<t <t uas feg
W2 3 W HES WIs | for v Bt a9 foq Bdt feg faamt gadmt gdwt ar
Haet I&7
J5: feg I A M3 I8 fedt a5 3T 7 Aaer T3 fer § sw U gu fem
I & BE WAt HCF (420, 130) U3Tde JI7ifed, fer v 7. (H.C.F) 3" I9
fe'q Bdt fo'g Junt 77 AdE esvt gaehit €t @0 37 2 U farest yuz Jeatt
A o5 Bdut €1 Bt we 37 w'e I9 9t w3 uars fe g feg gadhni we 37
WZ AES WISIHT |
Mg IE TAfS3 WBATEH T YWdT Idd 420 M3 130 € H.A. (H.C.F) U3’
Eait



420 = 130x 3 + 30
130=30x4+ 10
30=10x3+0

ferm B, 420 W3 130 = HCF 10 J1
fen @et, 99 fe'q yarg &t gact € sEt Hionet fegsT er-en et

TaMT g AIET J |
YS! 1.1
1. Jat fa It Hftmre T 1. A. € (H.C.F) U3T dd6 B! Haf&s 23 WS difgaH
T YT 9
(i) 135 "3 225 (i) 196 ™3 38220 (iii) 867 M3 255
2. fou§ fa I€t & garand <id HYgs AftmT 6¢ + 11769+ 37T 69+ 5€ qU
€ It 9, ﬁ%qa&%wwﬁwrrm

3. far U3z &9 616 mraHnt @t foa HoT (wraHl) & 2ot & 32 mreingt
T8 €9 Fer 3 € fU'e W99 99" J1 B9t Aydt S g9raq farest @
FIE;’E"'F(Columns)f@v_tf)-I"El_ti’B(El'c';rffl1°ET.I'<'>"'FE;"E"r (Columns)ﬁﬁfﬁﬁ
farest fat I, fanr fe™v feg Wigg 99 AIE I&7

4. GAfS3 T3 YHWAT €7 YWdT d9d feu@ fa fan ua3Ha Aygs Hitmr &
<941, fan Aygs AT ;m © € 3m 7 3m+ 1€ U €9 Jer J1
[Ha3 : Vs B8 x Jet uasHa Hygs wftmr J1 g€ 8T 3¢, 3¢ + 1 7 3¢ + 2
T gu &9 fodt 7 maret 1 fegst @97 99 f£°'a 27 @91 9 w3 feu@ fa
fegst T3art & 3m 7 3m + 1 € U &9 f&ftm 7 Aaer J]

5. GAf83 €5 YNWdT € YWdl d9d feug fa fan ua3Ha Hygs Hitmr e
WE 9m, 9m + 1 7 9m + 8 € gU f&9 Jer J1

1.3 nramf‘azehml{wm (Fundamental Theorem of Arithmetic)
ﬁﬁmwhmﬁ“ﬁmémwﬁuws@ww
U3 T JIses € U & faftor 77 Aaer J1 Gegdes € 39 '3 2=2,
4=2x2,253=11 x 23 mife 1§ ge Yfgf3a Aftmet €73 fe'a J9 fartde
3 fegrg adte | 3 feg euite fq ot wa™ Hitmret €t g agd fea yfgfsa
At Yz i3t 77 meret 97 v few < Atg adie
I mIH Hitmet, He B8 2,3,7, 11 3 23 T £ 9 Afd[w SC | 7aa »Ht

fegst f&9° g3 Af Ardhmt § ferm 3gF grer adie (mrﬁ Afynret fAst e ordte &
Adw If) 3t wiHl” s30T AYIS Bfniet T iy T30 g Af3[g 9T Aae IF(MAS




T3fed AfprT=T 9

&9, »ifi3 gu €9 miaa) | mi§ fegst fe5” g9 &t Aot geele
7x11x23=1771, 3x7x 11 x23=5313,
2x3x7x11x23=10626, 23 x 3 x 7P = 8232,
22x 3 x 7 x 11 x23=21252nfal
I ¥ 36 fa 393 i &9, Ardht Hae wa™ (prime) Hitmret 7

I | fer Afg[@ € WU (size) 79 3HT ot wiemr Sar mae J7 o fen feo /i

(finites) HUgs Aftmiet g& AT »HHZ (Infinite)? wAS &9 wmam™ Hiywret

nefare3 (Infinites) IS |7 Hag WHT ATd nigm Fivmiet & AT Hae Sdtfamt

&8 fog s It 31 HS wiafares wg™ HitTa w3 W Hitnei © Jieaest

@WW@WWUW|@1{%%U%&?WW

3J" AT 3T (composite) Hitmet YUz o9 Aae It7 3AT ot Age 97 o

3T feg Hoe I f et fem 3t &t o Hitor I FaEt 3 7 wigm At @t

WT3T (powers) T ITHeS & J< ¢ femer €739 T 37 ufast W@ ussHa

Hyds Hfimet € gIeayss Jdle, I« it ge 39 # di3T I GRer €%

Ecitd

it fE'F IEHF Y (factor tree) 7 YW T I3Tdr fim 3~ AT ufgst 3
e J1 oG feg T3 Hftmm Ha B8 32760 BEtE w3 fere Jeads Jof
feure wigrTg Jdte -

32760

2 16380

2 8190

2 4095

3 1365

3 455




10 difea

ferm 3gt, wHl 32760 & wig™ Hitmet € JIeaed € gu &9 Jeadfs3 99
oMM IA2x2x2x3x3x5x7Tx13T19<32760=23x3>x5x7x 139,
T WI™H AfeT Ehit W3t € 9eses € Ju fe g 31w feg 39 Aft v
B‘@12345678983m€mmlﬁﬁ?§32x3803><3607E"cﬂﬂ%_w’
fofor 77 FaeT I | SHa 308 feret 7Y Jaat 929t i 3803 M3 3607 maw
Hitmet 95 (39 99 for 3q7 ot yifagfsa Bftmmet & 3 39t wiy < 995 &t
afitr =9) fem 3 7g &g »aHs (conjecture) YUz der J fa g9 fed I
At & wigm "ttt &t Wist © gieses € gu &9 fofimr 7 Aaer J1
s f&9 feg a8a 79 I w3 Hyds Aitmet € miftmis feg feg yagu fes
mmma‘u@m%ﬁwdef‘gﬂduémﬁmw
(Fundamental Theorem of Arithmetic)da8er J 1§ fer ufgnw § Querfaa
(formal) 33 '3 Ysfh3 It |
YNT 1. 12 (madife3 €t vog3 Yiw) 99 f&°a 3 HftmiT (composite number)
& ma™ At (prime numbers) € ffd Jeaes € gu fe9 (Sanfenn)
JESUf33 AT 77 AT I W3 fog Jeadss maH deaus € MiiT @
33319 (gM) (order) 3 fe@rer fem ¥ (unique) IeT J1

vigafes € U8 33 yiw € gu fe g yfirg
EIES"UFEIBTI{)-I'G[ 1. ZETHEB‘WEB?E
HIfs3 € wEher € yr3q IX f&9 rug
(proposition) 14_Q’Huﬁv_trﬁfgwﬁlln]3f?ﬂ?
7Y 3 ufgst HE3 dd8 Géldo{ dmH (Carl
Friedrich Guass) =il WI"'UEPT feuz fsafabmm
wagnfedt ( Dzsquzsztlons Arithmeticae ) feg |

JdTd& G‘»éldot dl' H 3 MTH 33' 3' _clTrﬁ
WEWWEW@WW
I w3 femer a1 99 AN YfRT 99 58 Harasy

{l

I tHif3T (Archimedes) W3 f&6ea (Newton) d'd& e3ldd dItH
& wiis Is | fegst v 9ifes w3 fefamis eat (1777 - 1855)
fe'g It vifsa wares J1

vigarfe3 € W83 YHw Jfdet I fa 99 fe'd 3 Hftmm & wigm wfmret
T JIeses © gy &9 qeadfs3 o3t #r Aaer I wiAs @9 feg 99 < 93
afdet 91 feg Ifdet I fa f£a 3 wftmr § g Ffimet € gieses © QU
feg, faat feg fmrs fefamt g wigm Aftmiret fam 39319 (W) (order) T
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I5,f83 fe® vz 39 (unique way) 375 ITEUfS3 3T 7T AT J1 I AT &t
I At o3t It T 37 87 & migm Hitmet € greses € gu 9 fous er
frae fe'a 3t 3dtar I, Add wiHt wigm™ Afgwre’ @ wife @& g '3 det fegrd
& goe | for Bet Gegde €39 I mMAT 2x3x5x7 S GT A Hae ot A
3x5x7x2,&Hfem ater 31 fer 371, fegst wigm Aftmiet € greses © fan
JI IH S AT 2 x 3 x 5 x 7 Tgar It Hatar | fem "o & J&' €3 »igA™g
fafomr 7eT I
s yfgfza HiamT €7 Wam Jeayse, Bre geads’ ef 39319 (gH) &
ﬁﬁmmnique} _Un'E'Tﬁl
foryg qu feg, A2 wé fea I At x fe 3t Jet 9< 3F »irt Grd

x=pp,..p, T T I3 q9€ If, /¥ p,,p,,...p Mfe T U gH fe T
@it wigm Hfemet 5132 p, <p,<...<pJI #II wHT &S fadmt
(g9m99) ma™ Hivmret § fedar 99 BER, 3T A M At @t w3t
(powers) YU3 J AEm I |

ST gaE €39 '3, 32760=2x2x2x3x3x5xTx13=2%x3x5x7x 13

fe'q @9 feg fodger &< 3 g fa greadst t fvg 393ty <ue gy
WaHTg dedit 3t fa 3t Jet "t © wig IIEads fe® yE (unique) JET|

wigarfez € H8g3 YHW € difes w3 J9 u3d &9 It wiaat fermzme
I& | g fegat dmit g3 Geradet e wiftis adie |
Suraas 5 : Hitmet 4o '3 fegrg 99, i n €q yfgfza At 31779 99 fa
&t n wr It fem 39 BT U I fAan 3% 44 nig fAgd (0) '3 AW JeT I
T A9d fan n 2 et At 42 fHgd '3 M3 Jeatt 37 feg 5 a7 Imuar
Jedft 1 ge 47 2 WIH Jieause fog g™ Hitm 5 wiBet grdiet 31 feg Hae
st I fa€fa 47 = (2) I 1 fem Bt 40 © Teadze fe 9 aes wg™ At 2 It
wr AgEt J | igaifes € ysg3 € feduesr ynw Ard feg wats fee@'et 9
fa 87 ¥ dEayse feg 2 3 femger J9 det wig™ dieads odt J1 for =t
f‘g):rg—%rrgcr?}g"rﬁftrwnﬁaﬁ”% fFrFlE\TEE"ManF&’f‘FIEHO '3 AHUZ Jedit |

3T ugsht Anrst fieg, feg ug ¥ 9 I fa © ga=Hd HYds Aftmet
T H.A.T (H.C.F) W3 B.A.T (L.C.M) »aaife3d & 4833 YHd & Yudl dad
fom 3gt U3 o3 AT I8 | fem 3gF g9e AH, fer yHw € a1 e frag st disr
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famr Ht for 3414 E;'i WITH TESUSS €Tl (prime factorisation method) <
afde I5 1 m§ fe'g gergde & nofes s fon fedt & feg 37 we adie|
Burgas 6 : AR 6 W3 20 T WIH diesyse fedl 78 H.A.€ (H.C.F) W3
B.H.T (L.C.M) U3T IJ |
T%: B8 6=2'x3M320=2x2x5=22x5" JI

f 3gt fa 3t fus@ht a3t i@ 99 g9 9 3A HA.T. (H.CF)
(6,20) =23 BH.L. (L.CM.) (6,20)=2x2%x3x5=60d € AJS J|

famrs fe€@ 3 HCF (6, 20) = 2! = Aftprret © 99 &9 °IZ wgm JIeads o
Y 3 23 W3 T IE5es M3

LCM (6, 20) = 22 x 3! x 5! = Hftpyret fe*w wie 99 f&°9 Mg J=aus ot
Y 3 TSt Wit © qIeaes

Sugazs Gergge feg 3t feg 2y fenwm J=qm fI HCF (6, 20) x LCM
(6,20) =6 x 20 T mAS f&g, viaarfes € y8I3 YW €7 Yudr ddd mrt
feret 719 99 AT f fd faH & Ta3Ha AYgds At a w3 b € et HCF
(a, b) x LCM (a, b) =a x b Jev J| fen e = yGar gad wrl € ua3Hd
Hygs Hitmet €1 LCM U3T 99 Ade If, 7dd §I&T €7 H.A.T (H.C.F) ufd&t 3
It uzT I
Qurgas 7 ¢ WIH Jesys< feul enmar 96 W3 404 € HCF U3T 39 W3 feg
fem &7 LCM U3 99|
TH: 96 M3 404 € MIH FISUIE 3 WG YUz Jer I fa

96 =25 x 3, 404 =22 x 101
fer o€, fegst 20t Hygs Afummet & H.A.T 37 HCF (96,404) =22=4
96x 404 96 404

HCF(96, 404) 4
Gurgas 8 Hiter 6, 72 W3 120 T WIH dieayse fedt &8 HA.T
(H.C.F) M3 &.H.T (LLM) U3 94d|
aro Fl"élBT%

% Jt LCM (96, 404) = =9696

6=2x3,72=22%x3> M3 120=23x3x5
2! w3 3! I9 & A wg™ Jieadst €t Ag 3 gt wist
I | fem sEt, HCF (6,72,120)=2'x3'=2x3=6
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23, 33 5379 f£ g JIeeds o A9 3 @St w3 I, 7 fFat
Hitmet o1 AEfas J1
ferm B, LCM (6, 72, 120) =23% 3% x 5! = 360
feuat : famrs fe@ fa 6 x 72 x 1202 HCF (6, 72, 120) x LCM (6, 72, 120), 372
3 Aftme’ @ gieses® 8IaT € HCF M3 LCM © JE6e® & §9d19d &dt JeT|
YHSTHT 1.2

1. J&t fo It Ffimet § wigm Jreadst € Jieses € gu fe g fou:

(i) 140 (i) 156 (iii) 3825 (iv) 5005 (v) 7429
2. HYIs Aftmet € Jat fafamt Afgmt &7 HCF w3 LCM U3 99 w3 fer &t 7fg
39 fa € Aftmre g giese® = HCEFxLCM J1
(i) 26M3 91 (i) 5103 92 (iii) 336 M3 54
3. »IH JIEsuse fedt a7 Jat fa It Hyds Hftmet 8 HCF w3 LCM u3T
ECR
() 12, 15%3 21 (i) 17,233 29 (i) 8,9M3 25

4. HCF (306, 657) = 9 f&'37 J1 LCM (306, 657) U3T IJ |
5. 79 99 fa ot fan Yfgfsa vt n € st At g wia fiagg (0) '3 AHU3 I
Aol I
6. T IIfI Tx 11 x 13+ 13 M3 Tx6x5x4x3x2x1+5 34 Afanret
fag a1
7. foaR 93 € He's € 979 UH £ 9 9dard A3 J1 fer Hes e fig 999
Barge wel fadt & 18 fife Bae g5, wE fa fen Hes e fe'q 9a9 Barge
wel gt § 12 fifle B39 93 1 Hs 36 fa G0 28 fea ot mas w3 f&d It mi-
'3 9B Hg dd¢ I& w3 fea It fomr @9 7 9o 1 fdd i smie §o 22 19
T 7ES '3 9T HEdl|
1.4 wufons Aftmret < gagret
IX 7HT3 f&9 T8 mufone Fftmiet w3 B9t € 993 A 918 3~ A7
Fgerfen famm i 3 fegst & 9T w19 ufper #t w3 o f foam 397
Ufans w3 niufare Hftmire’ fHsd @3fed HiteT (real numbers) I8t
I | 3HT feg & i fao /Y fa Hiftr qur * 3 fam 3t »iufon Aftmret € mas
foauras a9e Io 1 feg <t wirt oo fAo ot A/t distfa feg Bfimret wiufanw
I | fer ot fe g, it feg Ao agfar fa2, 3,5 »m3mmigufes, [p
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mufone Hftmret g5, g p fea wgm "t J1 wiye 73 g vt fagt
NG BT YLIdT JardT, @wﬁf&vamﬁmw|

wre a4 fa feg Aftm <5 wiufor At sar@<t 3, Fl‘o(‘d’@ﬁ?i_ Ty
fe g o fafiour 77 Aaer 32, fig p w3 qwmﬂ@%w q;tOUI

niufoHw Hiymret € g3 Gerade, fagh 37 3t A€ 3, Jof fou T

\/5,\/5,\/5,71',—%,0.10110111011110...,m-r[‘,—:r |
©t 7ga3 uaft, femer ng3 Wiadfes € yeg3 ufonw '3 wufaz J1
YNT 1.3 : Ho B p & wigw At 1799 p, o 791 (E3<) 9t J,
3t p, a & < ITI7 I | FEH o T TaT3HT HyTs At J1
*F@B’: %B@aémmﬁ?m@@%:a:ﬂpz.”pnﬁ%
PPy - - - P, MIH A I8 1 Ud3 Agdt &t fq feg W B sar 3|
fer &€t @’=(pp,...p) (Pp,-..P)=PD;--.D,

Ie, w6 fa37 I fd p, > & 3791 (E3) d9et J1 for vigares €t vog3
Yw (fE8aH) € iarmg p @ T f&a »a™ FJeads J1 Y3 vidarfes e Hag3
YT &t fedyesr € 91 yuar 995 3 A Y3 Jear fa fer setal =
W@T—[m@pl,pz,...,pnﬁﬁlfgﬁwpépl,py...,pnﬁu_@l*fev_o(fl?
f]%‘ci?l(_li,%@ﬁa:plpz...pﬁ,mwp,aéﬁgd?ﬂdadl'l

I wirt ferer 7g3 © Aae If fa/; fo'a wiufana Hfwmr I
%@%W'%W%ﬁﬂé‘ﬂ%&ﬁﬂﬁ@?’(proofhy
contradiction) Ifde TS| (fer 3ata & feraaz gu feg gaer wifzar - 1
fe*g o3t aret 9) |
e (fa€an) 1.4 ¢, 8 miufarm wftmr 31
7gz - oAt fere €%c feo vis 82 9t fa /r fea ufona Hftr 91
fer et ; wrt € Fuds At r w3 s fer 3gf usT 99 If f

« feT e €t fomdt 3 54T 31
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ro - ~ i o ~ v ~. “ “ .
V2= Je M3 5 (20) IR HE B rm3 s feg, 1 3 fegrer It J9 AT
TS J 1 I AT for 7S Ieadz § r M3 s & IATdad 2 = LYu3 99

= b

Hae I7, 8 g W3 b AfT W3 (co-prime) TS|

fen Bt b2 =aJfeni

I yrfrt BT €391 998 '3, 1S Yz ger J
20 = a?

fer et 2, ¢ § <3e (I9T F9e) JI

for et yiw 1.3 ©mar 2,0 & < 371
fer et Wit a = 2¢ Ty Fae 7, ﬁ%cﬁ&%ﬁ’;ﬁﬁmﬁl
aTHS TUT IS 20* = 4¢3 b2 = 2c2Yy3 g7 I ferer ge J fa 2, 1?2
3T I3 fen st 2, $ A E3m (YW 1.3 T p=23z '3)I
for st a w3 b o9 we 3 we 9 7igT gesus 2 J1
Y3 feg fome €5 I fa am3 b €9 1 3 fegrer ot AigT gesds st

EN

J
Hat it fa /7 fe'a ufgna wftmr I

fom met, wirt feg fier dee ot fa 5 fea miufara Aftor 31

Gerggzs 9 3 T nufors At I

TH: w wirt fere 98 feo s sEie fa 3 fos ufgna Afamr I

fom 39t € € HYds Hitet ¢ W3 b (20) YUS I Ade I fa /3 = — JI

Sl

799 a M3 b a9, 1 3 feger I AisT gIeays d< 37wt 6F A1 gIesds
&% I9T € o a M3 b & AfT Mg g Ade I
fem et b\/gzaﬁl
< UH T991 946 '3 H'G 3b% = @2 Y3 g J|
fer Bt @2, 3 575 3791 ger I | for et yIw 1.3 19T 3, a & < 3T FJar |
for SEt it 5 = 3¢ fou Fae Tf, i ¢ &' Hygs At 31
ae RIS 3 =a*RT I ue "I AS
302 = 9c2 IR b? = 3¢ Y3 JeT JI
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fer e 3@ J f9 b2, 3 57 a1 I AeT I fen et yiw 1.3 evrar b &
3 T8 7T I |
fer Bt a w3 b feg we 3 we 9 AT IIesds 3 I
Y3 feg fene €8c I fa a M3 b Afg wis™ I5 1 A fog @5e fom =t
Y3 Jfenr fagfa »it fo'a 39t o=t a1 Hat /it fa /3 fe'a ufons wftpr
J1 fer wet wirt feg fiter aee 9t fa /3 f&°a miufons wfimr 1
A3 IX fe g nirt = i | fa:
o &g ufgrw Hiipm w3 f&°a wiufane Aftmr e 193 w3 wa© £ nufara
At It I w3
o 3 fiHeg 3 fas™ ufanw At w3 wiufarw At €7 Jieaes A Ides
fe*3 wiufars B J<t T
feg wit, Budas ©it 93 ferm Bergaet fig atar|
Gerggs 10 feuB fa 5 _ 3T »iufana At I
TB: g wHt fere B8 va sdle fa 5 3 g ufanw w3
I wHt € Afg wg™ "itmet a W3 b (b # 0) fem 3g7 €t U3 99 Hae

gt fa 5_\/_:% J<|

for Bt 5—%=\/§ J1
A \/§=5—%%|

QTR a3 b Hyes et T, fow et 5 fe'a ufvor e
g2 3 e ufaiva Hfter 31243 fog femd Qe 3 3 foa mufaiver st
JI

feg €3 7§ 73 9183 Hae Jdd YUz Ifem I fa 5 - 3 fe'g ufonw
At J 1

fier we, wirlt fog fier S g7 f 5_3 o mufaie Hftor 31
Qurggz 11 : fow fa 342 foa mufan At I
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T G fere 8% Ha wEte fa 32 f&a ufgns Hitmr I
I wiHt fer 3gt &t wig wig™ Aftmet am3 b (b # 0) U3T I
Hae It fa 3\/_:% eI
fem 3gt J_:;_bfl—%w
fa@fs 3, a w3 b Huds At I5, fom ot gmmm
Jeaft) fem met 5 <t fo'g ufans w3
43 feg fere €5c I fa /3 foa mufans wftmr 31
fer e, wirt feg fier g It fa 35 fE'a mufare Hitmr I
Y& 1.3
1. fRgad fa /5 f&a mufons Aftmm 31
2. AT a3 fa 3 + 2.5 fEa niufarw " J1
3. i 39 fa I& foumt Aftmret nufons 95 -
() % (i) 745 (iii) 6++2
1.5 ufgns Hftpuret w3 @Ust ¥ TAHse gu < gaaret
X 73 f&g, 3t ufgmr I fa ufonw Aftpret &7 7F 37 713 TAVse YA
(terminating decimal expansions) ger I At feg wHT3 wreadt (non-terminating
repeating)mwﬁ?%lﬁﬁwﬁwﬁ*%mm%@
%qﬂ)%ﬁﬂﬂamw@mﬁﬁwﬁﬁmﬁgwmw
(QU) I A3 M3 I MAT3 Megd3t I<aft | wirt feg 99 Gergast enrar I3 |
W Jat fa It ufgna Aftmret '3 fegrg adte
(i) 0.375 (i) 0.104 (iii) 0.0875 (iv) 23.3408

9T () 0375=-0 = 2 (i) 0.104 = 1% _ ﬁ
1000 10 1000 10
875 875 233408 233408

(iii) 0.0875 = (iv) 23.3408 =

10000 10* 10000 10*



8 Jifezs
T gu &9 fomaz 13T (fsfimm) A Aaer J, fist g9 10 €t ot w3z J<arm|
W W W3 IJ €AY Jresust § de d, fog el fa ard &t yuz ger I

. 375 3x5 3 .. 104 13x2° 13

) 0375="="" =~ i) 0104=—=—"°"_="-

@ 10° 2°x5 2° @) 10° 2°x5 5°
875 7 233408  2* x 7 x521

(iii) 0.0875=—">=—"
104 2*x5 10* 5

ﬁﬁﬁ%ﬁﬁaﬁ(Pattern)@Haﬁﬁ? %HB@TW%%(W@H
m%@mmfensraﬁmmﬁ,%géyﬁ
ufgna "t fe™g ge% fomm I, i p w3 g Afa e e M3 79 (e q) fe o
oS 2 it Wit A 5 Eff wist 7t St it wist I8 1 A1 99 fer 39t e o
ferer grdter 3, faBfa 10 Tt Wizt feg des 2 w3 5 dif Wit 3t aresds
< gu feg Jaafnti

Ao J fa et & emsfea #fim famer eavse ferzg vz 9,879 fom 39t <t
ufgne Hfimr € gu feg fodt 7 Aaet J famer 99 10 & 9t w3 J1 5 o
10 © WMI™ JITaU3 de& 2 W3 5 I I5 | fer Bet, »iH w3 99 © 7S JIeausT
?;Sa”?é'wmﬂ‘waa%a*ﬁm@ngﬁaﬁﬁwg < gy fe'g feq fem 3q7 &t
ufgna wftm J, g q F wa™ JIEsHsT 2rsr © gU T I M3 n M3 m et
919 fae=Ha (non negative) HYds AT I& |

W WS 33 § Guarad 39 '3 farufte

yiw 1.5 He 3§ x £ fen 3gt &t ufonw witmr I famer emise YA
(@u) m3 J1ge x§ £ @ gu fey fofim v maer 3, fid p w3 ¢ Afg wig™

(iv) 23.3408 =

-~ q o Y u N ) =
TS M g T I JSUIE s © gU I 9, Y n, m €t 919 fae3HA (non
negative) Hyds Ayt I& |

N oSS

Hae J fg 3 J9s J 39 I<d1 fa yiwr 1.5 & §3< ot J2ar? g=



s3faq Aftpyrai 19

ﬁwﬁ%ﬁéwwgéy%%w@q?wm g
@QUT‘EUTIEAI, fig nﬁm?ﬁm(nonnegaﬁve)ﬁ’ﬁﬁmﬂa 3T
ﬁgwmmﬁwﬁ%w?

W g euite fa ft Budas Jgs € A9 Je & J¥ AURS Jde I& | IHT
forfas ot ferr dia o Afowz 32t fa 2 g fe' fot < ufoi A,
g b, 10 St It w3z J, T enHse fen3g vz 99| fer o, feg nigauge
et 3 fa L € gu &9 ufonw wftmr, g ¢, 2'5" @ gu e g, 6— < fem
WEW(equlvalent)mWEwhﬁ%‘WW e b, IOE'TB(E'JF
W3 I 1 M miye §ug & Geraaet '3 Tur wirele w3 Bxe femr feg an
JJ&T HY e |

3 _3x5 375

== = =0.375
2 2x5 10

()—

3
(ii) 13 %:1?”(23_%_0104
125 5 5 x2° 10°

7 7x5 875
iii =——=0.0875
(1) 80 2'x5 2'xs5' 10°

2 6
(iv) 14588 _ 2 ><74>< 521 _ 2 >i7 XfZl _ 233408 — 233408
625 5 2" x5 10*

fer B, feg Gergdet fog Tsam @ et Is fa fam 39t Peaue?fe—o(
ufgre Afemr fig q, 25" E’QU]%TIU, E:S' ﬂEfE{F{B’TE’B_B (equivalent)
ufans At fes gefen 7 waer I, g b, 10 <1 St w3 J1 for wet, fom
3" €t ufgnw wftr = g Bz eHee ferza d<ar g fem ufge &
Guerga 39 '3 feute |
UG 1.6 : Ve B x = gm%pm@qmmm,fs%rmﬁmwm
3gr et I fa ¢, 2'5" € gu e I, fAE n M3 m I9 919 fa==aHT (non negative)
AYT& AftpHT=t 98 3T X €7 eH®e fersa mg ger d|

S



difes

20
ge WA Qs ufgnw wftwe’ €% U 0.1428571

Cn po . 7) 10

B9l I fiaT & ¥RH&E YATd MHT3 WEg3t (non 7

terminating) 97 J 1 fe°q @19 feg, »irt fiqg Gurgas %)80

& o Tye It fegst f&g ot I faor 31wt a3 IX o0

S us yA3T T s 1 €t GEade 5 § B I, fan 14

L1 ©0

h;?mt{mﬁwsﬂ?mﬁﬁn 56

ey wdt 3,2,6,4,5,1,3,2,6,4,5,1,... &3 %)50

IHd 7 JI 30
fimis fe fa Aume gu feg g9 7, 257 @ go

BN ~ N . 1
gy w &dt J1 fer sEt yHur 1.5 w3 1.6 3, S 7
30

THHSE YAd W3 &t J<ar| feg o gdt & gu
&g ot wrear (fa§?) w3 f&q wfast 37 gmie gt g9 @3 wig feg 3°
< e - 1 - C e y
w@_za—gamﬁaﬂw;emhwwmmwmwﬂ
feg 3" wrear|
. 1 -~ ] - N EN . ~ o .
W;EW@W%HWU@U@WWW
SE AT I AT YHE 1.5 M3 1.6 T W3II13 St mrEEt | fom 3gF &t Aftpret
et vt YUz Jae It
y&ar1.7 : 1a 39 ng fae p 3 qafomeg 9w, feT ufons Afwr fem
3R I T qE A IesUsT 25" T U e &I J, fA g n w3 m I 9
fgeaHa (non negative) AYTS A=t g5 3T x ET THHBT YATT MHTI
Mgt e J|
Sudaz 9997 37, wiHl feg afa mae If fa fan ufonw Hfmret =
THHSE YA'T A 3T 73 97 I W3 7 W3 wea3t J1
YHETH 1.4
1. fast St I3 Yfafonr aafent €R fa Jst fedt ufon Fftmret © emvise
YA HIZ I8 A WHI3 »Eg3t I& -
13 17

13 .17 L. 64
O 3125 (i) =g (i 555
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. 15 29 23
(iv) 1600 (v) 33 (vi) 752
129 5
(vii) 225—775 (viii) 15 (ix) 50 (x) 210
2. §ug fe3 I8 Yis © Gust ufonw Fftpret € Tivse fersg feu 7 vz

TS|

3. I3 TH3fed Aitme’ T eANse fer3Td JoT TarAT 1T J6 | I9 g niast oet
foaufas ad fa feg v ufgrw I A7 adt | Aag feg ufanw Aftmr I w3
P 23yt d 3¢ e maw Jesdst € gd f&9 3t off afg Aae 97

q
(i) 43.123456789 (ii) 0.120120012000120000. . . (i) 43123456789
1.6 AS-WH
fer wifturfe fo™ 3HT I foy aafamt e wiftis Siz3T I
1. UafS3 I3 YHwar
< USTSIHT HYTS Rt o M3 b BEI WMHT a=bg+r,0<r<b & HIHS 936
TEMIT yIs Ritmet ¢ w3 » U3 99 Aae I I fen 39t it Hftmret
= IE JI
2. Afss I3 Wdifaar : fog gafss €3 Ynwar 3 wiafgs 1 fem = yuiar
Jd € TSTIHT HYTS AT a M3 b, (a>b) T H.H.T (H.C.F) J&t fe 3t
fedt e YUz 99 HaE IF

UST 1 : ¢ M3 r UST I9& © BT WIS €3 YNWdT € YWdr 99, frig

a=bg+r,0sr<bdl

Y2 : A9 r=0d 3THCF= b JIHIAT r£0d 37 b3 r BT wafss

<3 YNWaT EF YWl a9 |

uyar 3 :  few yfafowt & €€ 39 7dt J4 A 34 gt fHed yuz &7

72 | for Afa3t @@ IHd J HCF (4, b) T137& It HCF (g, b) = HCE (b, 1)
3. vigare3 € H8g3 YHT

J9 feq gm Hitmr § »am Aftet € Jieses © gy e 9 Sarfonr
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difes

(TEadfz3 ot3n) A Haer I w3 fg gresdse fes ue (unique) IeT J1
fen €7ug ot fowrs a3 faat fa wig™ JIeays fan 393tg feg w99
TS

. HII p TE MIH AT I M p, @ & TIET (M) J 3T p, 0 S S 3T

€8 o €9 ga3Ha Hygs wftm J1

. Ag3 fa 2,3 »rfe mufore Aftmret g1
.ﬁma@’xﬁauﬁﬂmﬁmﬁn%m@mﬁ?ﬂwm%?nﬁxég

T gu €9 fgy Aae I, fig p W3 ¢ Afg W™ I8 W3 ¢ & Ma™
JISUIE 25T U T JI| ¥ n,m T fTIT3HT (non negative) HYIS
Hitmret I3 |

HE B x= g e fem 3gt <t ufons Hftm I 5 ¢ & wig™ gresdse 25

T U e I I A8 1, m T faE3HT (non negative) HYIS Aftmet 5 3t « &7
THHSE fen3d Hi3 Jdear|

.%B@x:% &g fem 3g7 <t ufonw At J fa ¢ T wig™ JresdsE

yngm @QIIET Sdt ff ﬁ%n, m?ﬁﬁ?@ﬂ(nonnegative)ﬁ";ﬁ?ﬁf&’*ﬂ?

IS 3T x € EHHSE feA3Td WHIZ wWiegdt dedr|
Usa € ot feum

HCF (p, ¢, ) X LCM (p, q, 1) £ p x g x r, fill p, g, r T&T3HE HUTS

Hitmret I (8egde 8 BY) I e fa 35 ufonw Aftmet p, g M3 ¢
el It fez ufge Brgr I€ Is:

p-q-r-HCE(, q, r)
HCF(p, q) - HCF(q,r) - HCF(p,r)

p-q-r-LCM(p, g, r)
LCM(p, q) - LCM(q, r) - LCM(p, r)

LCM (p, g, 1) =

HCF (p, g, r) =




IX 73 feg 3At ffa 98 @& ggu=t (polynomials) W3 €JaT Tt wr3t
(degree) & T3 Ufs™ J1 W 99 T 9% x © ggUe p(x) g x &t @31 37 €51
U3 (power) & TIUE T W3 (degree) MmE If|

Sugde T B, A+ 2 9B xfeT W31 T EgUTE J, 2y -3y +4 9B y
feo w32 T ague J, 5x° 42 + x — 295 x e 9 W3 3 T gguE I W3 Tul

3 — 2 [
—Eu4+4u2+u—8€$ u fe9 98 6 = ggue J| feniaa 11,\/§+2,
Y

1
X +2x+3

wife ggue 3dt IS |

U3 1 & gguT & 9t IguE (Linear polynomial) IfJe 951 Gergde
TEA, 20-3, a5, yen2, ¥ 34, Sutl i A e
TSI 7 fa 20+ 5 -2 3 + 1 »ife Yarg © ggue It ggue st I5|

U3 2 ¥ ggUT § ¥ WSt IgUT (quadratic polynomial) afde 9512
UFS’(quadratic)Wm(quadrate)m??wa, fareT wigg J 2gdn|

2x2+3x—§’ V=2, 2— x>+ /3x, %—2u2+5,x/§v2—§v,4z2+%,@uﬂ3ﬁ
gguTt Et 93 Gergaet Is (fAast © gieta @msfea Aftmet Is )| fenmux
@ﬁ,xﬁv_ﬁ’ﬁﬁﬁwaﬂu@axz+bx+c,ﬁﬁa,b,cmﬁf&”ﬂ?
T wY a £ 03, TYFT T JETI WS 3 © HguE 5 urst wgue (cubic
polynomial) »ye@er J1 f35 w3t ggue € 935 Gvrgds I5 -




24 difes

23,0, 23, 3 -+, 38 -2 +x -1

s f&9 35 w3t ggue e fommug gu 9
ax®* +bx* + cx +d,

i@ a, b, ¢, d eH3fed AT I& W3 4 20 J|

IS IIUE p(x)=x>—3x—-4 '3 fegg dd I ferggue fe g x =23y 3 A
p(2)=22-3%x2-4=—6yU3 eI -3x-4 K152 T T YU HY
-6; XX —3x—4T x=2 I U MG JITER 3T p(0), p(x) Tx=0"3IHS
I, 7 -4 JI

AT p(x),x fe™g et ggue I M3k It em3fea Aftmr I 3T p()feax §k
Ty 3 et emsfed °HitT p(x) T x =k * 3 WS Fo@ T I m3 fer § p(k)
% EIHEE IS |

p(X)=x*3x-4Tx=-1"3HSd I? WrFﬂ"l{rLBB(EI%EI’F:
p(-1)=(=1’—{3x(-1)} -4=0
&% It fiors fel fa p(4) = 42-(Bx4) -4 =031

fa@fa p(—1) = 0m3 p(4) = 0, for Bt -1 W3 4 © Wit ggue 22 —3x—4
< fHET (zeroes) TG T T | foriug gu feg, fea emsfed Aftm k ggue
p(x) T figg wiya@ <t 3, A9 p(k) =0 I=|

3T A3 IX fe T ug g4 I fa fan 9wt ggue e fieg fae uzr disr

T HIET J1 8T € B, wad p(x) = 2x+ 3 © ST k I, 3T p(k) =0 3 S
2% +3=0F< k= _% Y3 Jer I

fenyg gu &9, 799 p(x) = ax + b T f&a 8T k T 37 p(k) = ak + b=0
b - - —b  — (mE® uE) _
@Ek=7 W|%ﬁ8ﬁ,aﬁmax+b?ﬁ§a7:—x@m J1
ferm 397, St ggue T fied € TIeia o8 Heuz J1 4t feg 9 gguet
fe'g <&t Jer 37 Qergde € ®et, &t € widt gguet ¢ fHed <t Ore I o8
A3 e I67
fer wiftmfe &9, wirt fegst Yrst T €739 €< T w3s Jatar| mHt
gguTT ¥ Bl €3 fedt (division algorithm) BT @t miftrs SaaT|
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2.2 gguei @ fireat e faufest W9 (Geometrical Meaning of the Zeroes
of a Polynomial)
AT Aee I fa emsfed Aftn k gguet p(x) ©F 89 figd I, A9 p(k) =0
J143 fan ggue © fred f€d Hd3eyas fag” 957 ferer € 3g e setng 3
ufgst »irt 3t w3 € w3t gguet © wradt (graphical) fsgues Tutar »3 feg
Ot fireat = fanrfest g 2yrar|

Ufogs fiq It gguT ax + b, #0 '3 fegd g9e TTI 3T A3 IX fe T
UfgmT I 19 y = ax + b T &Y (graph) &' AI® I J1 €Egde & BET y= 2
+3 © 9re fent (- 2,-1) w3 (2,7) 3 fsase o=t feq Ags Jur J1

X -2 2

i -eu“é i ﬁﬁ

F
i
o

T
S

y=2x+3 =1l 7

fggg 2.1 feg 3 Sy AaE 9
%(y=2x+3ETHI'Ts’X-§_a’(axis)E;'§
x=-1M3 x=-27¢ fegag ge
(_%,oj 3o I3 o
Ase I fg 2x + 3 =T

fﬂ%‘o’_immmzﬂ:s?

fﬂ%ﬁ@ﬁfﬂ??xﬁﬁ?ﬂhﬂif
ﬁ-lHy—2x+3ET_clI'Ts’x—§l_d’§a?ET
J1

foryg gu feg, fEq auft
HQUT ax+ b, a#0 € B y=ax+b T I0E I ATS W I 7 x-Td § 3la £
fig (_b, j '3 deodt I1 for set, It gguT ax + b, a = 0 €7 I ¥q fieg
a
J, A e fig v rxfosgem wig J, il y=ax+ b T I x+-43 § dee" JI1 TS
g wiHt € wist gguE © fan e © fmofest »igg & mrste | € wist ggue
x?-3x—43 fegd I3 1w Tte fa y = x2 - 3x -4 ©T97e fan “3gt = fouret
* 2 widt w3 35 wist gguet v 9re figer fefenragnt et agdt sdt 9 w3 & &t
fereT H&TdeE o7 HaT J|
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difes

o JIwAt x S I HST T HIB y=x2-3x—4 T IF HS ¢ T7, fam 3g°

At 2.1 feg fa 37 g1
AIST 2.1
x -2 -1 0 1 2 3 4 5
y=x*-3x—4 6 0 —4 -6 —6 | -4 0 6
N ﬂ-@-'ﬂ ﬁn--

& 8 972 Wug '3 wifa3 adfe
w3 97 fudle 3t feg fo39
2.2 fo*g feure 91e egar J=ar|
WA e wHt far g wrst
El@'l-h_:'ax2+bx+c,a¢0_e’8€cf
Ha3 AHIdE y=ax? + bx + ¢
T THIAI A I CUTTH
Yy \ ) TIIr AT IS8 UH
YsT NI J<ar | 7 fer '3
fegga Idar fa a>0J A a<0
J (fegst Taat § UarEwHT
(parabola) afde Ta) |

et 2.1 fe v 3Ht 2y
AIe J fa € w3t ggue 2 fied -
1 m3 4 I51 fer Qug <t forrs
fe€@ fa —1 m3 4 Qs fdemi 2
foger wig I& fig y=x2-3x-4
T I[E »-T9 § dewr J1 fom 39t

fezg 2.2

° wmx2—3x—4@fﬂgﬁ@_ﬂ?ﬁﬁ@ﬁ%x—ﬁﬁﬁﬂﬁaﬂﬁ, g
y=x2—3x—4ETH'['._G’x—tl_a’?;'§§2ET%I

feg 379 Ardtwt € Wit gguet It A 9, I © Wit ggUT ax’ + bx + ¢,
aiO@fﬁEﬁ@_Wﬁ?ﬁ@x—ﬁﬁ%ﬂﬁ%,ﬁ%y:aﬁ+bx+c é@ﬁu?a—cm
TS UITHST (parabola) x—g@’éﬁ?@%l
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y=ax’+ bx+c € MBY & ngrg & Mfta Jds *3 3 Jat fodnt
wfast & Haear J1
Afast
(i) : T w3y x-U3 & W SI-M ST ffent A M3 A’ 3 deer JI
ferrfast feg A3 A’ T xfoger i e Wt ggue a + bx +c € @
fieg 95 (B4 9739 2.3) |

® fo'3g 2.3 W
AfE=t (i) : 8 w8y »Ud § des fea fig '3 g € Hust fient '3 deer
Jifen sEtnfgst ) e v A v3 A e AUt I fEa g AT Ae I5
(T4 fg39 2.4)1

() (ii)
fo39 24

for mfast g, A e xfogem vid € Wit ggue ax? + bx + ¢ @7 9= i fireg
31



28 difes

wfe=t (iii) - fog »wdy At 3T yds gu €9 +ud 3 §ug #f 37 yds qu €9
x-0d 3 It J1 fem =, fog g9 § faz <t ot deer (B9 939 2.5)

m 1 A I B S sl G

@) (i)
fezg 25

forn =, for mfgst feg © Wit ggue ax® + bx + ¢ =7 aet fieg &t J1

fer 3gf 3t et gu e s Sy Aae I fa far e wst sgue © €
W SIT- ST fHEg A € 999 fied (3= £ fHeg) #f aet < fagg st I
Aaer Jiferer fea A ngg Ifawz 2 e far ggue e U3 cue fied 9
HAIE IS |

ge 3T 8 f3a widt ggue € fAed’ & faHfest wigw 379 ot 6w 99
A J7 wg femer uzT Idte| 3 w3t ggue & - 4x '3 fegg adte | feg
THE T BT y =2 —4x TWBY fam 3T ST I, W8 x T IFH ST & Ha13
y T I8 U & § Adel 2.2 fe 9 Aot U ddte |

WISt 2.2
X -2 -1 0 1 2
y=x>-4x 0 3 0 -3 0

Aget € faent & 97 Wug '3 mifaz J9s w3 wdy fuge a8 il Tue of
fay=x—4x e W8y WS feg fo'39 2.6 <adr feyer J1
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Budaz Aget I wiHt Sy
wﬁf‘j;.;w-rg’}ague ¥odx @
frgg —2,0 M3 2 T& 1 fmrs fe€@ By
'Fa'_z,O h@zm%@_wzsssmsss R W o S
gt ¥ x— fsgom wia g5, i@ E
y =x—4xeT m x_g% ?;)_ Jdt!l
J1 fagfa Ta9x-93 & des foas
It 3o et 3 Jeer Jifem
et ggue © fAgg des fegst
forenit & x-fogem wd 5| i
WI"'@ W I 99 ﬁ-a-zssswsss
Serggst & gt | f3s widt ggue
O3 -y 3 fegg g9 wHEE
y:xsyy@yzx3—x2€rmm
fg°39 2.7 W3 2.8 f&g fige If |




30 Jfea

fonrs fef fa ggue ¥ e des ffg fieg 0 I1fg'39 2.7 3 &1 3Ht 29 A
ﬁﬁOW@@?x—ﬁ'ﬁ@ﬂﬁHﬁ,ﬁ-ﬁy:f ?H’[’.‘G’x—@%é’ﬁ??%lf&'ﬂ'
Wﬁ@ﬁxtﬁ:xz(x—l)%,mww Yox @fHeg des om3 1 I5|
ﬁ%ﬁ2.8ﬁéﬁﬁtﬁ8§€8@_ﬂ?ﬁﬁ@%x—ﬁﬁ%ﬂ”ﬁ%,ﬁ%y:ﬁ—xz
T BY x-Td & deer JI

Budas Bergae I vt Sue T fa faR fSs wtggue e o3 €0
3 fired I Hae Js 1 gAg At fe 9, w33 e fan sgue €U 3 Su fds
23 I mae Is|
feuzt: fenmya gu &9, W3 » © fo™3 I IIUE p(x) € BEt y = p(x) T I[E
x~UIFTU T U ot I deer JIfern aet, w3 nSfanggque e eu s
U n HEd I AaE TS|
Gerges 1: Jot g3 I1e 9739 2.9 © wdyt & ©H 1 33a f939 y = p(v) 8
p(x) T ggue I, T @Y T 18y 37 I9 f8a € B, p(x) © faeat <t farest
U3T I |

{iv) v} {wi)
fa3g 2.9



gguT 31
35 (i) freat &t foredt 1 9, faBfa 97e U9 & des fe'a fiig '3 deer I
(ii) firea’ &t farest 2 9, fa€fa o7 x-gd & € ffgnt '3 deer J1
(iii) freat =t fareat 3 91 (fag?)
(iv) frgat <t farezt 1 1 (faG?)
(v) gt =t fareat 1 91 (fa€?)
(vi) frgat <t fareat 4 1 (faG7?)

YHGTRST 2.1

1. far gguE p(x) & Bt y=pkx) T W8y Jaf fe 3 fg3g 2.10 feg fesr
famm 3199 foa Afest 9 po) © faeat €t farest usT 991

(i) (i) (i)

(iv) ™)

o33 2.10
2.3 fan ggue © fieal w3 greiar f&g Adu

ﬁmﬁ@ﬁﬁﬁéﬁwaﬂb?fﬂm—g@ﬁlgﬁw

for € Wizt ggue € fiedi w3 BAe e € Hau feg g1 2.1 feg ye are



32 difes

yrs € €739 € T W3s Jatdl | fore et 6 © wist ggue He BE p(x) =
2 - 8x +6BLIIX T3 feg, At My gd J fa fegaad ug 33 o fam
37 fan © W3t gguT € Jesds g Ae I5 | fen wEt, fig vt fegaad
uE -8y’ § ¢ fer 3gT 2 ue € w3 € g €9 fouer J faglh & ese® 6 x
2% = 12x2 32
fer =et, wiFt foue It -
23 —8x+6=2x*—6x—2x+6=2x(x—-3)-2(x-3)
= (2x-2)(x—3) =2(x - 1)(x - 3)
fer s, p() =22 -8x+ 6T HE HEd T, Ae x—1=0AT x-3=0J<, I<
x=17 x=33J2Ifor et 22— 8x + 6 © fAggd 1 W3 3 T | fmrs fef
—(-8) —(x ETITH)
2 xlErgety
fﬂgﬁwmﬂ%ﬂ:g:M
2 x'Erged
Wi fEq I9 © w3t ggue, He B8 p(x) =322 + 5x— 2 BG | fegag
T8 UE § 33T '3,
32+ 5x-2=3x2+6x—x-2=3x(x+2) -1(x +2)
= Bx-D(x+2)

fAggt er vz =1+3=4=

fer B, 32+ 5x— 2 € WS fHEd Jear Add 3x— 1 =0de AT x +2=0 JI<,

~ . 1'-\\ . N ~ 1 ~
@%ﬂ?x:ga—e'ﬂsz—za@ngrsehxusx—ZEfnaa EWIB’—2EIHI

fEPPI"'c'?'FE@:

frggt o g = s+ (-2)= 2 - XTI

3 3 x’ @ T
, 1 R
Hedl ¥ 9Ie6e® = X2=—=5————
3 3 xPErded

foryg gu &8, 7dd * o, B € WSt TQUT p(x) =ax’> +bx +c,a# 0T fAeT
Jg, 3T 3 e I fd x — am3 x— B, p(x) © IESHF I TS|

“ o, B TS IH T WHT I, fegst & gHed mizer, der fagr AT J1 gmiw fee
it f€a I Wyg Y e YT Fatdr, fan & ImHT fagr wter 91
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fem =+,
ax® + bx + ¢ = k(x— o) (x — B), fi¥ k f&x w9 J1
=k[x*— (o + B)x + o B]
=kx>— k(o +B)x+ ko B

oIt Urfidt B &2, x T ST W3 wES UTt € 35S 998 '3, A fiser I
a=k,b=—k(o.+P)™M3 c=kof
fer 3 fiser o+B=—

. o -b —(x @TITA
I m@ﬂs=a+ﬁ=—=¥
a x* €@ gIETT
"9s Ue
x’ @ ST
wWg 3 Gergaet '3 fegrg Idie|
Gurgas 2 : € w3t gguE 22 + Tx + 10 2 fHEd U3T 99 w3 fied’ w3 Jreiar
< feg9g Ayyt <t Horel € 719 991
I fEe37 T 2+ Tx+10=(x+2)(x+53)
foer et X2 + 7x + 10 €7 ¥ fHEd 9=9T, A€ x +2 =0 d<drm A7 x + 5 =0 J<dr
FEex=-2Ax=-5JSI I FEA SR 2+ 7x+ 10 € fAGT -2 W3 -5 I5 1T

fea™ @ Jeses =OLB=§=

. —(7) —(Xe ST
fHegt gr g =-2+(-5)=-7= D _ (3 — )
1 X @ ISt
fggt o greses =—2x—5=10= 0= 19O IS ’
- 1 x*Eracsa
Bergas 3 : goue 2 -3 © fiagd u3T 99 w3 fHed w3 greiar @ fegarg Hear
<t Haret €t 79 91
J% : FAJEAHIT @’ - b* = (a - b)(a + b) & W | fer BT yGar ddd, mHT
foy Fae It -




34 difea
el ) )

fer B, 2 _3 T HS fHgg 9QaT, A€ x = 3I= A x=—/3
fer o, «2_3 € A3 W3 _3I51TE

frgar v itw =3-3=0= "G T ITD
X’ & g

m@qm(@)(—@)=—3=?=z—?mu?

X’ @ It
Geggs 4 ¢ &3 € w3t ggue U3t 94, fARe fHed € 173 3 dIeaes
FHST — 3 W3 2 JI

% Ve B8 T w3t gguT ax? + bx + ¢ I w3 fere figg o W3 B I

of= 2=-—

FTa=1T 3 b=3 I c=2 T
X2 +3x+2 JI

3AT A9 99 Aae J fd 99 JEt € wiSt ggue # fegt Ha3t § Hawe
It I, k(x2 + 3x + 2) <J9ft Ieaft, fi k foq em3fea Hivmr I

W ge f3a widt ggue '3 fegrg e ot 3t Age I fa 5o w3t
gouT €t figat w3 Ere gietat © fes fem yarg v Heg Jer 97

WM p(x) = 243 — 5x2 — 14x + 8 '3 fegrg adlE|
Eﬁmmaﬂﬂa@ﬁf‘ax=4,—2w@%@Eﬁp(x)=0%lﬁ@ﬁ p(x)
¥ 20 3 20 35 fHed I Hae JIa |1 form 3t 203 — 5x2 - 14x + 8 © oo Tt 5
5_ (=5 _—(XEr gEta)

- 1
fHed J&1de Hedt &7 83 =4+ (-2)+—== - -
2 2 2 CUGCICAC

. 1 -8 -nEB UT
fHeadt €7 9c6e® =4X2x—=-4=—=—"—
I e d 2 2 x’Eraieid
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Y3 fon € Jg Ay & J1 € fiasat § a8 o 65T € Jeses € 73 '3
fegrg ad1

GICRIWES UG {4x(—2)}+{(—2)x%}+{%x4}
_—l4 xEITF
T2 T X Ergeia
fenmyg gu &9, feg g o3 77 Aaer J fa #ag o B,y 35 w3t
HIUT ax® + bx? + cx + d <t fAgaT J<, 3t

= —8—1+2=-7

-b

o+P+y= .
c
of+PBy+ya=
-d
afy= -

Wi foq Bergde '3 fegrg adie|

Gergas 5% : A9 I3 fa f3& w3t ggue p(x) =3x° - 52 - 11x - 3 @ fHET
-~ 1 — . [} . -~ . N 00 . Y

3,-1 mzs'—g Io | fer 37 Qud3s fAed w3 gIeiar & fegarg Hygr €t Horet

g1 U338 941

UN o

I : 83 I8 ggue T 388 ax’ + bX + cx + d IF 95 '3 HG, YU JET I
a=3,b=-5c=-11,d=-3J1 g,
p(3)=3x3-(5x3)-(11x3)-3=81-45-33-3=0
P =3x (1P —5x (=12 -11x(-1)-3=-3-5+11-3=0

A e

* feg Gurgae Yiftw &t fardt 3 =t T



36 af=s

- -1
femr =9, 3x3-5x—1lx-3 ¥ 8T 3, -1 WF —= T
3

for =, Wt 0=3,p=-1w3 y= L mHTmITE

3
oc+[3+y:3+(—1)+(—%j—2—1—Szﬂ:_b

3 3 3
1 1 1 -11 ¢
af+By+yo=3x-D)+(-D)Xx|—=[+]|-= [X3=-3+=-1=—=—
B+PBy+y ()()(J(J 3 o
- 1 —(=3) —-d .
wiz aBy=3x(-hx[-1 |-1=22 L 5,
3 3 a
ymsTEst 2.2
1. T5 i3 T wH soue © e um 99 wE fisg wE 98y = 5 5ag
i) x*-2x-8 (i) 4s2—-4s+1 (iii) 6x* -3 —7x
(iv) 4u*+ 8u W) £-15 (i) 3x*—x—4

2. fog e wd gous uz 99, fone fiteg & 73 WE 95T ® guETT fodm
WH?:T:

1
M 5 -1 (ii) \/5% (i) 0, 5

™i) 4.1

ENg
N

iv) 1,1 w) -

2.4 FOUTH T B €5 weafead

At wev 7 fg feg 9z wdt sgue dhwi &0 7 S5 fIs fagat
T AEEMT 75 | F Ve 30 a8 (B fige e 9% 3t & At owdhit
fregryTr g e 47 feme s, wE s wfh smeE ¥ - 3x2—x +3 'F
fegms gdte | Fee vl zTd OntE fa ferdt e g foge 1 37 g wee g fa
¥ -3 x+3wfEm s x- 171 fEr st ¥ -3 —x +3 & x - 1 &5 3=
TE T -2 - 3Yyus I T

TEwHt fesaes e 3T T X - 2x -3 ¥ g=5us (x + 1)(x - 3)yu=
&g HEE 7 | I

¥}-3x-x+3=(x-1)(x*-2x-13)



=x-Dx+DEx-3)
fer o, ffs watggue e s fAgg 1, - 1| W2 3 T5|
wi = fo'g ggue § ¥ SguUE &8 g1 2% (gus fedh) & fedt &
fermeTs 778 999 Fde | fedt usew uar = fiws B2 2 ufost, 8T Beges
‘T fegra g4 |

GeggE 6 1202 +3x+ 1 § x+2 5% g1 fe§ | 2x -1
T% : fows feG fa 72 ot frgg T 7o = 42 ) 24341
ferat wr e Stz T 22 T 7 I wmT 2 + dx
g1 F9&! §e g9 fow o7 | fon =, few goes _:T
2x — 1 w3 wralt 3 & | fow 3 femrer, Cx_2
Qx—1)(x+2)+3=2+3x—2+3=2x+3x + 1 %

FTE 2+ 3x+1=(x+2)2x-1)+3

fer ==t . I = IVE x TOES + A&l
wig g fem yfafewr & famr sgue § faw € wi=t sgue 57 3791 &= B

WaT TaElE |

GugaE 7 3+ + 22 +5& 1+ 2x + X’ FE AT I

ﬁ'ﬁ'-‘ W?WWWW 3x—5
wéwwm&eﬁww P+ 2x+1) 30 +x 2x+5
maa:—ﬁsr—éuaa%m|wa% 3 + 615 +3x

fa squet ¥ uet g fem 397 fowe 3 S
ggUE © fwrdt (standard) Fu few —ng—)lcO+5 s
fover afde o5 feg Bvmae=s f&5, L
mmi’ﬁmﬁ@ﬁfﬂﬁ 9x + 10

wig fwrdt gu fe's g 22420+ 1 T

uar 1 gretes v ufgwT uw yuE s BEl (FF 3 FF) wE 98 uv (3w
) ETHOE FTET FF WIESUE (3w ) v ga fef i feg s T
Wﬁﬁl{fﬁwaﬁlﬁwmﬁ‘gﬂ—ﬁ:—x+5 FI

U2 T IURB T EATTUT U FOS T B 5 g W E TR T e T W
THUT (T -5 S THRETI T T WI TE UE (T2 1Y) IS T791 T4 |
femr 5% -5 Yz e 1 fem 352 —x + 5§ IO == =t yfafowr 791



38 gf=z

UFr 3 TETH FT 0+ 10 W ITHF 24+ 20+ | W T wE T o =

wHT I ¥ fafowr § 99 91 a9 mae |

femr ==, FmaTe™ 3y - 5 ° wF wE ox + 10 T | fewe femra,
(x*+2x+ 1) x (3x=5)+(9x + 10) = 3x*+ 6x? + 3x — 5x*— 10x — 5+ 9x + 10

=33 +x*+2x+5

ferwmt fes T eue ot fs 37 = g9 x TOES + F41

feu wirt frm wisafeey & yorar 99 99 o7 B0 gafes ot €= wisdifoar
frm & grt ws 1 & ug w9 9. =aatt 91 fere wizw,

HET p(x) W3 g(x) € ¥ HIUE T fTH g(x) £ 0 I 3 ot g9UE g(x) I
r(x) fewm 39t ¥ yuz 9 maw 7 fa

px) = g(x) X q(x) + r(x)

8 r(x) =0 7 r(x) = W= <g(x) = Wz T

fea fo'er goue’ © et €5 waafaar gader 3|

femr ¥ Guter & vemgE wE, W g¥ §¥gss ¥ T7
GumgE 8 : 32— X -3x+5& x— 1 - x* &5 gra1 el w3 €% wimaitaay o
Hed &t e 79 |
Iz : fows 58 fx 53 98 Tqu= x-2
ot gu f%s mat T | grer ot frfer X +X = 1) -0+ 38 3x 4 5

995 ¥ B AT T ulTs wHY I wE -xX'+ X - x
Si'ﬂa'ﬁﬂ‘f%@_aﬁ'éih%"WB'E"UJEE'EJ-I' r - > +
s fewi 1) AR
- 2" —2x+2
femr met 979 =3 +3x2—3x+5 W= i o
FHa = -x*+x— 19 3

a7 v o fafewr v TF foust ot 9 _
wHT fom gae o7 faffa 3 St w=z 0, x2+x— 1 dt wg 2 3wz J|
femr meft grar =t fafowt T97 TEt 3 wE TOES x -2 YUE 92T T
T=

ITHT x ITAEE + TEl
=(x*+x-1)(x-2)+3

= X3 +xP-x+2x*-2x+2+3
— 432 3x+5
=3

fer ==, =3 wreafaay 79 mEz 9 famr )



TouT 39
Gorga= 9 ¢ 2x* — 3x3 — 3x? + 6x — 2 ©PWT BTET TRt u=T 34, ﬁa‘a:—_-:?m:s
femr ¥ ® frger p wE _p uF T

7= : fatfa © fager, W= _p 75, few == (x—\/z)(x+\/§):xz—2ﬁ§'

TE T9UT T 5T FE5uE 717 w8 €F wisditenay 1 uwal fE2 9 sTuw
W x2-2 € BH gag o

2% = 3x+ 1
xz—y 25— 35’ — 32 46x— 2
2t —4x 2x4 -
- + IEEE T ufTE uE —5-=2x" 7|
X
B+ X +6x-2
3% + 6x 3
+ - IEEE T R UE ——=—3x T |
2 - X
X -2
X -2 5

- +
0

fer ==t 2x* -3 -3 +6x—2=(x*-2)(2x* - 3x + 1)

ﬁ—3x§§3€rlfr§r2x2—3x+1€ra:m€3(2x— )(x - 1) yu= 9 75 | fen ws=t
feme frsa x = 3 w¥ x= 1 J=ar i for o, S SEwque v time 2, _2, L
2

w3 1 T5|
YHETES 2.3
1. &5 wisdifeey @ a3 gaa, 78 fe =@ fe's saue p(x) § Faue g(x)
&% 74T FEd ITEES W ETEl UST d9
(1) px)=x*-3x*+5x-3, gx)=x*-2
(i) p(x)=x*-3x*+4x+5, gx)=x*+1-x
(iii) p(x)=x*—5x+6, gx)y=2-x*




40 =3

2. EFGI FTUE § Ufgdt §gUE &% 791 g9 U F4 7 o ufos! mgue,
TRt TUE v fET gesEE o
(1) #-3,2+3F -2 -9t— 12
(i) x> +3x+1,3x* +5x° = 7x? +2x + 2

(1) ¥*=3x+ 1, x° —4x*+x>+3x+1

3. TS 3+ 6 -2 — 10x - 5 E ¥ fHEw \EW‘\E o= I Tl T
frEst u=r T |

4. TRUT X’ -3 +x +2 & TIUT g(x) TF IEI BT T TIEE x -2 WT
=t 2x + 4 ynm gen(F)F g(x) v T |

5. mFuw p(x), g(x), 9(x) W= r(x) © wiag Gemres (28 & =3 wieafony §
T=He 90F 0= WS

(1) WFpx)=w=g(x) () wIgx)=w3rx) (i)w=rix)=0
yraresEt 2.4 (fFe wgama)*

1. iF'u o5 fa 5" foshw f35 wdt s’ © &= 3w Ahuret Gast
i frest T8 | 75 o T wigs o' femg w T oo BT =t 2
Cick-c
(i) 26+ x>~ 5x +2; %,1,—2 (i) ¥ — 4 +5x—2: 2,1, 1

2. feg fom wht mque vzt 98 faw i fege v am, € o § fEoe &
¥ Bus’ T gEaes v 7 WS f3&1 fige’ v a@ses gHew 2, -7, —14
g

3. vEg EqUE ¥ -3 +x+1 #@hwifase a-baa+baE I aw=E b
ST &9 |

* feg ymar=at Yty &t famdt 37 a0 T



goud 41

4. TIE TIUT x*— 6x° — 26x2 + 138x — 35 © E T 2 + 3 T= T vt Hwid
fres vz F9
5. WFE TIUE x* - 6x° + 16X% — 25x + 10 § TWS TTUE x° - 2x + k 5T FTET
Eﬁ?ﬂ‘%hﬁ?ﬁ?x+amﬁ%?kﬁa@aﬁl
2.5 AYS-WH
fer witmrfe 55, ST 95 few saf o wiitms JiT 5
1. WF 1, 2 WF 3 T8 gUUET § gHEE 9Ht gOUE, ¥ wiEt STUE wE fIE
wrdt ggue afae 95|
2. feg & widt squw ax® + bx + ¢fFF a, b, ¢ TEEfew et ow w=
a#03d, TTUT TE T
3. f&7 59U p(x) ® fres Gow fEow © x fooem wig 9% 75 9 y =p(x)
T WEY x-T5 & T T I
4. fo'g v widt soue dwi F 03 Fo © fage T madvi o | fea f5= wit
TgUE o F 0 3 T 0 {9 et 7 medwt o
5. 79T © WS TIUT ax® + by + ¢ Hwi fAEET o WF B T I

oc+[3=—2, oc[3=E
a a

6. 799 o, p, v s wdt mouw ax® + b2 + cx +d =0 whwt fygat 9= =

o+B+y=—
a

o+ Py+ yo=<
a

= —_

™WH OCBY=7
7. €5 wigdieay © wante f8'F a® gaue  p(x) w3 fBe d9e-fiee souw
g(x) %Eﬁﬁ@ﬁﬂ*%mq(x)mﬁr(x)g’%aﬁh
p(x) = g(x) g(x) +r(x),
e r(x) =03 7 wF r(x) < w= g(x) T



-
D3IAIPE

R PSSR |

3.1 gfiar

3t It f3t aret nfast <gsfht nfast e Arone wgg 3T I<ar -

mHIEly miue iz & 89 13 &9 aret €9 f€d I3 (Giant wheel) €t
AETdt JII&T Il HE M3 JUST (Hoopla) [fea 3 fan &9 3T fea Aes '3
It fam en3g '3 €I 857 (ring) Hee I W3 Aag Gueng ydt 3gi e © &9
W AR 3T 3T7g € en3 fis wEt J] use grdet vt fifst @9 €nd 38
Aedt i3t G 37 widt @79 €7 S QusT U3 ufenim Hag 99 €19 € Aedl € Bt
SF &% 3 W3 JUS 3T © BT 4 YT dJ6 UT 3T IAT faH 3gF u3T Idal
fa Gra fdat @9 38 & Aedt i3t w3 fdd @9 gus diswr, #e fa Grd
fere et 98 T 20 Yag 137

J Haer J fa 3rt feg uzT 9ds Bt wEI-msar mfaSht 8 9 981
A9 Brs fo'g 9 merdt i, ot fea Hee 37 Jt fea S Ase I fa Bra ©
g At iSt? wife 7 a3 IX € fardms & @93 JI¢ 3T fegst Afaghi
3 € 98 €8 Il AHlaget enaT E9FT HaE J |




< 95T fEg qdt mitggsT @ A3 43
g fer Yfafanr § mrste

MHIEN ST ATST d9s ©f Hitmm § x w3 GAE e JuS 3T
At § y 7% BaATQ | I fa It Jet rfastt § € mtaaet enrar feurfen
T AT J|

1
y= —x (1)

2
3x+4y= 20 (2)
ot grt fer mitade 7= B I8 U3T 99 Aae J7 ferg u3T 995 & Jet
39l s, fagh = wirt fem urs &g miftis aatar|
3.2 € g5t fdg ot milaes A3
IX T3 3 we 949 fa It fo3 98 miade © 9st feg ot mitagst et
@WU’S:
2x+3y=15
x=2y-3=0
w3 x=0y=239<x=2
3t feg &t Aree I 3 €9 mitads fAAd ax + by + c =0 & U &9 fafour 7
Ao I, i a, b M3 ¢ TH3fES FRHTET I8 M3 ¢ M3 b B° e ot Ts,
T 95 x M3 yewr fEd ot mitege g€ e I (M 39 '3 a M3 b B
freg &t g5, It @2 + 1?20 575 TIAEe TF) 3T feg <t ufgnr I fa fem
39" © Al T 9% Aftmet € Wt v fo g 73T JeT 9, fa T st w3
THI™ y € BET ¥ AHtage € ©at Uit & ga8g dder J|
Surgae © e e miade 2x+3y=5 € ¥9 UH (LHS) feg x=1 m3
y=19gdeIde
HgT UTHT = 2(1)+3(1)=2+3 =35,
H Atade € He UH (RHS) © §39d J|
for et x=1 w3 y=1 mlaae 2x +3y =5 = € 75 J|
I WE AHtdaE 2x +3y =5 €9 x=1 w3 y=7 gt |
JEHTTUHT = 2 (1) +3 (7)=2+21=23
H A UH € 9999 odl” J1
fer gt x= 13 y=1f€3°rfre°rm-ﬂm@a“8mﬁ‘%l
frfest famdt 3° femer ot wigg 97 femer wigg I fa fde (1,1) Mg 20+
3y=5 ©mTgT ggnTel duT Qua Afaz I w3 e (1,7) fer €9 AfEs st I



44 difez
fen st mitags T 99 I Ong Temls oEt Syt €ua nies fia fig
Jer J1

wRg &9, fog fan & ot mitagae 3t 7Y J, 3@ © 93t @8 9t
ﬂ')-ﬁaBEax+by+c=0ETU%3(ﬁ"$(x,y)mmmémw%w%
fe'a fig ¥ vz dur 9, w3 femer @< <t #u der 91

g Qug &3 9 mHtaaet (1) w3 (2) & 36| feast mitadet § fEdar
¥ d 7S mHIE € W8 ¢ ¥9 & gueT yu3 et J1

feg & ot milage, Gust © 98t x w3 y 9 I | fen 3gF © AHigaet
3 € 98 T8 3t mHiaget T fEd AT (A 9t mitages yerat) Ifde 5|

g, eite fa daarfefsa femet 37 fog fam 37t € 73 I51

T I8 x M3 y € Jut miade A3 = forua gu

ax+by+c =0

e} a2x+b2y+cz=0%l

oy a,b, cl,az,bz,czwmﬁﬁf’?@%@alz+blz¢0,a22+b22¢0§fl

¥ 98 @8 fiq 3t aHtdge A3 € 93 Qergde I8

2x+3y-7=0m3 9x—2y+8=0

Sx=y M3 “Tx+2y+3=0

x+y=7WI§'17=y

ot At W I fa feg fmrfest famet 3° fam 397 © 73 987

T3 IX 3 we dd fa € 95t @8 fog ot mitaas = et (3=
qre) fagus €9 Fos Jur Jer J1 6t 3HT ge ©F Aae J fa & 9ot &9
AHlage Az fmfest gu fee fam 39t farar? feo € Ao Juret Jeaint fagt
3 ITH-&TH fenT Aear |

3HT IX T3 39 fog & ufpwr I fa f£9 33 '3 Hag © Juret fa gt
JT 3t Jof fefamt fe9” aes g It Agear I Haet J -

() o Juetfeq fdg '3 deet I5|

(i) T Juel dedt ot Ie 8T AHET IS |

(i) &< Juret Hutst g5
fegst Ardt Haeaset § wit fi939 3.1 ffg Tam@e ot -

939 3.1 (a) S0 foT Jed™ T|

fg39 3.1 (b) fe9 feg AHI3T T|



g 9% f&9 vt mitggeT € 73 45

A
v

A
v

(a) (b) (c)
fgsa3.1
39 3.1 (¢c) fE9 feo AUt O=1
It iHlage yerat & eare esht @ fedtt gt afesa w3 fanfetd
STH-5TE EIHTOMT 7T AT J 1 WG g3 Gergaet Bt
Gerggs 10wt grar 3.1 &9 g3 famr Qergae &2 I71 wHIElU W8
f@g% 20 & q At I 3 €9 38 € AeTdt J9aT W3 JUST U uIT grgel
J1 fegst AfgIt & o Tifefza w3 wiendt (fmrfeat) qu &9 Tam@
J%: garfont famm alade 137 T -

1

y_ 2x
EiC] x-2y=0 (D
I ES 3x+4y=20 (2

g fegst miaget § e gu &9 Tanrele | fere set Ag 99 fia
Aldge T We 3 We € I8 gdle I6 | Al fedst It S Aget 3.1 e 2
JJ T

A3t 3.1
20
X 0 2 X 0 — 4
3
=2l o |1 e I

@) (ii)



46 fez

X W3 3 we d3 fa I3 It mHiage & wiefares (infinits qu &8 »aa)
I8 J¢ Ia | fer 99d 3HT 9t € Us A9 e T raer I faBadt 9= 7 wrt
fod g1 ot 3HT »iem o Fae J fa ufgst w3 grdt mitage ©
Fu met x=0 38 fgmr I 7 fo'g 98 fieg J wear 3t iHiade fea 98
% 3t mitage v A 3 faRg 9% J9oT »HS I AT | iHideE (2)
fé'—u’x:O?SE"S’Frr%4y:20§1‘€y:51{'u33%d|'|f€ﬁ:sqim—ﬁaElE(2)1‘756
y=038c I Hg 3x =20 I x= 230 Y3 Jear |1%r@‘l%(— Higm

&1 J | fen wet fend 9re Yug” 3wrf—orgaa?9mm1?smﬂ'awn%n?ﬁ°r

wH y=2 g€ If fAm 3 A x = 41{RBEF&'H1TT-[f'E_o(HU_c|?§FIfHWUI
waﬁ.%lewemﬁa@rrr -

A(0,0), B (2,1) M3 P (0,5), Q

(4,2) & Ire U7 '3 BArQ | I=

Juet AB M3 PQ § Y w fa

GHET x - 2y =0 M3 3x +4y=20

& TIAEEMT I5 | AR 39T

fg3g 3.2 &9 fayfomr famr J

HHEFHH HH

939 3.2 fog o9 fq &g

J&| fem w ot ge J1 fer g9

Faemdfie @) Idedhm  Xei
= ﬁ i
H

WA WIS gTaT feg SR B

S

Gerags 2: <fdeg f£'a HeHadt i T
ot Tas feg aret w3 B % 9 35 32
&9 2 Usat 3 3 I3t ydlet | 8ret Aaet ufes S <ffeg 9= o<t 3g7 e
UsTHST w3 gu3t vt 31 GA8 <t 18 &g OW 37 Tt 4 Usfist w3 6
Jaztydte Teht | fer nfat d dia arfefza w3 »mndt (et guifee wam€ |
I5% : wiE £ Usiis " HE Tx w3 3 993 @7 Hs Ty Ho BEte 37 dH
gifeza gu It mflaget f&g fézr 7 faar J1

2x+3y=9 (D




g 9% f&9 vt mitggeT € 73 47

-~

W3 4x + 6y =18 (2)
fegs™ © 3 (equivalent) W@WW BEt, wHt 99 o
mHtege enirar Tarret Jur §ug © g YUz J9e If e vt 99 i
lage © © I8 YU3 doe I | feg I8 It 3.2 Adel &9 fE3 I I8
"I9S 3.2
X 0 |45 X 0 3

(i) (i)

At fegst fdent & Ire Uug '3 wafuz 9ae If »3 Juret fige If
WA Tue I fa 2 Juet Hutst 95 (29 939 3.3) | feg fem wet I fa g
AHladE 38 I8, 3@ f€d & TAJ 3 Y3 oi3T 7 AdeT J|

Qugas 3 : ¥ I8 uSht, mflaaat x + 2y -4 =0 w3 feH 2x + 4y-12=0
TTIT EgHTEMIT arET I% | fer Afa3t & fmirfest gu € fenaz ad (2arg)
I : AHigdET



48 fez

x+2y—-4=0 (1)
I ES 2x + 4y -12=0 (2)
fe9 Jod © © I8 AISt 3.3 feg &3 a8 %

Agat 3.3

(i) (i)
fegst mtage’ § e © gu €T Earge set it fdamt R(0, 2) M3 S(4,0)
& JUT RS Y3 996 BE mifaz Jae If, M3 f&entt P (0, 3) M3 Q(6,0) & I
PQ Y3 JJ5 BE wifazs Jae Il

HH E%EEEE%E H E%EE H E%E H E%E H E.

fa3g 34
939 3.4 fag wiHT Sye I fq feg Juret fa3 <t st deedt gre feg AH3g
IS |

fer et wirt aet Afasht it g1 fast & fE€a It mitage 73
T YEai3 3T A Ader I wmHt fegst € dm aifefsa w3 fmirfest gu



< 9%t f[<9 vt mildast € vz 49
TH | WIS FTaTt S »Ht 9397 datal fa fam 37 fegst faguet er fiq It
AHIdE 73 € 9% U3T 995 Set QuEiar 3T 7T Aaer J 7
YHSTSH 3.1
1. 988 WSt B3t & Ifder J, W3 7S ufgst 1 39 578 °H3 It §vg
T H I 9T 3 35 s g2 1 39 3~ fige 3 arer Ovg = afg mretar (ot
feg wadna 97) fen nfast § dim arfefza w3 windt qui fee fenaz a9
(Eang) |
2. fgge e €I a9 33 3900 ST 3 €8 M3 6 Jrer Yiehi I gme &9
Sws € J9 g8 w3 GF 377 @t 3 Jref 1300 S8 ydlehit fem
AfEst § i oifefza w3 fanfest gut &9 fenaz a9 (Eamg) |
3. 2 fa.9(H #E w3 1 f3. 3 »igg e Ws fan fes 160 I fEa HItS
e 4 fa 94 7E w3 2 fa 90 »igrg & Ws % 300 J AT J1 fer
Afest § i oifefsa w3 fmnfest qu e Tam€ (femas =9) |
3.3 3yt mitags 73 v sl (qre) fedt o7 I
fug® 391 &9 AT Sftmr {3 feq St mitgge Az S far 3gfare e ©
Juret @ gy &9 wanrfenr Ater 31 3t feg & efir fa feg Juet €9 grAd
& dc AdEM I8 A ANT39 I AaeMt g6 7 AUTSt I Haet I& | off »iHt
fegst & 99 nfet &9 I8 99 Aae 91?7 w3 Aag I 3t feg fam 3gi? wmrt
Jf gatal w3 fegst yast e €739 fafest fandt s fem gmar feg e<iani
wg wrt fugsht Gergast & fe'a-fe'a gad eHite|
o Gurgde 1 &t Afg3t €9, Uz 99 fa niHaEly & s @9 38 & Aewdt
a3t w3 fdd /9 gusT U3 wfsmm
939 3.2 &9 3Ht <fmr fa fem AfE3t & TomGe o8 mitage
st gu o g (4,2) 3 dee T@8MT € Juel § TIAE T J5 | fer et
i (4,2) €9f AHlaget x -2y =03 3x + 4y =20 § TIATET TEMI Jue 3
AfE3 I m3 Jdes feg ot AigT fifg J1
g wiHt dF Tife3a gu fee feg fiu adle fa x=4,y=2 &3 J¢
Hlage A3 T ffa 35 J1 20f mitaaet fdg x M3 y T HS Jue 3 wrt Yyu3
FIT T T 4-2x2=0m3 3 (4)+4 (2)=20 J| fer st wirt o fizr I fa




50 Jife3

x=4, y=2 gt mtaaet = feg I35 I fa@fa (4,2) €af Suet v a=s foa

wigr fig 3, fon ot © vst fév St mitage 73 = ffa w3 s 9 3% 91

fer 3gt viHaeu & 38 €1 979 €9 AeTdl A5t M3 2 T79 QUST §F HisnmT

o Burgae 2 ot rfast &9, ot 3t T99 Usfirs M3 T390 993 T HS U3T 99
Hae J7?

9739 3.3 9 fer Afest & fvfest gu fEs feaq Aust Juer € #3
omrgT Barrfent faprr I | iHtaget B I35 Gast © A8 fdemt (Common Points)
T Y3 Je 5|

ot fegst quret f&g et migT fdg 97 e 37wt Tue It fa fem
T g9 feq fig gt mitgast e fEa I8 J1 fer set mitaast 2x +3y=9 3
4x + 6y =18 T wdat I (Infinite solution) I51 fer 3° AT Jarat st It
grdtet fagfa #ag »Ht mHiaae 4x + 6y=18 & 2 & 9T ddIE 3T A
2x +3y=9 yuz Jer JI 7 fa mitgazs (1) It J19< &< mtaas 35 0t I51
e 3wt Tue I7 fg Ium '3 999 g 999 Usfis w3 I9d 998 7 HS
foer 31 Berade € B!, 399 UsH® W3 Jdd 993 €T H& gHe™d T3 W3 31
JAIET I A I9 BT UaHE e H8 T 3. 75 M3 J93 €T HS T 0.50 J AJET 4,
wrfa |

e Gurggs 3 t nfust &g, ot I8 e fan ras * 3 wiruw &9
s waat 957

Sergge 3.4 &9, fio3t It Afa3t § et gu €9 © Mg Juret
&5 waATfemT famr 3| fa@ fa Juret dedht st T | fog uedt € Trd &
ot st | fer e feg wigg I fegst mftaget @ det AT I8 &t J1

&g Tt mftade A=z, farer d9t 98 a4t Jer, It mldaet =
WHATZ (inconsistent) 13T I9@ €T J1 ¥ It mtade A3 farer 98 Je7 9,
It mftagaT T HaT3 (consistent) AT IITG T 13 (equivalent) It mtaraat
T f€d 73 © niefares gu &9 »ad (Infinite) I8 J€ I51 oA A3 & € 98
T 3t mftegst = wmfa3 (dependent) AT Afde Is| fiwrs fe€@ fa It
mHlgaE" & WHfgz 73T JHET B3 deT J1

g wirl @ 98T € e It mitade A= ewvdT faguzs duet & fearg §




< 9% {39 3ul mitgast @ 73 51
W3 I8 T 9T § J&f migAd fea A9 © gu €9 foy mae It -
(i) Juet foq fig '3 Je Aaem g5 | fer Afest &9, mitade 73 =
ae% f£'q fedya I (unique solution) JeT J (Al & Har3 737 |
(i)  JuTet AHT3d J AdEMT I6 | for rfast f&g mildaet e adt I8 adt
Jer I (mAar3 AHtade 73) |
(i) Iyt AUt I HaEt g% | for AiaSt 89 mHiaget © misfores qu e
Wt J% (Infinite solution) g2 I& | [(Mmfa3 (Ha13) AHtags w1 |
WE g Wt Gergder 1,2 w3 3 &9 g It mHlade Afswt '3 fea 3
TR »rete w3 fegrg adie fa feg w3 fmufest gu & fam yag € I5 1

D)x—2y=0m3 3x+4y-20=0 (Jyet Jae Is)
(i) 2x + 3y —9 =03 4x + 6y— 18 =0 (Jyret A3t I%)
(i) x +2y—4 = owr%zx+4y—12 0 (JuTeT AHT3d I5)

g& wG Frdort fat Gergaet g, 4 A Cl @wf&;ﬁew@wﬁ

a,

b,
38T AT €8 a, b, c, M3 a, b, c, W32f€‘u’1%wmaaufeﬁﬁ—3f

22 7Y

AHlgget € et § TIHE T I5|

ATt 3.4
b c -
| miaas AN mgiet | wdndt (are)| e
a b, ()
A EEY 3BT fsgue fegue
1 |x-2y=0 R LO @ b ERCiy =% feq I8
B 4 | =2 b - y
3x+4y-20=0 @2 % Juret (fesuz)
2 f2eedy—o=0| 2| 3 [0 |4_hA_4 |dustdue |wefesav
ax+6y-18=0 4 | 6 |-18 |@ b o ffg e I
_ b P DRV
3 |x+2y-4=0 L R el G222 8 pyizg Juret | a9t 3 aat
2 [ 4 |-12|a b, o

2x+4y—-12=0




52 afes
AdST 3.4 3 3T 29 AIe J fa

ax+by+c =0
Y — o . <N .
M3 ax+by+c,=09 EEJFI'@_ dT gyt

. . b o =
(i) et g, 37 A2 L Far F
a, 2

Gy Rut gs, 3t LDl S gar g
a b, o
. 'al bl Cl o N
(iil) HHT3d J&, 3T —= —# — Jer J|
a b, o
wrs fdg, forer g <t fan <t 3t 73 € =t He I 3HT 99 I9
Sergaet & J for €t 7Y 99 AIE J1
g ferg AURe JJ6 BEl g9 egdet BEE |

Gerags 4: y33® 99 fa mAHtadet e 737

x+3y=06 (1)
e} 2x-3y= 12 (2)
Ha13 J1 wag fem 39t 9, 3t fegst & 9re eMaT I8 I3 |
IS : wg AHtaaet (1) w3 (2) € 9re fudie | fere et wrt 9dd miage
T ¢ I8 U3T Jd¢ 7, | At 3.5 fE9 g3 o1

At 3.5

4 | 2

fe'a 9re Uug '3 faemt A(0, 2), B(6, 0), P(0, - 4) M3 Q(3, - 2) & »3fu3
a3 m3 fient & fisT o JuT AB »3 PQ 939 3.5 mgAd 5@ |



g 9% f&9 vt mitggeT € 73

53

P

fe3g 3.5

wHT Tye If fa Juret AB w3 PQ &g AisT fig B(6, 0) J1 fom wet, uft
Hiage 72 @1 I8 x =6,y =0 J, I AHdde 737 Har3 J1

Qugges 5 ¢ e eI U3T 94 fa It i3 mHtage © i3 T IS ot 4, fEa
fesdye I8 J 7 nisfores gufeanada I8 7

Sx-8y+1=0 (D
T
x-SV =

(2)
5x-8y+1=0

IS IS |

Y3 feg 3t Qo It I 7 mitggs (1) I1ferm wEt, mitgast (1) W3 (2) & Tamle
T et Ut g | fer et mitaaet (1) W3 (2) © wiefares gu e wida

e '3 I3 g I M3 WU My 719 99 BE |

Gerggs 6 : Jur 9 AW 3 I3 U2T W3 HIJST ydtee dretl Ae Gretmt



54 Jfea
AIEMT & Ufewm fg gda @ fda aa1 ydte 37 Ors €739 f&37  ‘Hader <t
farea3t ydtemt aretwt Uet <t farest @ gare 37 & We J1 Agder <t farest
ydtet Iremt Ut € faredt €t 919 91T 3 99 We I RISt <t feg
BT Bl AIfesT 99 fa JuT & fdat Uat w3 Addet ydteh ?
T« WG wit et € farest § x w3 Aadet et forest § y &5 ganrele 3t
fegat 37 gt mitadest Is -
y= 2x-2 (1)

I ES y=4x—4 )
I »E AMlaget (1) w3 (2) € e fige SEt 99 ffa mtade € € I8 Uzt
Fdte | feg ATt 3.6 fe9 &3 98 I

ASST 3.6

X 2 0 X 0 1

y=2x-2| 2 -2 y=4x-4 | -4 0

fggnt § mafuz 33 w3
fes 7 @@t Jurer fig,

feg 82 Juet fdg
(1,0) '3 deeht g5 | fem Bet
x=1,y=0 R mitgge Az =
fEq Sdte I8 J, I= G
T Ydldh Irewt Ut &t
farest 1 I w3 OWS It Hage
&t udtet I fgs9 3.6

uszs (1) M3 (2) 9 x=1 M3 y=0 Ju< 3 WA gue Jf fa e AHlaast
HIHS J AT IS |



< 98T f<9 ot milgaet € A= 55
YHSTSHT 3.2

1. Jat fidght mifimret &g 3t mlagst @ 73 g8 w3 Gaat e (ma)
feut =% I 3T A9 -
(i) FH3 X ¥ 10 fefenragh S arfezs &t ffq 93793 Hags &g grar fenr|
Hdd B3t faredt, s3fomt €t farest 37 4 S I 3T HIEs f&g gmar
BT T B3 M3 BIAMT € farest usT a9 |
(i) 5 USHSBT WM 7 IBHT T HB X 50 J, 7€ fd 7 UsHST W3 5 I@HTET IS HS
Z46 J1fEa Us® w3 €9 I8H €7 48 HS U3T I3 |

a b ~ C N “ N L pun - .
l,b—lmzs'—l o 3BT ddd U3T 9 T I&T fie 3 AHtade Afamt ewmar
a, b G

TIAQ Tt Juret g g '3 deeht I8, AHT3g I8 A AUt 7a:

2. MEYUTIT

(i) Sx-4y+8=0 (ii) 9x+3y+12=0
Tx+6y-9=0 18x + 6y +24 =0
(iii) 6x—3y+10=0
2x-y+9=0
. a b ~ C ~ - P SVLANEN NN
3. WBT—I,b—lhB’—l d 38T 939 U3T I fa Ia fe3 It aHtgast € 73
a, b, %)
HIZ IS A7 WHITS :
(1) 3x+2y=5; 2x-3y=7 (i) 2x—-3y=8; 4x-6y=9
(iii) %x+§y:7;9x—10y=14 (iv) 5x—3y=11 ;- 10x + 6y =22

4
v) §x+2y=8 ; 2x+3y=12

4. J&t &3 It milaget & Afsni 28 fagzT 737 Ha3 I w3 faaz wiHars | 7dd
13T Ha13 J 3T wirdnt feut o8 I8 u3T 94
(1) x+y=5, 2x+2y=10
(i) x—y=3§, 3x-3y=16
(iii) 2x+y—6=0, dx—2y—4=0
(iv) 2x—2y—-2=0, 4x-4y-5=0




56 Jgfes

5. fex wirfezrarg grar, fardt Saret, 93t 37 4 Wl U T, o wigu ufarmy 36 Ht.
J157aT1 & Baret w3 I3t usT A9 |

6. foa It mitaage 2x + 3y - 8 =0 &3t aret I 1 € wwt o9 foq fon 397 &t mftage
fou 3t fa yuz w3 = fmnfest fogue we fa
() e JuTet I | (i) AHT3T et I |
(i) AU dyTeT I |

7. AHEIE x—y + 1 =0 ™3 3x + 2y — 12 =0 & I[< 49 | x-gd w3 fegst Juret
&5 g f3gn © fiudt © fsgen »id Uz 93 w3 f3gn mrarg § efenm-wifas
(Shade) ad |

3.4 f&'g it mitags 73 § I% 99 ©t dnarfesa (Algebraic) fedt

fug® g1 &9, wirt feq It mildge 73 & I8 995 & wat (qrel) fedt

gd 9dgT i3t H | wredt fedt €n mfast feg Afeumsa adt It A2 ot

Hlaget € I8t § Tsare @8 fdent € fagen-»ia Hyds Rivmr a7 Je fan

4 1

Iq (ﬁ,zﬁ),(_1.75,3.3),(g,5j wifi) fem 397 @ gt & ugs S

Jrs 3t €t 993 AgesT It It 7% u3T ga9s € 9t I fedt S 37 fem it

et Hirarfef3a feuht I, fagst &t it ge 999 Jdrdr|

3.4.1 yfsAaus (Substitution) feft :

Wit Yfsmenys fedt & 99 Gergast & o mHsTeiar|

Gurggs 7 : yfzmans fedt gnrar Jat &3 It mitgde A= & I8 99 ¢
Tx—15y=2 (D
x+2y=3 (2)

~

dJ&
uar 1 oAt fan feg mitggs & 8¢ 9 w3 fan ffg 93 & grd © uet &9
foue It 1 w6 mtage (2)
x+2y= 3,§8€%§m§f¥?ﬂ’§
x=3-2y% qu T farfle (3)
uar 2 ¢ x e feg He mtage (1) &9 yfsrefuz 931 7é yuz Jer 3
7(3 - 2y)— 15y = 2
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I 21— 14y—15y= 2
g< -29y=-19
19
fer =t Y=o

udr 3 ¢y © fog U8 miaee (3) &9 yfsmefuz g9 '3 A yuz Jer 3

1 49
x=3- 2(—9j —

29) 7~ 29
49 19 . =
fem met x=—,y= — WHlddE ©T I& J|
29 29
49 N 19 o . 9] 9] N e NS SN
US3H : X=— M3 y=— & AHlads’ &9 Jus '3 3AT Ty Aae J fa 2=

29 29 ©
AHtaaet (1) w3 (2) H3we J At I& |

yfsmas fedt § 99 Aume gu &9 AHse e, w6 fene S3tHu gu
'3 fegrg Il
uar 1: €T 9% € HS, He 36 y & THI 99, He B 1 © uet &g fan &
AHtddE 3 U3T 94, A Afeuded Je|
udr 2: y© fen g & gAd AHiaae &9 yf3mefuz 3d w3 ferd g g8 x &
u &9 ge8, fan & I8 37 77 Faer J1 Je-a¢ fan 397 Iat §erages o w3
10 fe9 I 1 At oot fan 95 € 388 YU3 99 Aae J1 749 fog 99s Hg J 3
AT feg a3t d€ AaE J fa 3t mtage A9 © wiafaes qu o wdads
IS 1 HId Udl 2 f&g Y3 98 F&7 J 37 It mtage 73T mAas J1
UST 3: YTl 2 3 YIS x (A y) T HE GF AHtade fard uar 1 &9 Yuar o3
famr 3, e yf3mefuz g9d RO 98 T HE U3T a9
feust: wit ffa 98 € He TR 98 © UE €9 E9rT o Il ilage A3 8 U5
95 et yfsmefuz si3r J1 form et fen fedt § yfsmaus fedt afde a51
Geraas 8 :wifgnwm 3.1 T Yra § yfzmes fedt 5% I8 94|
1% : He 56 goee 3 ndt a3t €t OHg (At few) gied s W3 + JIge
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On nfast & Tomle B, Wt mitage 73T I
s—T7=T7(-7),3< s—Tt+42=0 (1)

-~

w3 s+3=3(+3),9< s-3t=6 (2)
miage (2) IS ST It s=31+6
mage (1) €9 s ¥ Hs due '3, 7é fiser J
(Bt+6)-Tt+42= 0
EiS 4r =48, TR 3" 1= 12 YUz Jer J1
e fern vg § mflage (2) &9 due '3, wé fiser 9
s=3(12)+6=42

fer wet, gmee w3 Rl B3t € OHa gHET 42 HE W3 12 S JI

for €739 <t 79 © B, foo uz3ms ad fq fog i3t It mif dt
"3t & H3He gavr J 7t &t |
Gurggz 9 : WG 3797 3.3 © GEgde 2 & BEE, I 2 UsHS W3 3 Ig3

THSI 9 @4%&@»@63&?@%?18 J139 &3 Usfis w3 953
T HS U3T I |
J% . It mdlade A= 7 9 He, B9 I -
2x+3y=9 (1)
4x + 6y = 18 (2)

T UfgS AHEEE 2x+ 3y =93 x T HS y T Uet &9 EaA@<e It 3 yu3
QH@UT

9 -3y
x= ) (3)
gE mHt x € fer He & mlage (2) &9 due '3 Yu3 d9e If
@ +6y= 18
ge 18— 6y + 6y =18
g 18=18

fegaEs y T AT UG S HY JI9e fen 3y o It Uy I8 & gu ffg yus
st Jer J1 fer st wré x © JEt fonfas We yuz sdt Jeri feg nfast fer
et Uer 9et fabfa 2 fio3 o mftage fea ot gs | fem =gt miftaae (1) w3



< 9% &9 3yt milgest € A= 59
(2) © mefarez gu fE9 I8 93| famrs fe@ fa mtaget v feg It I wrd apet
(mradt) fedt 3° fufgmr J1 (391 3.2 € f933 3.3 € T=& 3I)
wHt €9 Usfas w3 ffa gz u f¥g fegduys WS (Unique Cost)
Y3z 3t 93 Aae fagfa fegt It nfast ffe 9g3 73 miz 95 95|

Gegas 10 : WG 3191 3.2 T GEIdT 3 BE | dt I8 yeIt fEd gAY &
FaTgimt?
J% : fom 3 gow 9F It midge Ao -

x+2y-4=0 (1)
2x+4y-12=0 2)
mage (1) 3 x§y © uet &9 wamfe '3 7g e 3 -
x=4-2y

Je x © fen U8 & mHiade (2) €9 due '3 7 fiser J
2(4-2y)+4y-12=0

e 8§-12=0
ge -4=0
# fa f&'q g7 995 J1

fer =et, 3 918 mftage’ e 9t HisT 98 adt J1 fer Bt 8 uesh fag
THI & &1 deaaimil

wfgmm 3.3
1. J&t &3 It mitage Afamt & Yfsmaus fedt o8 I8 99 -
1) x+y=14 (i) s—t=3
s t
_x—y:4 5"'5—6
(i) 3x-y=3 (iv) 0.2x+0.3y=1.3
9x -3y=9 0.4x+0.5y=2.3
.. 3x Sy
(V) V2x+3y=0 (vi) 7_?:_2
x,y_ B3
xr—8y=0 3+2 6

2. 2x+3y=11 M3 2x—4y=-243I& IImM3 fern &g ‘m’ =" Qg Hs uz3"

9 e et y = mx + 3 I<I
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3. Jat famt mifimret € St mitade 73 g8 w3 Gst € I8 yfsmaus
feut o7& uzT 99 -
(i) © Hftriret BT ¥i3g 26 I w3 o At grdt Htrrr & f3s 9T I
fegst § U3T I3 |

(i) © Hydd aet f&9 37 de 8¢ d= 3 18 f3ardt Su J1 fegst & uzT
Ecl

(iii) I fgde THEIT S 7 98 W3 6 Jiet T 3800 &9 ydtEmt 1 gmie
fe9 67a 3 98 w3 5 Jrer 1750 fE9 ydteT | g e 8wz i e
T HS U3T IJ |

(iv) f&a ufgg &g 2ot fagre &9 fonfaz fagre 3 fegrer 3w izt gt
o1 fagrfen s i3 AfeT J1 10 fa vt gdt € sEt fagrfenr 105
I m3 15 fa vt € set fagfenr 155 J1 farfez fagrfent w3 Yt
fa vt fagrfenr ot 37 f&a forazt & 25 fa vt w39 3 995 SEt
faar fagrfemr gt u=ar?

(v) Hod fait s & v w3 g9 2ot i 2 A= fdgr e 3t feg % F et

J11dd WiH W3 gd 27 fdg 3 Az fasrae 3 feg % g 7t g1 feg

IERRIEUCE]

(vi) UA A'® g¢ #d9 €t BHg Ore 834 €t 6Hg = 35 arer 3 Aredft
Ud A ufosT Hag € @Hg 8re 834 € g T H3 9 H i Qast
=t ge &t (€I3Hs) BHa ot I7

3.4.2 fe3u= (Elimination) fedt

g mig fEq 9 fedt '3 fegrg adle fand fe'a 98 & Buz (Way) d9s
feut faar 7rer J1 fog Fe-ae Yfsmays fedt a7 <u mfeawsa afdet T1me
ot fg feg fedt fam 3g7 izt At I
Geggs 11 ¢ € forazdh € wiHes T wigu3 9: 73 w3 BJaT € ydud ="
WEUTS 4 :3 T Add I9d femadt Hdts €9 T 2000 9T e 3 37 Gaat <t
HdTe™@™d WTHES U3T 9d |



< 95T fEg ot mitggsT € A3 61
I% . Mg Tgt foradrt & Hdleed mieEs & gHe g T 9x M3 I 7x M3
ygfontt § gHed X4y 3 T3y &% EIATEIE, I AfEST »gHd ge AHldde
Jdo6

9x —4y = 2000 (1)
I ES 7x — 3y = 2000 )
Udr 1 y @ e S 99T9d JIs BE AHEIE (1) & 3 38 »3 AHldde (2)
3 4 38 g I3 | A It €3 Aiage yuz JT 95
27x — 12y = 6000 (3)
28x — 12y = 8000 (4)
uar 2 ¢y © feBUT (eliminate) 99 BEt AHlade (3) § AHlage (4) &9
weQ, fa@fa y © e’ g9vgg Is, fen wet wrd fiser 9
(28x — 27x) — (12y — 12y) = 8000 — 6000
EiS x = 2000
udr 3 x TS (1) €9 JuT '3, wé fiser I
9(2000) — 4y = 2000
EiS y= 4000

for et milagst € 133 T I8 x = 2000, y = 4000 J | for Bet, fomadmt <t

HdleTe™d WHEs gHe™d T 18000 M3 T14000 J|

g 18000 : 14000 =9 : 7 J1 &8 It §IaT & ¥dd & »au3

18000 — 2000 : 14000 — 2000 = 16000 : 12000 = 4 : 3 T

feust -

1. Buda3 Gugde § I8 99s e, <33t Irel feut § fedue fedt (elimination
method) JfJe I5, fa@fa Az 3 ufgst fia 9% § WdY 994, fea 9& &9
fe'a It mtage YUz 99e It | Qudas Berage iR it y & iy afism I 1wt
x & By 99 A IF| fer 3¢ <t AHiage & I8 J9% T W3S I

2. AT ferd I8 J9s et yfzmaus fedt At wradt (qrel) fedt e yuar &t 99
HIe H | fegst fedmt o8 & I8 99 w3 2y fa fagdt fedt 79 3~ ©fe3 J1
WE ge wiHt fedue fedt €t @93 € MBI-WBTT udTr eHe -

uar 1: A 3 ufgst 2t milaget & fan 3T J19-feg »es 575 e J9d

for feq 98 (xATy) € I & Afumr3ng gu &9 93199 995 Bet, gar 93 |




62 afe3
uar 2: fen 37 Qud3 T9f midget & w3 A W fan a5 fEa 9% wsy 9
e | Hag 308 B 9% &9 mitags yuz Jer J 3t uar 3 &g 78
Hdg UdT 2 fe9 wg 9% Ifa3 f€d Ho™ 38s Yu3 JI€, 37 U AHldde
T mefares gu & »od I8 I
a9 udT 2 &9, WS fo'g 9% IfI3 For 9Es YU R 3 us miade
A3 T JE I& &dT I<9r I< frg wHarS J1
uar 3: fem 397, 9 98 (xATy) few yuz miiage 8, R 98w He 3t
I3 BeEl, I8 I |
udr 4 ¢ x (A y) © fer HE § we mitaaet &9 fan f6a 95 ffegrd vs &
wmmewl{ﬁmﬂﬂgaﬁm@fgmmw@zaﬁ wHt 33 Gergae
RECCEIUE
Gerggs 12 : fedyue fedt v Yaiar 994, Jst &3 9t mitade A3 © Ad Hae
IS U3T 94

2x+3y=38 (1)
4x+6y="7 (2)
I3 :
uar 1 AHiEaE (1) § 2 a8 M3 AHldde (2) & 1 3% 7 949 3T fa x & Tt
g99d I AE, g fiser J
4x+ 6y = 16 3)
4x+6y="7 (4)
uar 2 AHladE (4) & mtage (3) 87 wee '3 wé YUz Jer J
(4x—4x)+ (6y—6y)= 16 -7

ELCH 0=9,7 fa f& &7 385 J1
fen Bt mftage 73 = d¢t I8 adt I

Qergas 13 ¢ gl ot 8 Bt w3 e »ial & € o gt Afgwr er 7
66 J I Fad AT & Wit &1 wizg 2 T 31 At Uzt 99 | fom 3gt It flahr
Hitmret I&7
I5 He B ufast Hftmr &t Taret w3 fearet € wig gHerg x w3 y I for o=t
it ufgst ffam & ferzfaz gu &g 10x+y fy mae of [Beade o,
56=10(5) + 6] |

e wig € 7T Is 3T x fearet = wig w3 y Tamet = wig g AT
J 3t HfaT 10y + x I AT J1 [@ETIdT € BEl AT 56 § @ fdsrAer 9
3t A fH®ET I 65 = 10(6) + 51|
fat 95t wa3 wigHg,

(10x+y) + (10y + x) = 66
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Eic) 11(x+y)= 66

ge x+y=26 (1)
wé feg & fe3r J fa wiat v »izg 2 J1 fen et

3T x—y=2 2)
o y—x=2 3)

ﬁaﬁx—y :2%, 37 (1) e (2) éﬁ@t@ﬁﬁwﬁam I x=4 M3
y =2z Jer J1 fen nfast feg wg Ao 42 yuz Jet 91
ﬁﬁy—x:Z%, 3T (I)WI_Q' (2) é%ﬁu@%ﬁrwzﬁzm "I x=2 M3
y =43z Jer J| fer nfast &g mttmr 24 yuz It 1
fer 3gF mfadit € Aftpiret 42 W3 24 T
g P8 42+24=66M3 4-2=2TI M3 24+42=66M3 4-2=2 JI
YHERE! 3.4
1. J&' f&3 mitage wfanrt § fedus fedt w3 yfsmeus fedt o8 I% 94 | faast
feut 2 6fez 37

() x+y=5 M3 2x-3y=4 (i) 3x+4y=10 M3 2x—2y=2
~ X 2y s Y
(iii)) 3x—-5y-4=0 M3 9x=2y+7 @iv) 2+ 3 1 M3 x 3_3

2. It fadm mifimiret @ St mitage 72 g8 w3 89T @ I8 (Feg Brdt Ie
I°) feduz fedt 575 UzT 39 -

() 7dd WHT »ig f&g 1 93 2t W3 9g f&9 1 wer 2w 37 fgs 1
i wws it 31 fie fios 99 729 1 Wi 9 91 feg o e wieh
RIRECRIEUCCE

Giy U A ufgst adt € GHa 7S €t §vg v 35 gre /i en Ay g
ot 2 ©Ha B € GHT BT & g7 I At adt i3 B = §Ha faat
J7

(i) & Widar & "t @ wigh v 13 9 I 1 for Aftmwr e o greT, Afewr @
wiat § €T 9 gt Aftmr v 2 g I 1 Htmm u3T I9 |

(iv) HlaT% 2000 Jeege foq &a &g areti §rs uarsdt § T50 M3 3100
T 3¢ v BEt fauri Hier & 9% 25 de yuz 31 usT 99 fa @R T 50
w3 100 ¢ fda-fds & yuz 37

v) faa® '3 yrzar 2 @t fan sifegddt e ufas 3 fes = £



64 gfez

forfes fagfenr I w3 €0 3 gw 9 € @y fos = fagrfenr
MBI J 1 AfI3T & A3 fos 39 g yAsd T ue Bt T 27 o3 Aefa
He & feq yrsa Un fes Tue Bet % 21 &3 | fomfus faghenm w3
J9 fea e fos = faarfent uzT 94|

3.4.3 f33st 91 feut

g 39, At Ut I fx € vet @@ 3t mitaae 73 & fam 3gi gt
(arel), yfsmaus w3 fedus fedt ardt I 3T A7 maer J1 feg »irt i
It mitage 73 & I 995 © BEt fe'g 99 € aifefsa fedt w9 €7 99 I,
W et Iget F9d fegst mildde § I8 J9s € g3 Quudt fedt I1fem 3
ufagst fg wirt »igr eule, »E It &3t rfast '3 fegrg adie|

5HA3IIMI 3 AT ETHE T 35 I3 2 A3I M3 4 AET T H& T 28 J|
wWi§ foq 33 w3 3 AT €7 H& U3T Jdig |

Vo B8 fafeaAsd s Ta w3 A R e g 3y J 37 mtaaat
gE&Imt

Sx+3y=35 9 5x+3y-35=0 (1)

M3 2x+4y =28, € 2x+4y-28=0 2)
mage (1) & 4 w3 mfldde (2) & 3 578 I 996 '3, A1 Y3 JeT J ¢

@S+ @B)y +@)(-35)=0 (3)

3)2x + 3@y + (3)(-28) = 0 )
mage (4) & mtage (3) f&9° wee 53, 7é firser J

[(5)@) -~ B)Q)Jx + [(H3) - B)@)]y + [4(-35) - (3) (-28)] = 0
—[#)-35) - (3) (-28)]

fer ot T @ -6

_ (3)(=28) —(4)(-35) 5)
G)4) —(2)3)

Hdd AHldaa (1) w3 (2) éa1x+b1y+cl=OWI§'a2x+b2y+02=0_€’§UﬁH

fafumr 72, 3t A fiser J1

a =50b=3,¢,=-35,a,=2,b,=4,c,=-28

ge
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. (2] J N . b _b
3t miftage (5) & fom gu e foy mae gf . x= 2220

ab, — ayb,
N . . N~ = iy — G4
fer 39T, I Y3 Ig Hae d @ y= by — b,
g (5) & 798 J9s '3, A fHser 7
—84 + 140
x: - =
20-6

~ . (352 -(5)(28)  -70+140 _
few gt - 20-6 B 14 =3

form @et, x=4, y=5123 92 Miade @ 73 T I8 J|
for wdt, g Asd e vs T4 »3 I AT = Hs T 5 J|

UIITH 5 A3fant @7 & +3 AT &7 H® =3 20 + 315 = T 35
2 H3font &7 H& +4 AT @7 HS =38 +320 =3 28
G ge eie fa fam 39t feo fedt © o3t € fan <t Rt mitggst € 73
ax+by+c =0 (1)
ES ax+by+c,=0 (2)

3 I8 995 feu Quurat Jet 91 Qudas fedt 75 x M3 y B WS Yu3 935 &
Bt WA JaT fa3 WEHTT »dl euidr|
uar 1: Alade (1) § b, W3 AlddeE (2) & b, &8 T Idd AT fHseT O
bax+bpby+bc =0 3)
bax+bb,y+bc,=0 4)
uar 2: AHtadE (4) § (3) 8" wee &y, wé firser I
(ba, -ba)x+bb ~bb)y+ (bec—bc,)=0

g (ba,—ba,)x=bc,- b,
bc, — byc o~

fen et x= —>—2L #afd ba ba#0dT (5
ab, — ayby

udl 3: xTHS (1) M3 (2) 9 v &8, 7é firser J
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a4, — 64
=12 21 6
a\b, — ayb, ©
ge & Afgdt Ter JeT Ia -
Afet 1 ab,-ab, »0 vag J1 fen nfgt feg ﬂ;tll)’—l J, 3t It miaget
) )
T 73 T fg fesdues I3 J1
Afa=t 2 ¢ ab,—ab =0HIT JI ﬂ:i’—lzk d, 3 a=ka,b =kb, I
a, )
a3 b &St E midde (1) €9 Jue '3 wé fiser 7
k(ax+by)+c =0 (7)
feg St 77 maeT I fa mitage (7) 3 (2) €< 37 3t A3He I Ao
SN ¢ SN
I8, WG ¢, =ke, J TR =k 2
TG ¢, = k¢, I¢ 3T AHlage (2) = Jet €t I& mlage (1) & Hame

ST w3 Gue < foit 397 929 fen we, g Z—lzz—lzz—lzk F2 3 (1)
w3 (2) § TG I i @ A @ wiHtZ gu e wdd 35 30 7o |
AT ¢, # k¢, 92 3T AHiadE (1) = Jet & I8 AHlage (2) & H3He
st adan w3 Qe & fo 3g7 92| for ot for 93w SEt Jg adt 92am
(1) %3 (2) e fdwi grewrt Tt Mftaaa @ et w13 QuIaE
gaur § wi: fom 397 afa Fa

. -. a b “ N . o v 1% 9 . . o EN

() 7 _1¢b_1 J2, 37 A fEd fedye I8 (Unique Solution) Y3 Jer J|
a, )

. -. d b C o NN v ~ ) . o

(ii) 7" —L = b—‘ =L J2, 37 H3 € wefares gV €9 »dd I& (many solution) I&
a, » G

TS|
-. a b C EN NN - ) . _o
(iii) 78 L =1Lz L J 3TAI T A IS &I I



< 9% &9 3yt milgest € A= 67
fimrs fe€@ fa mitage (5) M3 (6) Enia Yu3 I8 § 3T Jat €3
WEHd foy Hae J -

x oy 1 (8)

b, —bye;  ca, —ca  ab, —axb

Sudaz ufge & wre Jue Bet, ITg Jot fia3T fi39 Quwistt I Aaer
X y 1
b, c, a, ‘bz
< Hftmet 2 &9 € 319 © foms Bfez aoe Is fa fegst & g7 a9
J M3 AT 5 § UfI® Jieses &g weger J
fer fedt o7& St mitage Afant & I8 I35 et mrt Jaf &3 uar
WEHTI Wdl SgTdr:

uar 1 : fa It et mflaget & (1) M3 (2) € u &9 fad
uar 2 - Quda3 fi39 wt mofesT a5 (8) &g fe3ht arehvt mftaaet

cly

3 fou

Udr 3 : x ng’y 'ciiLBTa_a’ e fa ab,—ab #0 I

Qudas uar 2 3T femrar gger J fa fer § f3g&t gre fedt fag afde
TS|

Qurgas 14 : 93193 € 9H HS S '3 Add ¢ feget Higauad w3 f3s feger
IHYT et ydlele 3t g faarfen T 46 J1 U3 Had wrt 3 feaet Hgayua
W3 5 fedet YT Evit BElE 37 & fagfenT T 74 J1TA ASS 3 Hgdud
W3 ITAYT e faarfomT usT 39|
% : He B I3 € g A3 3 Hidayqg =7 fagfemt T x w3 Iy =t
fagrfenr X y J1 et It Ha3t § wd YUz Jer J
2x +3y= 46, I 2x +3y—46=0 (1)
3x+5y= 74, € 3x+5y-74=0 2)
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g8 It -
X y 1
3 46 2 3
I= X B y _ 1
- (3)(=74) = (5)(—46) ~ (—46)(3) — (-74)(2)  (2)(5) - 3)(3)
X y 1
EiC) - =
—222+230  -138+148 10-9
x _y_1
I 8 10 1
x 1 < y 1
< 8 1 10 1
EiC) x=8M3 y=10

fer ®et, 951912 © §H AS 3 3 Higauad = fagfonm T 8 w3 Imud =
faafemm T 10 J1
79 . ZHT Hg T AHf 3T US3E 99 AdE J fa 7 I8 wiHt u3T A3 95 €9
At TS|
Gerggs 15 ¢ p @ faox We o8 Jat fa3 mtade 13 = q fesdyes I8 37
dx+py+8=0
2x+2y+2=0

J%: f9a=4,a,=2,b,=p,b,=27I

USN D SN SN . v ) ke b e i}
Je &3 9% 93 v f£9 fegye T I oot ﬂ;tb—lae—cnﬂ
a, )
4 p
ge mA
270

ElS] p#4
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69

fen &et, 4 3" femer, p 2 99 ¥ v ot fio3 98 mfiade Az v f¥a

fedye I8 J2ar|
Gugee 16 ¢ k € faH U € BEl, I g3 ot mitaae =3
S8 »dg I8 Jedl?
kx+3y—-(k-3)=0
12x+ky—k=0
3 ¢ k-3 3

v N k b
Js:fig A==, 0_2"7 3
a, 12 b, k ¢, k

It mtaget @ 73 © wiefaes gu feu »dd I8 Je @ et A=

a,
grdter J1
o N k 3 k_3

fer 3¢t wg wrdter 9 5= T %
. k3

12 &
A3 k=36 YU Je7J, I k=+6 JI

3 k-3 .
7% It = 3

A 3 3k =k -3k YyU3 I&7 J, I< 6k = k> T

fAAET g€ k=0 IH k=6 JI

@ »HIHZ U

—ﬁzc_l Jar
b, ¢

for Bet k T HS ° ©9f /a3t § Yar (H3He 99w J, k=6 J1 forn 1 © et

AHigaet € 73 € miefare3s qu €9 »dd I8 I5|
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YHSRS! 3.5
1. J& fa3 3t milgget 2 73 &9 fan v f¥q fesye I8 9, famer adt I ot
7t fare w3 qu S8 »ida I8 Is | f¥a I €t Afast fife, Gng f3gst e
< feut o/ uzT 99|

() x-3y-3=0 (i) 2x+y=5
3x-9y-2=0 3x+2y=8
(iii) 3x—5y=20 (iv) x=3y-7=0
6x — 10y = 40 3x-3y-15=0
2. (i) am3 b fIg3 Wt € Bet, Iat fe3 It mfldast € 73 e miEfare3 gu <o
WMo JB Jd1?
2x+3y=7

(a-b)x+(a+byy=3a+b-2

(i) k < faoz Wa B, Jof fd3 It mftade € A3 =7 a9t I8 adt J7?
3x+y=1
Qk—1)x+(k-1)y=2k+1

3. J&t &3 It mitage 73 & yf3meus w3 398t g fedt 55 I8 991 3t

fag=t fedt § <u ga=t Haw 97
8x+5y=9
3x+2y=4

4. It fedt mitgget f&g ot mtage © A3 9@ w3 €Ist © I8 (Fag Gast

ot 3T I°) fan < dmafesa fedt a7 Uzt 39 -

(i) f€a IAeS (Hostel) T HdtaTed yaw = f&d grar forfozs I w3 gt
fern '3 foggg q9er I fa fefonraet & 38 fos Ins oiz3T I1 fEa
fefenraet A fans 20 fes 37 ofi37 J, ¥ 1000 IACS (Hostel) &
Yoy sEt fder 9, Ae fa gagr fefemradt B fmd 26 fes sws
3T I, JAES & yay B T1180 Yy fder I1 forfos ygw w3 99
feq fes € 976 T U3 U3T I3 |
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(i) fE‘o(fBHE’ﬁ:I‘dEWEG‘ 1 UET@EW@U J At I3 a9 feg
8?3338@U4Eﬂmﬁaﬁmuyaa
(iii) WU & feq Sre &9 40 Yig YUz i3, Ae GRg At €39 € 3
Wig 8 w3 9183 €739 3 1 »ia € 323t d13t et "dg Grd Adt
€39 © 4 »ig fige w3 9183 €39 € 2 vig d< A 37 6T 50 vix
Y3 gaeT J1 2Ae feu fdd yus ns?
(iv) feq ImHger '3 € A A 3B, 100 fa ot & gdt '3 gsifeaag
A 3 w3 gAdt 9 B 3 fBa It A '3 9% 7Y doemit I8 | Hdd
&g gt MBIT-mEB 4T ISt (wrm) &8 fEa It femr few gt I3,
3t feg 5uie gmiE s Aregivt | Hag feg arat g en <5 (A fedtt
femr f&9) dodt Is 37 fog a wWie gmie g mreatwt Iget arat <t
I3t (TF) U3T IJ |
(v) vag f€q »rfez &t Saret § 5 feardht wer 2ete w3 93t § 3
feardmt <gr 2ete 3T wfes ©r 43des 9 Tadr fearei We Aer I
Hog wrt Saret 3 feardht w3 I3met § 2 fearegt Tur BEte 3t
Y3Je® 67 2391 fearei g "ier J | ez & et w3 93tz 4l
3.5 @ 9% ¥ 34t AHldaeT € Afgw ST o8 77 AdE @& Aviade:
few grar fi&g »irt fem 3gF € miage Afewt g9 9997 Jatal 7 ot
&d" I8, Y3 I3 ga<! Yf3maysT enrar Gust & Il mHiage Afsmi 2 gu fee
gefen 7 AaeT I 1wt fem yfafonr § 33 Gergdat emtar AHsTeiar
Gegas 17 : AHigde’ B Jof fE3 Az § I® 99

2 3
Z+Z =13
Xy
5 4
B )
Xy

=13 (D

)
5(-}—4@:_2 3 9y 29 fenft® @
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ﬁUHﬁEHEUm+by+c=O@gUﬁﬁHﬁﬁEﬁWqgﬁHHMﬁfﬂﬁmﬁi(1)M%
(2) fég %pm::c %q S R I S e T
2p+3g=13 (3)
Sp—4g=-2 (4)
fer 37, wirt miftgget § It mitggst € 73 € gu S ges figzr 31 ge 3t
fegst & fan <t fedt 78 I8 I9d p=2, ¢ =3 YU3 99 AaE J|
IHF e 3 fx p%»r;rq:% 3

p W%qi?ﬁ@*ééﬁiéiTﬁéﬁﬁﬁFﬁT

1 1 .1 1

—=2gex=— w3 —=3gwy=-

X 2 : y : 3
779 . dgl AHlader feg r=z m?s'y=§ JUT &8 WHE gye I fa €&
AHiIdS A3HS J A I5|

Gegas 18 : Jof fid3 mitade A3 § It mHigge 73 €9 528 4 I8 J4:

——+—— =2
x—1 y-=-2
6 3
— =1
x—1 y-=-2
\ 1 N 1 S - ) . . .
T - g x_wanzﬁ—q 34, I eIt Irehw® mtaast
1 1
5 — |[+—— _
(x—l y_2=2 (1)
1

6(x1—1j_3(y—2j =1 @

Sp+q=12 3)



< 95T fEg ot mitggsT € A3 73
6p—-3g=1 4)

< gu &9 gt 7 Aaeht I5 -

AHlaaet (3) M3 (4) fenmug gu fe fea It mitage A3 ga@ &t Ia |

g AT fegst § I8 dda et fan ¢t fedt = yuiar 99 mae J1 Ag s

- 1 1

d, ngmg’ng

-~ 1 ] ~ L) 2
JT p e BE ——, Jue '3 S HBET I
o O

1
y=2 3
i 3=y-2, 9 y=5JI
fem 3gf, fo3 9€ e AR ET I8 x=4,y=5 JI
7Y () M3 (2) Rex=4m3 y=5Jys '3 A9 94 fa ot feg fegst & Hame
IT IS |

30 km W3 UTdT &t femm € wgHTg oo :
44 km At I 13 Ufeifegfeg =7 T————"
grar ©f ferr € 882 40 km w3 T .
grgT &t fe|m € WgH™d 55 kmATEl 2= =
J1grar &t 8 w3 faast <t mfag M e T ™
ytst &9 98 u3T I3 T T T
75 : Vs B8 forst <t nfag uet &9 ¥7% x km/h I w3 Tar & 7% y km/h
J 1 fem e, fomst €t arar <t femm © wisAd 978 = (x + y) km/h w3 famst <t
grgT &t four € €82 98 =(x-y)kmv/h J2att |
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&% It i = 59
TE

ufoet wfast &g, 7 farat 30 km ardT @ &< gadt J1 Ha B uifowt fag
e famm mut ¢ 31 fem sEt

_ 30
C(x-y)

L,

He B 7e” fanat 44 km Trdr € wigHg 9t 9 31 €T 1, W mif &t I 3
b, = 2 1 Sfarar AT 1+ 1 = 10 W2 T 1o BEt, WS migee frser

xX+y

J:
30 44

+ =1 1
X =Yy X+y 0 ()

ordt a3t €9, 13 wWfent &9 feg 40 fa. vt g €t femr € @82 w3 55
fa . grar €t femr € wigAg vuet 1 Aé fer 37 miftade firset 3

40 55 . o
X =Yy X + y
x—yzu s x+y=v Idl )
fegst Hat & mHtage (1) M3 (2) €9 Jue '3 A It mHtage 7 I8
fafipr w37 yuz Jer J1
30u+44v= 10 H 30u+44v—10=0 (4)
40u +55v= 13 A 40u+55v—-13=0 (5)
338t gre fedt v ysiar g9d 7é fiser J
u v _ 1
44(=13) —55(=10) _ 40(=10) —=30(=13)  30(55) — 44(40)
u 1% 1
I 22 T 210 —110
1 1
g<e u= g’ V=11

I u M3 v © fegst Hat & mitage (3) &9 Jue '3 wé fiser &
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1 1 ~ 1 1
x—y 5 "3 x+y 11
g< x—y=57ﬂ_§' x+y=11 (6)
Regei il & e 3 i Bosar 3 -
2x= 16
ge x=8
(6) 755 vt Jebt Mlaaer § werle '3 wig firmer 7
2y=16
ge y=3

for e, famst <t Afag ust &9 9% 8 km/h w3 T & 9% 3 km/h I
US3%: A 94 fq fegrg €9 fasht mifmret gt 733t S AgreIae I |

YHS=ST 3.6
1. »idi fe3 miage Afant § 9ut mitade’ © 99 988 o I8 99 -

. L+L—2 .. 2 + 3 _2
1) 2x 3y (i1) \/; \/;_
1,13 4.9
3x 2y 6 Jx J;
4 5 1
N — . + =2
(111) S + 3y 14 (IV) ¥ -1 y — 2
4y =23 6 __3 =1
x Y x—1 y—2
Tx—2y
) 5 (vi) 6x + 3y = 6xy
8x + Ty
Xy =15 2x + 4y = Sxy
.. 10 2 » 1 1 3
(vii) + =4 (vii) 3x + y " 3x—y T4

x+y x-—y
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5 5 _ I |
x+y x—y 2G3x+y) 2Bx-—y) 8

2. Jof faIt mifimret § It mitade 73 € U €9 Eare w3 Gaaf &
R RIEUCCE
(i) fag grar &t femr € migrrg 2 wWfewt f&9 20 km 39 Aaet I w3 Trar &

(ii)

(iii)

fomm @ €82 2 Wifen {29 4 km 39 AI<! I 1 Oret U3 uet f&g 3a9a <t
5 (I131) w3 urgT &t g5 (131) u3T A |

2 ferzdt M3 5 mret fEq arte € dH & feas 4 fes &9 yar a9 Hae
I, Tefd 3 fersdi w3 6 wret ferd 3 fes & yar 99 Fae I8 1u3T
aq fa fem v & & feast fensdt fda m &g yar agaft? feman §
fedgr fea mreHt fds i &9 yar adan?

gifuar 300 km gt 3 AfE3 WUE Wa 7e © BET 99 T4 ISAIST enraT
3 IF TIl °H ©HTTT 3N et J I Had 8T 60 km ISTIST EHTIT w3
et g1 ©MTaT gdet d 3T EHG 4 Wi BaE I8 1 Had €9 100 km gETIT
JBAIST ISt M3 Felt W39T ¥H endT 99 3T G0 fife Tu BdE IS
JBIISt W3 TH €t gHST I8 U3T IJ |

yneest 3.7 (fegr wigna)*

1. € EH3T Iat W3 Hal &t BHa &9 3 A8 e »izg J1 gat € fuzT gafifeg <t Ova
It & GHg 3° Earet I m3 Hat € §Ha must g 918 € Ha 3T daret I
TS M3 gafiteg & Ora &9 30 A T nizg I1 I8t w3 Hat €t OHa U3 391

2. € fir3g gnd § affer I fa * Hag 3t 1é € H gue & fe@ 3T 9 9 393
&8 € T UR I wedl I gHgT afder J fd wad 3t Hé %10 € fe@ 3tH
393 3 8 I wHig I Aerar . U3t 9d 89t 9% gHed fas UR 957
(3mag 11 ¢ Harfes 3)

[Fa3 : x + 100=2(y-100) ; y +10=6 (x-10)]

3. f&'q IBaist 33 Tl f£d AHs 978 &8 3 I3t I Had dist ©f 913t 10

km/h Tur fet A< 3t €7 €7t Tt 3 I9s Bt 2 Ui Wie AHt BIIt w3

Hdd JBaist € 9131 10 km/h wer fat A< 3t §9 €7t gdt met 3 uie <u
AT B9t | 9B arsT gnaT 3 oSt gat u3T ad |

* feg yasrest yifinr &t femet 3 aat 91
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4. fe'g mr3 &9 fefenrggnt & derdt &8 ug 99T J1 wag Uarst €9 3
fefenwradt < ge 37 foq Uarst wie Jet | iag Uarst &g 3 fefemradt we Je,
3T 2 YarIhit 20 gadnt | auT3 feT fefenmadin €t farest usT a9

5. ' AABCTET £C=32/B=2(£LA+«B) J1337 € f3& a= U3 33|

6. PHIEIET 5x-y=5 M3 3x - y=3 ¥ [ fu9 Ifegst Juet »3 -y ud 575 g
37 © fiuat € fagen »ia w3 f3gw & 439es U3 9|

7. J&t fa3 mHiage Afant & I8 99 -

(i) px+qy=p-q (i) ax +by=c
gx—-py=p+q bx+ay=1+c

ol XY .

(iii) g—gzo (iv) (a—b)x+ (a+b) y=a*>—2ab - b*
ax + by =a® + b* (a+b) (x+y)=a>+ b

(v) 152x—378y=—174
~378x + 152y = 604

8. ABCD &3 9gdt 9399+ J | feH 994t 93997
TITUSTIT (FF f¥393.7)1

3.6 A9-MH
fer wiftmfe fég, 3T Jo fod aaf3mt = wiftms 3T 3
1. ¢ 98 &9 € 3t mftage feg 3t mftaaet e 337 aa@er J1 3t
mHage w3 = fenmud gu o
ax+by+c =0
ax+by+c,=0
frg al,az,bl,bz,cl,czmwwmmﬂﬁﬁ
al+ b #0,ai+b} =0 JI
2. feq 3t mftage w3 § wrat (qrel) gu &9 wamfent 7 Haer I w3
IS 3T A7 AIET T
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(i) »r&uft (qel) fedt gmmar

(i) gtarfefsa fedt enmar
3. (<) mrant feut

© vt &9 fo'g ot mflgge A3 & 9re © Juet § wangEr J1
(i) Wag Juret fig fdg '3 deehit I& 3t feg fdg 2ot milaget = fige
ﬁ%ﬁﬁd@(unique)ﬁ'&j@%l fen mfast feg mitade 737 Hars
Jer JI
(i) Hdg Juret HUTt I8 3t fere wiafares gu Renisa I8 Jv I&-aur
'3 Afe3 g9 f€q ffe I3 Jer 31 for nfest &9, mitage 737 »mifes
(Far3) Jer J1
(iii) Hdd JyTe AH3d I& 3T AHidde A3 & J¢t I8 odt Jer | form rfast
f&g, mitgae 737 wHdE Jder J1
4. Srarfefse fedt : wit f€q ot mitage A3 § I8 995 Bt Jaf fodt
fedbw €t gaur A T -

() yfzmaus fedt (i) fedue fedt (i) f39&t arer fedt
S.ﬁaﬁﬁimﬁﬁﬁmﬂmalx+bly+c1:0wﬁa2x+b2y+c2:0f‘8u_o(‘€l'tl°r
AHlage A3 § TIAE et I8, 3t I fe It Afadmt §3ds J Haet I -

(i) ﬂii—l:fmnﬁﬁﬁaéﬁmﬂmﬁ?ﬁﬁsg@%

a, 1

b

(11) = . for Afgst f&g, It milades 93 wiHars Jer J1

(ii) ﬂ:ﬂ:&; fem nfast f9, Rft mitage T3 wmfaz (Hars) der
JI

6. vadt AfEST g5 fan & Sifeza gu fee fem 3gF &t e mflaget fee
TIAfenT 77 AdeT J, 7 7 e It &7 =1 43 wirt fem & yeaf3z a9
fe'g 3t mlage 73 €9 9 Hae If

000



v w3t mitags 4

4.1 gfHar
wiftmrfe 2 89, 3 WBIT-MBIT 3T © Fguet T U T | ax® + bx + ¢,
a#0 g yarg e € w3t ggue J1 7 wirt fen ggue & fieg © 9999 a9
fée It 3t 1§ € widt mflage Yyuz Jet J1 daver Hies &g Jet yarg gt
HiHIST & I8 J9s et »it € widt aHlaget € €93 99 I I8Tdde © 39
'3 He B8 83 gafia @dre & 300 m?
Y39ey T YdEST I% TP J, fanet
Bget el 93t € darie 3 g Hied U « 300 m?2
IS IS IHT ©f BaTEt wI I3t ot ISt
grdtet 97 He 88 g & 93¢t 1 Hieg I,
37 fordt et (2« + 1) Hieg J<aft | wHt
fer Ao & 939 4.1 € gu &9 four Aae
Qull
IT TS &1 U3JeB =(2x + 1) x m? = (2% + x) m?
for et 202 + x =300 .... (fE379)
I 22 +x-300=0

fer 3et, I & 93t © w3t mfldde 242 + x - 300 = 0, § AT It
fmme3g 39 ferem J9e Is fa g6t@s evt & It A9 3 ufgst & wist
mHiagerd I8 dt3THIGerage € 39 '3 SuATee Fe e Hitmret eryzrfam 3q°
AT 7T HaeT J Ae 80T € A3es M3 Jeses fegr 39 | fomrs fe@ fa

2x +1

fesg4.1




80 difea

feg AT 22 - px + ¢ = 0 TI91 AHlIdE & I8 I9& T9aft J1 Fatat arfes
fefammst gafss & gt e u3T BarSe et fiq fmfest fedt feafis
13t famrd wirt eI3nTs meeeEt €9 © Wit miage © I8 afde It | femmug
U e, © w3t mtage § I 995 & g »H 39 '3 et g3t fefarrramt
g AeT I A &9 gUHTAU3 (598-665 €1.) & ax® + bx = ¢ T QU &9 & w3t
Hlade & I8 996 € AUre 139 fe3 At e &9, Hlugrafam (1025€1) 3
f€d 739 dfen™ fard g © w3t §39 © 39 3 wfent™ AT J1 7 Yds <91
fedt ordt © w3t mitage § I8 998 3 yuz Ifemr (fae fa sHag 1 &
fafim) | 9 wigg a3 fefarrat wis yerfamdt (Sargar 8oo &) & < f9a-
95 3gt © © Wit mfiaaet T miftrrs 3T I mEaTaH =79 fawr Ir-&mHt (Abraham
bar Hiyya Ha-Nasi) 3 1145 &9 gdt »ust yr3a fggg 897390 (Liber
Embadorum) f&8 WS ar-m&ar 3gt € © w3t miaast € yas I8 &3 |

fer miftmrfe f&g, 3t © WSt miadst w3 89T © I8 U3T FIrge
@it fda-fds fedt™ a7 wiftis IadT1 daer Hies fég <&t 3t € wish
AHiaget 2 Qutiar 24dr|
4.2 < w=t mitags
G’Sxﬁ_ﬁ’@wmaxz+bx+c:0%§uﬁ_ﬂ’jﬁﬁlﬁéa,b,cm
AT I8 W3 a = 0J 1 BEgde © BT, 22 +x-300=0 feq € w3t milad=s
TR 3FF 22 -3+ 1=0,4x-32+2=0M3 1 - +300 =0 © Wt mitgaat
TS|

WA f&g et @ AT px) = 0, 8 p(x) W3 2 =1 i ggue J, i @
w3t mtage FI8Et I Y3 AT miHt p(x) € UE W3t © wee g &9 foue
It 3t A AHigge T o fimrdt QU Yz Jer JI1 g an + bx + ¢ = 0,a 20,
¥ wrdt mitage = fipnrdt gu 9

S W& eS8 T widgdr AT w3 91fe3 & mBa-maar u3d g €
w3t Mgt e yuar Jer J1 w6 g3 Gergast sEtE |
Gerage 1 : I& fodrt mfegt § aifeza gu e fou
() & W3 I Ed7 I8 Jd& 45 ¥ IS |1 g9 UA-Ud g9 ImT fée I8 W3 g

Sust 9% dfent €t forest & JIeses 124 I vt wiaeT 9aidl fa By

fég Gaot I8 fda-fda 92 Ax|




& W3t it 81

(i) €T wos Geudr fia fes &9 g3 fude so@er J1 g9a fude v vy
(% few)s55fee feafes feu gegare fugfout &t foreadt webs Quds
Y3 "t € gamgg J, fan fq fes fuse g8 '3 9% wgg I 750 Al
wWHT 87 fes g 91 fusfout €t faredt u3T adar grarar|

IS :

() W& BY 7o a& dfent €t farest x H,
3T JuT 9% dfewt =t faregt = 45 - x (fa€7?)

6 9% 5 92 IMHE 3 g g9 dfant &t faredt =x -5
YT 9T 5 H IS 3 g g9 Hfewt &t faredt =45 -x -5

=40 — x
It T TS = (x—5) (40 —x)
= 40x — x> — 200 + 5x
= — x> +45x-200
IE —x2+45x-200= 124 (f837 J TIeaes = 124)

EiG] —x*+45x-324=0
=i x2—45x+324=0
fom Bet, 7s 9% fis 92 /i, €7 milaas
X2 —45x+324=0
3 FigHe ddd I5|
(i) Ho B8 Gn fes gee fusfent €t farest x J1
fen =et, €W fos Y3t fude g3 (qufemt f&9) =55 —x
g OH fos 48 fsane a3 (qufemt f€9)=x (55 - x)

fem met x (55 -x) = 750
I 55x —x*= 750
Gl —xX2+55x-750= 0
Gl ¥ =55x+750=0

fen =t On fos goe are fugdfont &t faedt, © w3t mitdas
xX*=55x+750=0

& H3He Jaet JI



82 difes
Gerggs 2. A9 94 fa I& fegy € w3t midae I 7 adt
() (x—22+1=2x-3 (i) x(x+ 1) +8=(x +2) (x—2)
(i) x 2x +3)=x2+ 1 (iv) (x+2)P=x"—4

v

d5 .
(i) YT UHAT= (x— 2P+ 1 =X —dx+4+1=x>—4x+5

fer Bt (x-22+1=2x-3 3
X —4x +5=2x -3 TSt 77 AaeT I

g< xX*—6x+8=0
'FEUax2+bx+c=0E°r3§"’%I
e fogt ot mitage © w3t milsas J1

(i) FfIx(xr + 1)+ 8 =X +x+8M3 (x+2)(x-2)=x-47,
fer et xX>+x+8=x*-4
ElS] x+12=0

€T ax? + bx + ¢ = 0 €t 337 st J1 fem =t fiE3t It mitaae © wst
AHlege sat J1

Gii) g UG UTHT = x (2x + 3) = 222 + 3x
EiS X (2x +3) =2 + 1§ foftmm 77 Haer 3,
27 +3x=x*+1
fer mEt 2 +3x-1=0 7S fser J|
feg ax2+bx+c=0E°f3§+%I
fem =et, a3t aret mftage © w3t mftags J1
(v) &g T UTHT = (x +2)° = x° + 652 + 12x + 8
fen =€t (x+2) = x° — 4 & fosfem 7 Horer 3,
X+ox’+12x+8=x"-4
g 6x2+ 12x+12=0 H xX*4+2x+2=0

'FEUax2+bx+c=0E°r3§"’%I
fer =, fast ot mHlages € wist atage J1



T W3t Afiaas 83
faust : fours fe6 fa Budas i) feg &3t It mHlaae 2ue e & wist
mage Faret I 43 fog € w3t mtage st J1
Suda3 (iv) feg mlage Ty feg f3s widt (w3 f3s &t mtaas) mitaas
Baret 9, e wdt st 1Jg oo € wit mfiaae I 1 fam 3gt 3t i I fa fam <
THigaE & feg usT a9 wet fa g e Wt I wf s, W 6§ oS ads Agdt J1
l]H?S'%Fﬂ 4.1
1. 719 99 fg It fa mladest € widt g A7 &dt
(i) (x+1)2=2(x-3) (i) = 2x=(-2) 3 —x)
(i) (x=2)x+1)=(x—1)x+3) (iv) (x—3)(2x +1) = x(x + 5)
V) 2x-Dx-3)=x+5x-1) (vi) ¥ +3x+1=(x-2)
(vil) (x+2)°=2x(2-1) (viii) X* —4x? —x+1=(x-2)
2. JI&t fa It Afa3tvt § © wist mitage € gu &9 5e8:
() fET mife3Targ UsTe B 439es 528 m? J1USTE T Suret (Hieat f&g),
g3t 2 dare 3 a2 I 1wt uste €t Sardt w3 93t usT 9dat J1
(i) © BIM3T TSTIH HYIS Aftmiet &7 J5eS 306 J1 MHT FUTS
Aitmret U3T IIsMT IS |
(i) 995 & H @7 38" 26 ATS €31 T1 IS 3 35 A ww Gt It
W?W%O J ARSI I AT 998 €t <I3HTE BHT U3T 9ot
JI
(v) T 3BaIST 480 km ©t Tt € IS I &7 3w gaet J 1 Had fer
@ 9% 8 kv/h We Jet 3t 6T € gdt & 3w 998 et 3 Ure <u Ant
B vt Isaist <t 98 u3T I9at I
4.3 JESU3T wrgT € WSt mlgge © I8
© Wit AftadE 22 - 3x+ 1 =0 '3 feud 93| Haa wiHt e mftade € ¥
UH Eex S8 1 ST T ITHEYUI TET T 2x 12) -3 x 1) +1 =0 =FHldde
T HAT UTHT | wirt 3fde o7 fa 1 2 wdt mftege 2 - 3x+ 1 =0T A Ys
Jifer e wige feg & I fa 1 € widt ggue 22 - 3x + 1 &t e g fiagg 91
fenmyg gu e, Ea em3fed At o€ WSt AHiddE ax’ + bx + ¢ =0,a# 0 €T
I HS FTQ T I 7T a2 + bou+ ¢ = 0 I 3Tt feg & afde It fax = o T wrsh
MHiage v 9 I8 I 7 o T widt milage § Hgne a9er I fimrs fef fa < wrsht
mwz+bx+cﬁ’mﬁ§?n§%uﬂéfmﬂmax2+bx+c=O%);I‘$f€v_orﬁ"fil'<'>'l
IAT wiftrfe 2 &9 2w I g g € widt ggue € g 3 Su <




84 afes
fgat I AaEht I8 w3 far € w3t mildge © <0 37 20 © I8/HS J AT
TS|

3t & T3 88 fifir I fa f€a € wist ggue © fegaad ue § 33
d fan 39t TEUz g 7 e I&| wHT fer fomrs € €93 € wst
AHldde T HS U3T d9s B! Jatdl | mg Tt fam 3971
GergeE 3 : JeaU3S T AT 202 - 5x +3=0€ H U3T d3 |
I% : A 3 Ufgst, it fegdas (W) ue - 5x § —2x —3x [fIG T (—2x) x (-3x)
= 6x% = (2% x 3] € QU &9 33€ TF

I 28 -5x+3=222-2x-3x+3=2x(x-1)-3x-1)=2x-3)(x-1)
fem e 202 - 5x+3 =08 2x-3)(x - 1) = 0 U &9 Tarar f&ferm 77 Haer J1

3T xT QU U gt St 22— 5x+3=08T T8 A7 (2 -3)(x- 1) =0T YUz Je
TS|
I 2x-3=0ATx—1=03 Yu3 I

3 [} 2 ~\ o 2
E20-3=0, x=7 feer Im3x-1=0,x=1fder JI

3 ~ v — Y]
Eic x=7 W3 x = | fe3t It AHlaae © I8 Ja1

- oy -3 N
gﬁm@%ﬁ,lwimﬂaazzxz—sﬁhoew/tmam
uz3® 99 o feg It fie3t Iet miftage © vs o5

fors fe@ fa wirl” 2x2 - 5x + 3= 0 © UST § 2¢% - 5x + 3 ¥ € It Teaust
&9 gu5 9 M3 999 T<aus $ fied € 99799 994 Yus o3 I51

Geges 4: ¢ w3t mlggE 602 - x -2 =0¢ HZ U3T I3 |

TS A UST T 68 —x—2=6x2+3x—4x—2
=3x (2x+1)-2Q2x+1)
= (3x—-2)2x + 1)

6x2—x—-2=0T HB x € §J HS I& fiaf et (3x-2)2x + 1) =0 I
EiS 3x-2=0 A 2x+1=0



& W3t it 85

N | =

A x=-—

=
1l
[SSHE )

ge

\S]

~ ~ 1
fE'F[B'E’T6x2—x—2=OE);I'8§ -5 73!

i 1T T (Verity) B¥ e i T T f S - mifaae
62— x—2=0 & AZHC dde I& A &1 |
Gurgee 5: € w3t middE 352 —2/6x+2=0 T HS U3T AT |
3x? —J6x—J6x+2
VBx(V3x-2)-V2(V3x-\2)
= (V3x—+2)(V3x—2)
fer Bet, milage © WS x © €9 Hs Is, fisf Bt
(V3x—2)(\3x-+2)=0

2 - A
g€x=\g T S [Zy—2=0 JI

for o, oo U 58T B3x—2 € € T »iET I9e, € T mEEr I I
feg W gagrfemT Aer J1

- 2 2=
fer Bt 352 —26x+2=0 E);I’&S\/;, \/;UI

Seage6:37a1 4. 1 €9 &3 918 yrawer o &t femrat/ Saret w3 gzet
(dimensions)lBTa_a’l
TS : I 4. 1 fE9 wiHt 3T Sarfonr |t {3 Aag 975 € 931 x Hieg 9= 37
x IHIFEE 242 + x - 300 = 0 § ASHE IaeT J | IIeays fedt €t 293 Jad, it
fer miade & It »igATg fgue It

2x*—24x+25x-300=0
T 2x(x—12)+25(x—12)= 0

IS 3x? —26x+2

ge (x-12)2x+25)=0



86 Jfez
for 3¢, fd3 I AHldge B € U x= 12 At x=— 12,5 5 | fa@ fa x I

} 93¢t 9, fon e, fog fgesva sdt J Aaet|

fer Bt g & 93¢ 12 m I for € SgrEt = 2x + 1 = 25 m It

YHSTST 4.2
1. JIeays fedt It I3 fou € wist mlage © vs u3T ad|

1) x*-3x-10=0 (i) 2x*+x-6=0
(i) V2x2+7x+5J2=0 (iv) 2x2—x+%=0
(v) 100x*-20x+1=0
2. Gurgde 1 &9 &3t mifimmet & I8 941
3. € Hitmret y3T 99 fagh 87 743 27 M3 I35 182 I<
4. € BAM3T US HYIS AtmIet U3T I frgt € T9ar €7 13 365 < |
5. ﬁamﬁgﬁﬁ@wmémﬁ7cmuﬁﬁlﬁaﬁm 13 cm
J< 37 gl € gAer us3T I4 |

6. T wom Gevdr f¥a fes 89 99 9935 sa@ e J1 f¥a fes fog <fumr
farur fg I3 g93 < fsane T3 (qufemt f29)En fos gee I
g93aT d AfeT € g91e 3 3 <0 |t Had OF fes € 35 faaus sas
%90 Ht 3T F fos gae I ¥93«" = Hit w3 93d &91 § g &
BI3 U3T IJ |
4.4 YIs =g gQ< © feut ot € w3t mitags § I3 g9
fug® grar i[9 AT, f£d € w3t miage € W& U3 995 tf feq fedt g9
ufgnr w | fom grar f89 »it foq J9 fedt w9 ugiar

Jo fedt mfgst '3 fegrg 99 -

13T & © W ufgst €t @Ha (st f89) w3 g 37 99 I gmiE ©t BHa
o JEse® Ondt @a3ns OHg € T 9 3 9 S J1 81 € 293Hs BHa ot 37

fer v €°39 T B, Vs 8 6n <t Ta3vs BHa (rrst fée) x I 3T Em
2 A& Ufast df BHg w3 Ie 3 4 A8 g ©f BHT 7 9186e8 (x - 2)(x + 4) I

fem et x-2)(x+4)=2x+1
Eic) X +2x-8=2x+1
g X¥-9=0

for set, matzr &t Tg3Hs Gvg © wit mlaee 12— 9 = 0 & H3we Jget J1



& W3t it 87

it fer & 22 =9 T U 39 foy Fae 91 T99T HS 3T "I AG x=3 A x=-3
Y3 der J | fagfa Ova f&'a ua3na wftmr et I, fer et x =3 It Iear
fer e, HalzT € T93Hs BHT 3 S T

I g Wit AHiaaeE (x+2)2-9=0 '3 {99 931 I& I9& Bet At fen &
(x+27=9 2 U feg fEy Ao T TITHS BT S AG x+2=3 A x+2=-3 Y3
Jer JI
fer et x=1 # x=-5
I (x+22-9=0T HS | M3 -5 TS|

Qudaz B¢ Gerggst &9 x @ yw ydt 39t <9q1 € »ied I W3 At
TIT HS & d WS 5T HS U3T 99 BT AS | Y3 #dd 7S AHdde
X+4x-5=0 & IS IIS BEt fagr #Aer 3t o Jer ? wit wfee fem §
I8 995 B! gesus fedt v Yuar 99 A 39 A fed U3t st Bar Ater
fa, 2 +4x-5=(x+2)2-9 JI

FTE R +4x—-5=0F IS IS (x+2)2-9=08 I& II& & AHS J | o mHt
Sfimr fg 831 It 9% J AEt I ivAs & »iAt fan & € wist mftgae §
(x+a)-b*=0 ¢ U €9 fgu Aae g w3 feg fer & g mmst 58 Uz Sar
Ao J7 oG ete, ot feg Hae 97 939 4.2 B4

for fa39 f&g, Wil 2ue I 3 far 397 2 + 4x, (x + 2)? — 4 &9 928 AieT J|

X 4 4

X X 2 2

x +x =X =x

X +4x X +dx X+ 2x+2x

X 2 2
x

: 0 g ]
2 2
2 2
2 x+2
(x+2)x+2xx (x+2)x+2 xx+22-2° (x+2) =2

fo339 4.2



88 gifes
feg Yfgmr It wigAg J

= x>+ 2x+2x
=xX+2)x+2xx
=(X+2)x+2xx+2%x2-2x%x2
=(x+2)x+(x+2)x2-2x%x2
= (x+2) (x+2)-22
= (x+272-4
IE&  C+dr-5=(x+2)-4-5=(x+2)-9
A 3T R +4x-5=08YTS I T d (x+2)2-9=0 € U &9 fafimr
7 AaeT J1 fer § ugs =991 se@e <t fedt s wrfen At 31
Aoy &9, Jat wisAd feurfent 77 Aaer J

4V (4Y 4\
2 =|x+—| —|=| =|x+=| -4
rrdx ( 2) (2} ( 2j

EiC) X2 +4x—5= 0% T IS mEAd S 77 Farer J1
42
x+—| —4-5=
[++3) 4520
e (x+22-9=0

g AHldE 3% -5x+2=0 '3 fevd 93 | fmrs fef fa 2 = I yas
<391 st J1 for mHtaaeE § 3 &% 918 998 '3 FS YU geT J

I —15x+6=0
Je 9 —15x+ 6= (3x)2—2><3x><%+6
2 2
= (3x)2—2><3x><§+ 3V (2] +6
2 2 2

2 2
(3)6—2) —é+6 = (3)6—2) 1
2 4 2 4



& W3t it 89

I 9%~ 155+ 6 = 0 § I&" WEHATT fafemm A7 FareT I -

5V 1
3x-2| == =0
3]

EjS] (3x—§j2—l
2) 4
N - 5Y 1 -
fer Bel, 92 - 15x+6=0T QI HBs T5 3x—§ =, 23l
i 3 >_ 1 w3x—§ L
T2 T 27 2
. [s) 1 N N 0 2
(At fer & 3x-2=%7 g+ us »3 fae & SaA@eT )

g _§+l1—_|-i- —2__
““6 6 6 6
. 4
fer =&t leT-ITx:g
. 2
Eic x=1'T-|Tx=§

fer et 23t aret mitage E vs 1 »i3 % TS|
feust : fom & I 995 & gt fedt It wigmg J
AHigaE 32~ 5x+2=0

Py 0
3 37

edtg

s



90 difes

g > 1@%’ 5+1 13 >_1
- — =x — = —T— = = ——— =
T TTe " T 66 =% 6

Qudas fedt & mHge Bet, w93 I3 Gurgdet 8¢ IT

g%l
3

Gerges 7 : Gugde 3 o o3t oret miftame § yos se@e & fedt ordt I a1

% :AHlddE 22 - 5x+3=068R T A xz—%x+%:0%|

= 25,03 (x_zjz_@zg _ (x_éjz_i
N 27 27 4 4) 2 4) 16
o 5 : 1 . 2
feH et 2 - 5x+3=09% x=7 —E=0E°r3¢f&;l"tmrrwna@zn
N ~of 5V 1o
g2 AHlddE 202 - 5x+3 =0T HB Gt I & ¥= ) O RS
2 2
57 1 a - A
Iz -~ -== @zﬂzr?r( ——j =—d
y (x 4) 6% 1) 16
5 1
fern ot X—— = k-
4 4
5,1
E = —t—
YT 4Ty
YT 4 4 4
3
EiS x=ET-ITx=1



€ W3t AHtaas 91
g ge fegt yat & 7ig Jdle|

J 3 N\ (2} 2 (2} Y
2x2—5x+3=01‘e—u'x=5§36’3w§2@j —5(%) 3=0 yus Jer I A
At I1fen 37, 3 fewr Aae J fa x = 1 & &3t aret mitage & Hawe sger
JI
Surgge 7 &9, Mt mtdge 202 -5x+3=03 2 7% F9T dds '3

5 .3 -
¥ Jxt s =0 Y3 37 H fAH o7& ufasT ue ygs <g9qr g fami™ w3 feg
SI91 S YT 137 fer & gare wiHl Ard UeT § 2 575 91T J9d & Ufas ue § 4x2
= (2x)* §7 Ade At W3 feg yas <391 57 BT

fem fedt & worst Gergas f&g mHsTomT famr J1
Sergezs § : YIs T9q1 g w1 feuft 3% MHiaaE 52— 6x-2=0¢€ HZ U3
Ecl
J% : fd3 I¢ mitgde & 5 &% 9IeT 998 '3 WAl YUz J9e IF
25x2-30x—10= 0

feg I f&3 € AHS O
(5x)P?-2x(Bx)x3+32-3-10=0
g (5x-3-9-10=0
g< (5x-3)-19=0
g (5x—3)*= 19
g 5x—3= +.19
ge 5x= 3++/19
+1
for et x= 3419

5

ﬁFrBE'JF,);I’E?’_H/EW@?’_\/E

S|
5 5



92 difes

34419 - 3-419
+;/_wr3r N9

US3™S 99 fd U 5

Serges 9:Yds <9 gaPT © fedlt 35 42 + 3x + 5= 0T HS U3T AT |

5% . fors fe@ 4 +3x+5=0Ja fsd € AHS T -

(6 -6
P +2x@Yx 7+ 7] ~| 7| +5=0

4 4
2
g (2x+§j —2 5=0
4
g 2x+§2+7—1 0
4 16
2
g (2x+%j =l 09

Y3 mirt Aee It 9 fan €t em=fed v et (2x+%) fgeaHa &t I
Ao (fa87) I fer BEt x T et & U fest I¢t mlage & Agre odt ager|
fer e, fegt I¢t mitgde € det em3fed He &dt I

I 39 3AT Ygs 991 gerge f fedt @8 et Gergde 2y I fen
et g fen fedt & fenmua gu Eeie|
T W3t AlaaE al +bx +¢c=0(a=0)§3 feg T ITI AT UEF & 0 &8
I3 '3 A Y3 Jer T Paleilog
= = ' a a

fern =et, fen mtage & wrt fer 37 fou Aae of

(o) )+
x+—| -|— | +—=0
2a 2a a




& W3t it 93

( bjz b —dac
g X+— — =0
2a 44>
fer et fie3t ot mitade € us g3t Is, &
b\ b*-dac b\ b —dac
x+—| - —=0,9<T |x+— | =——— (1)
2a 4a 2a 4a

T IS HAT b2 —4ac >0 I 3t (1) € TJITHS B '3, A YU JeT I

b +\b%* —4ac

X+— =
2a 2a

forr ot ~b+~b* —4ac

X =
2a

—b+b*—4dac w3y b= b* —4ac
2a 2a

b2 — 4ac > 031 87 AfEST &9 78 1 - 4ac < 0 I2 3t AHigge © HS ew3fed

a4t de 1 (fag™?) |

fem Bt 79 b2 - dac 207, 37T WA MEIES ax? + bx +c = 0T US

—bx\b*-4a

; ko]
a

< w3t Algde € S U3T 935 =1 fer fedt § € wst B39 (quadratic
formula) Jfde I |

T w3t 739 € 93 € BT wil g3 Gurgdet '3 fewd ot

Gerges 10 : yraest 4.1 € YIS 2() § © Wt H39 378 IS d3 |

I8 : He B8 usTe &t I3t x Hieg I 3T &amet Qv+ 1) Hieg TS fezr g fa
x(2x+1)=528 TR 22 +x-528=0 JITET ax?+ bx + ¢ =0 = 3 Mtagge I
8 a=2,b=1,c=-528 JIfen &et € w3t 039 575 Wg YUz Jer J -

-1 J1+4(2)(528) —1++/4225 —1+65

4 4 4

J5, Hdd

ITal+bx+c=07¢ HE




94 difes

e AN
YTy 4

. 33

g<e x=16 HT x=—7

fa€fa x fea uATg (F3et) JI< arde faesna adt” I Aaer, fem st
ygTe €t 937 16 H: w3 Faret 33 W J |

30§ 8T U3z 99t grdiet I fa feg v yis &t ma3T § Yo 9ae Is |
GergeE 11 : © mfadt Bar3Tg i TET3Ha HYJS Hitmret U3t 99 fagh @
9T BT HI 290 I |

I5 : Vs BE € BAr319 id UsTIHT HYIS Aftmet &9 82t Hyas Hitmm x J
3t gt HYds HivT x + 2 ISaf | YIS MgH™g,
X+ (x+2)>= 290

g X2+ x*+4x+4 =290
g 2x*+4x-286= 0
g X2+ 2x-143 =0,
7 x &9 ffg © w3t mftags J1

< w3t 739 € T93° ddd mHT Tue If fa
2+ J4+572 24576 —2+24
=

X = =

2 2
ge x=11 A x=-13
Y3 x € ua3Hd o Hygs Attt J1 fem SEt x = 11 I<ar fagfa x=- 13
a1 I AaeT | fer Bet €2 Bar3d Tfd USTSHY HYJS At 11 M3 13 I8 |

UZ3TS 112+ 132 =121 + 169 =290 J |

Gergez 12 fBawrfezrarg uga & ga@erJd fan €t 93t fer S &t s 3m
w2 J<| for = u39e® ufgst 3 g f£'q AaHdgHt f3deag uda, fam =t
W We3TgTd UTdd € 93Tt & gdrad w3 89rel 12m 9, 374 @dar Hiea Su
J1 fer wifeztarg urgay €t Saret w3 93t u3T 9|



& W3t it 95
I5 : He B wifezarg urad &t 93¢t x m I
fen =, fordt &gt = (x + 3) m It

fer Bt »ifezTag UTgd €7 ¥39ES = x(x + 3) m” = (2 + 3x) m?
JE AHEgH! f3dE @ WU g =xm

- 1

%ﬁwm@m=5xxx12=6xm2 12

YAS W&H'T, -
¥ +3x=6x+4

g xX*=3x-4=0 x+3

T w3t §39 T YWl I9d A1S YU JeT J

3£25 345
2

Y3 xz-19 (fg87) 1 fem &t x=4 J|

fer wet uga & 93t =4 m w3 BEr = 7 m Ieat

USI™H MTE3TdTg U'dd & §3deS = 28 m? J|

=4H -1

X
fes94.3

\S]

al

EERICICRVIGE T Y3IEH = 24 m® = (28 —4) m?

Gergez 13 : © w3t mflgget € WS, 7dd Hae Je, 37 € w3t §39 v Yudr
9o U3T BIMG |

(i) 38 -5x+2=0 (i) 2 +4x+5=0 (ifi) 20 -2 /2 x+1=0
IS

() 32— 5x+2=08e 8 a=3,b= -5 ¢c=23 for B, b - dac =
25-24=1>0JI

JI

+J1 5+1 = .
ﬁamw@m:sgf:% J,Iex=1 49 x=

2 S
%Frge%tr&sgwmm

[SSEE )



96 difes

(i) X +4x+5=08%; B8a=1,b=4,c=53I A B b - 4ac = 16 - 20
=—4<03JI

Y3 fagfa fan emzfed Ffimr @ Tgar faesna adt I Aaer, fen wet
Jo*— dac = WS THSfed t Jam
fer et fie3t Jet milage © Jet em3fed us adt I5|
(iii) 202 — 22x+ 1 =0Be:; €8 a=2,b= 22,c=1JI
fer et b —4ac=8-8=09I

230 VB, a1
oy et xzf—TiO U,?‘E’x—ﬁ J1
fer =&t

¥ 5

Gergas 14 : It faIhit miftaggat & vs u3T 99:

1 1 1
(i) x+—=3,x#0 () ————==3,x%0,2
X x x=2

v

J&H

1 N ~N . ~ B ~ .
(i) x+—=3 2 B : AIF U & x 203 JI&T II& '3, WHT e IT:
B S Y3

x2+1=3x
ge 2 -3x+ 1= 0,7 f¥g g w3t alggs J1
fer =t a=1,b=-3,¢c=1dI
for et b—4dac=9-4=5>0

+ .
forr wet ‘= 3—2\/5 (fx6-?)
ﬁnge%}:r&s“z\g I 3_2\/5 T3
(i) ————=3,x#0, 2



& W3t it 97

faQfa x»0,2 J,fen et AHtgaE & x (x—2) &5 I I "I Mt YU3 Iae
gm
x=2)—x=3x(x-2)
= 3x?— 6x
for ot it It AHidge 988 o 32— 6x + 2 = 0 9 At J o g & WSt AHigges J1
feg a=3,b=-6,c=2J1 TTASE »*-4ac=36-24=12>091

6+V12 61243 3+43

for et x=
6 6 3
3-3

3+J§ -~
M3 —— IS |
3 3

fen 3et, vg

Gergaz15: foq faust, fardt ¥3 uet €9 978 18 km/h J1 24 km T &t € B2
femr @9 e e, fedt gt uraT & femr feu 7re et Sar A 31 Uer Su At
B 1 TrgT &t 98 u3T I9 |

J% : He &G urar & 98 x fa.km/h T

fer wet urgr <t Bm< forr &g farst € 978 = (18 — x) km/h W3 TraT & femr
feg famst €t 978 = (18 + x) km/h T

EEil 24 .
e et feuT fapr AT = —= ure
I8 18—x
- . . . . 24 o
ﬁaﬁrw,wﬁrf@m%—ﬂwwmw:lgﬂm
YHES MEHTT,
% A X
18—x 18+x
ge 24(18 +x) — 24(18 —x) = (18 —x) (18 + x)
ge X +48x—324=0

© w3t §39 €7 YWaT 99, A Y3 Jer 3

—48++/48% +1296  —48+/3600

X = =

2 2




98 difes

_ —48%60
a 2
fa@fa x grar &t o3 I, fom wet fog faezva it J Aa<t I1 fer et
WA HS x = - 54 $ &3 fee It fer &€t x = 6 3 Al Y3 9ae It fq urgr =t
T 6 km/h J1

=6H - 54

YRS 4.3
1. 799 J& et mtaget € Hg Aae JT 3' Yds <dd1 gege = fedt

It U3t Ig|
() 2 -7x+3=0 (i) 2> +x—-4=0
(i) 4x2 +43x+3=0 (iv) 22 +x+4=0

2. QudI3 yrs 1 o9 &3 a8 © wist milddet € H& © wist H39 & yud
Jdd U3T BTG |

3. Jof fedmit miflddet © H& u3T 99 -

1 111

X x+4 x-7 30

4. 3 A Ufgst gfors &t GHg (At fSe) M3 ge 3 s s ge St GHa @

. - 1 EN “

@_B?_Q(HTETFIE; J1 Bret €a3Hs OHT u3T I9|

5. fed At e o9 ferat © arfe3s w3 it feg yuz i3 wiat erwg 30
J17ad Gng aifez &9 2 wia Tu w3 vt 8T 3 Ui we i Je 3t
Sre viat T IEaes 210 JeT| G wviraT B fefimr &9 yuz wig uzT
I

6. T wifestarg 43 e feade On €t 2t 977 3 60 m <0 B9 J | 73d 31
AT &< IAT 3 30 m =Y Jd< 3T U3 EMT gATeT U3T I |

7. & AfgnTet 2 SJdT 2T W3d 180 J | &1 AT BT 2ddT, <31 Afe™ & wig
ST I8 Al U3T I |

8. i 35913t B AHS 978 318 360 km 7 HEd 3 Jadt J1 Hdd fog o8
5 km/h 20 Jet 37 6T OF A BEt 1 Uer uie AT Bt I8dist € 9 u3
el

9. ez afeadnd 9% Ufenr &9 99 AdET I5 1 €3 form et

6] x—lzlxio (ii)




T W3t Afiaas 99
2, We fomm et 22t 3 10 U Wie Ant $Et J1 939 2t emraT IR
& 95 BET fomr famim M uzT 991

10. Yif{3HT 3 Bfwier € fegarg 132 km/h TTHET A9 BE g wiaAyH
JBarst, AeTdt 91Et 37 1 Wer we mHT & J1 (fegama® AeneT € gae =
AT s &9 a7 Sfowm 71Q) | Hag WaRUR € %A 975, AeTdt arst €t
WA 978 3~ 11 knv/h T 32 3T 82 I8 ISt €1 »iA3 978 U3T I |

11. € TJIN E U3JSH €T 173 468 m® J | 7dd ©FT & UfgHnut =7 %39 24 m I
37 &< SJdT &7 gHTeT U3T I |

4.5 wat <t yigst

fugd gra1 &9, 3 Sfmm I fa MiaeE a + bx + c = 0B HS

— b+ \b*—4ac
2a

THTGT 3 J€ TS| HAT b — dac > 0 I, 3T ot € fds-fds emsfea v

\/ —4dac b \/ —4ac Uz 9 T
a

24

X =

24
b

- b b
HAT b2 —4ac=0d T x= —=+0,FTx=—— AT—— J|
2a 2a 2a

-~ N SN _b
§1€H)-i|6!8€€ax2+bx+c=0€E€_);l'8 ZUKI
fer et WAt Ifge gt fa for Afast feg © wist AdiagE a2+ bx +¢=0
< © ¥979d TH3fET HS T3 |
HAT b? — dac < 0 J 37 wifadt aet er3feq At sdt 9 far & <gar
b —4ac I | for T fen Afast fifg © w3t mHiage © aet ersfed Us &t I51
fa6fa b2 - 4acfEUB'WBEETUf_O(EUF3°fm-ﬂ_OHEax+bx+C—OE’W
TH3fed I& AT &t fEFrBe%bMacserunB%m-ﬂmET%Hfmﬂzw
(Discriminent) fqar #AeT J1
for =t € wit mftags ax? + bx+c=0 &
(i) © f95-fds emsfea s I8 95, Ad9 b2 - dac > 0 2|
(ii) € g9v99 TH3fed Y& I TS, AT b? - dac = 0 J2|
(i) St TH3fed WS It Jer, HAS b2 - dac < 0 I

e Wt ge I3 Gerade’ '3 fegd 9de It :



100 difes
Burgas 16 : € WSt AHiddE 2x2 — 4x + 3 = 0 = f3AfGHE T U3T 99 W3 feg

Hat & g3t =r u3T Barg |
J% o3t aret mfteaE ad + b+ c=0 S QU R I 8 a=2,h=—-4 M3 =3
J1 fen wet fanfais =

b —dac=(-47—(4x2x3)=16-24=-8<0J
fer 3, f3 9 mHtage  JEt emsfed vs adt J1
Segaz 17 : 13 Hied fonm @3 f€d gagrarg uda & ud '3 feq fig '3 fia
HgT fen 39t 9ise J fa fem ugq © fa form € 2 fafonm '3 5¢ gea A
W3 B 3 U Tt gdtoit BT 39 7 Hieg 92 | oft mifior sge Hee 37 7 J9%,
3t 2 ereat 3 fdat - fdat gdt '3 dar g Iear?
IS . WMB A 3 ufgst g fd3g sa@ e If (eu fd3d4.4) |

N
Yo B8 ¥ <t 3t AfastPd w3 ¥I &t <7ea B
T g x HL I IEBP=x m JI ge ¥ &t g
eredt 3 Mt B %39 = AP— BP (T BP—AP) =7
m J1 for Bt AP = (x + 7) m <4t A
I AB =13 m J1 fa@fa AB fenmr I, fom =&t
ZAPB = 90° (ﬁ-@—-?) 1‘?334.4
fern et AP+ PB2= AB? (urgterdign faGan 3))
g (x+7)+x*= 132
Eic X2+ 14x+49 + x> = 169
Eic 2%+ 14x—120= 0

fer wet, ¥ € eed B 3" gt v mlade » + 7x- 60 = 0 § H3We I3t JI
feg Ty Bt fa wmfgr Hee J At s, w6 fem © fanfaftde '3
fegrg Ige ot fem e ferfoftd e 3 -
b2 —4dac=7"—4x1x(-60) = 289> 0
fer met fie3 o © Wizt Alage © € eRs3fed HS Ja M3 ¥d S Udd &
WJ '3 I 7T HaET AIL I
T Wit AldgE 2 + 7x - 60 = 0 & W3t H3T ©ATT I8 996 '3 MHT
U3 gae It
-7+£+289 717
2 2

X =



& W3t it 101

for Bt x =57 1231

fagfa x, ¥9 w3 gea B € fegarg €t gt 9, fog uasHa It gttt 91
fer wet x=—- 12 & 83 fde gt feg Bt x =5 T

e g, 9 Udd T WI I Ted B3 5 mM3 T AT /|32 _5> =12 m
@t gdt '3 9z I

1 N - N .

@_E"UEIEIS:m-ﬂaEIE3x2—2x+§ = 0 & fsafgHla e u3T 99 w3 feg vat
g3t 979 €F | Aag U TH3fed I8 3T 83f w7 uzT Zarg |

o . 1 -
J% 889 a=3,b=-2, c=3 JI

A 1 -
fem e, f3Rffia 2 b2 - dac = (- 2)2 -4 x 3 x 3=4-4=0J1

Fe € W3t AHlgade € € 99799 THIfET U IS |

YRS 4.4
1. It fe3 & w3t mlaget € wat =t Yigat & U3t Barg | 7dd US HIe
J= 3t Gt T u3T Fark:
(i) 22-3x+5=0 (i) 32-43x+4=0
(iii) 20— 6x+3=0
2. I fE3 gda e wst aflade fe gk e nifAo s usTad faBre @

H99d HS J|
(i) 22 +ke+3=0 (ii) kx (x—2)+6=0

3. ot wifagr »igh 21 wirfezrarg grg1 BarSer Aee J fAn €t Bu, 93t o8
It I W3 o T ¥39es 800 m? I | Hd Hae J 3T ford! Sardt w3
EELSRIEUCEH

4. ot I&t i3t mfgst Hae 37 w9 If 37 @t T TI3Hs GHat usT I |
< fifzat Et GHat w13 20 A® J1 99 A ufgst G @t Grat
(A&t {9) € qIe5es 48 m Hi



102 afez

5. ot UfgHmy 80 m 3 ¥39ES 400 m* € f€d Urgd & gaGer Hae J7 wad
J 37 Gret St w3 93t u3T I9 |

4.6 AI-MHA
fer wiftpurfe &g, 3t It fgg gafsuit e wiftmis iz 3
1. E’Exﬁ?ﬁa@Ul3|m—ﬂaﬁax2+bx+c=0%§uﬁgzjﬁ%ﬁ-ﬁa,b,c
TH3fed Aftmret I6 W3 a=0 JI
2. feq em3fea At o © W3t AHIAaE ax + bx+ ¢ = 0  fEa HS JI@
%, T-\I_O(_d'aocz+boc+c=0€l%|€ful'5‘ Wax2+bx+cwma+m§@
WSt AflddE  axt+ bx+ c = 0T S B It I2 IS
3. A9 MHT ax’ + bx+ ¢, a» 08 € Ul Jesus i€ 9 9v8 AAle 3wt &
urt AHISGE ax + bx + ¢ = 0 © HS, IJd qea83 & ST € 99799 ddd
Y3 Jd Hae I
4. Ygs 2991 gge w fedt a5 & € w3t mftdde & 35 o137 77 HaeT I

o o ~ —b+b? -4
5. WS 39 : T WSt mfidgE av + bx+ c= 0T UG 2—“6 onTgT
a

g’”‘fj@ﬂ?ﬁaﬁ b —4ac>0J<|
6. g € w3t AHlags ax2+bx+c=0,a¢0'rﬁv_tf
() € 9595 ema3fed vs I€ T8, - dac>0J<|
(i) © g9 S I HUEt er3fed U8 I T8, 79T 1 - 4ac=0 I M3
(iii)y €T THIfET S &I € 7T b* - dac <0 I

HEe AHfmret € Afest €9, yuz I8 € 79 /U338 Ad
T gaEl 9t AHldde 3 ot gsfa ug mH i fe 83 are
yf3dat gnrar i3t met grdtet I (mfemm 3 € Gergae 11, 13,19 W3
wiftfe 4 € §E79d< 10, 11, 12 § €Y |




ARITHMETIC PROGRESSION

5.1 gfiar

3t feg wga <fr Jear fa yfast ffg wdat eagnrt fEq fonfaz sya
(pattern) WMEHT gt I, A HanHdt © €8 it Yuzhi, afge Tt
Wit 2 83 fe g 29, Ba g8t feg v, fEa wiaem w3 f&q utets 9 (Pine
cone) @_% 3_?3'8?’6’ (spirals) e |

IE AT miye darsT Hies &9 Un »ide T8 sHfont €5 fimrs fée i)
IZ MfAd Berade I% -
() dtor & ¥ Sadt et gadt U3q fazT w3

St fouast I aret 1 §rd feg dadt 8000

Hdle™ 35U w3 T 500 TS <1 €t HI3

'3 o3t aret| Gt 3sug (qufent fE9)

ufgs A, TAJ A, IHJ A wife Set

FHSTT 8000, 8500, 9000, ... Il
(i) fea Ut © St & Sart Jot 37 €ug

<5 & B IS QU 7% 2 cm Weet At I

(€9 f939 5.1) | A 3 I8 I3 o Saret

450mﬁlﬁfuﬁ'@,§ﬁ,ﬁﬁ.... =9 5.1

Sfant et Sarehut (cm fE8) FHETT45, 43,

41, 39, 37, 35,33 W3 31 TS|

N v — o - . 5 “ . N
(ﬁ)ﬁnaﬂgwf@ﬁaﬁrmswwy—ewz J&T I 7Aer JI
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%8000 € HS ITHT 3,6, 9 W3 12 AT € ¥ AHT YIT I '3 IHI
(qufent f&9) gHeTa:
10000, 12500, 15625 M3 19531.25 J AT |
(iv) I 1,2,3,. .. feareu (units) @& Tdart &g fearet egar <t Aftmr (24
939 5.2), gHeF 12,22, 3%, ... JI

fg395.2

(v) HAS wiydt B34t &t g f&g T 100 B A uS et 3 7 B0 Ra A
o I At I W3 99 A® Or f&9 T50 = @ gadt Al J1 8R € ufa®,
o, 3HJ, 98 AeH fos 3 9isd e utet aret gan (qufent fee) gHea
100, 150, 200, 250,...d<dfI

(vi) ¥t T &g 737 e ufgd HAtS yiss 998 © WaT adt J1 gHd W3
for 37 gmie 933 WiiE @8 HOlS &g BT f¥a oef 13T Uer dae I& 1 Jdd
B HIT MUT TH M3 IId mEE T8 WS ©ds e ot wgT UeT J9e
T (S° 939 5.3) | fog Hae I fa fan &t yadm €t i3 adt Iet, ufas,
THY, 3T , . . . 8¢ HJTS © 0y €9 yaamt € Afawf €t fareat gveg
1,1,2,3, smsfsae—dﬂl

1 ﬁ’u’b

1 \‘ V

sié&a QAA@QA&: Gl Ol
v v v N\ v fh
8 Oudo O9o e e el Ch¥e B B



o IfE3d B3Pt 105

Sudas Gergdet &g wHl" 99 aHd Tue It g9 &9 »irt Sue of fa
T T8 ye vy ufgd ue &9 f&'q afgg it s s yuz Jer g, 99
T5 M3 I3 I3t iTg wirt Sue It fa feg ue Sar3a Hitmret © 2991 I8, »ife |

fer »iftmirfe feg, »irt fegst &9 fea aud & wiftmis gatar fam &9
WMET T U My 3 Ufas ue &9 fia farfus witm w3 a5 yuz Jo
J 1wt feg & Sutar fa fegt € n2 e w3 o Uet T 13 fan 3gt uzr sizr Afer
I w3 fer famis e Yuar, dmsT s gt AHfimiet § I8 996 St 931l |

5.2 wig difesd B3t
Hitmret € st fd3hr gaht (Lists) '3 fegrg 99
(i) 1,2 3, 4,...
(i) 100, 70, 40, 10, ...
(iii) -3, -2, -1, 0, . . .
(iv) 3, 3, 3, 3,...
(v) -1.0,-1.5,-2.0,-2.5, . ...
At € 99d "t fE T U= (Term) Jo8 €t J1
Sudas gt &9 goa Het fe9, Had 3978 fEa ue fézr Je, 3t 4t 3t
Srer wiorsT U fgy Aae 97 Aag I, 3t 3HT wifaor fae” adar? wifee fan
aHS 7 fouH € €93 9a¢ I, IHT mfigT g9 1 M@ Gudas mat & Tufte
w3 fegt fegarg AEfuz fount § fodte |
() 9 IdT yE mue fugg ug 37 1 <0 J
(i) e 939 ue »mye fUesd ue 3 30 We JI
(i) &9 I3 ue e fued ue €9 1 738 o8 yuzs Jer J
(iv) f&9 A3 uT 3 I g€ 99 ue me fugs ue f&e fieg A3 (At fasg
ureT o) Yz Jer Ji
(v) &9 93a ue mue fugs ue &9 - 0.5 73 (A 87 feg™ 0.5 wer 3)
yuz Jer J1



106 gifez

Sudas Hawt feg gda 9 wirl” Sue Of fa wie o8 uet § »iue fUes
yet &9 fed fonfas wftmr 73 3 YUz o3 mer J1 Aftmret &t wmindt 33t § feg
faar Ater I 13 oo »ig aifefsa =t (Arithmetic Progression AT A.P. ) 97 3d I |

for Bt fia vig-arfefsa Bt wftpwet €t g windt got 9 fam few g9
ye (ufgd ue 3 fasi) wus 3 fuss ue feu T fonfes it A3 9 yus
Jer I

feg ferfas Aftp™ A.P. € Wi %39 (common difference) JIE € J 1w
39 faq feg AT %39 us3Ha, fae=va 7 fiieg I AgeT J1

g A AP T U UEE ¢, EACUE & .. .,n € UE & a W3 HAST
33 & d 578 TIHER | 3T AP, a, a, a, ...,anzrw#r—in
fem Bt az—alza3—a2:...:an—awl:d_:fl
AP T g3 J9 Bvgde I fou I
(a) foH Ha® € AT & AT o9 € 939 &9 uz 99 fefenmaghr et
S 9rent (cm. 7€9) 147, 148, 149, .. ., 157 IS |

(b)ﬁﬁﬂﬁaﬁvmﬁmmﬁma@@wﬁﬁm@uﬁfwm
(fsardt Rarm f&9) Tue gv &9 fous '3
~3.1,-3.0,-2.9,-2.8,-2.7,-2.6,- 2535
(©) T 1000 f¥q gau fed” g9 HAS 5% JIaa™ SUH Jd& ‘I gdl IHMHT
(qufemit 129) 950,900, 850, 800, . . ., 50 IS |
(d) faH Ag® T AH3T 1 37 XI1 39 © €0 3 20 ¥d YUI J95 I
fefenrgegnt & i3 e @3 sare fea (qufent f&9) @H=d 200, 250,
300, 350, .. ., 750 TS|
(e) e % 50 Yf3 Hftest &t gu3 o3t Aiet 3t 10 HAfont Bt gaa Hdfts Eniz
&9 9% g93 (qufemt &) 50, 100, 150, 200, 250, 300, 350, 400, 450 M3 500 T
feg 33 mifgmm set gfenm Ater J, 3T Fure 39 fa Gudas feg
Jod B3t €7 AP, faG” J|
3t feg Sy mae I fa
a,a+d,a+2d,a+3d,...
fEd viq gifeza B3t & Tar@ et 9, frg ufgsT Ue o I M3 AT »IZT d J1 fem
3 A.P. T W™ U (general form) IfJT TS|




o Ife3a BIPAT 107
foms fe€ fa Budas Gerade’ (a) T (e) fE9 UeT €1 At HIfHI (finite)
J1fem 3g7 €t AP & €3 Hifuz A.P. AfE 951 3HT feg &t Sy Aae J fa fegt
f&9" I39 A.P. T 5 wif3H ue (last term) I | feR Fra1 €t Bergaat (i) 37 (v)
f&g fedmt AP HifH3 AP odt I& 1 feg wHifH3 A.P. (Infinite Arithmetic
Progressions)&@@W%lMﬁ-lﬁA.R ﬁ‘ﬁ’ﬁﬁHU‘t’?ﬂ*Zj@l
ge fea AP € 9 89 7ies 3et o8 We we fagst nosr €t Agas det
J? ot fere ufg® e &t areardt aret 97 A7 ot fer € 7S wizg o areardt
et 97 3 <udl fa 39§ fegt Ot Iw ufg®T UE o M3 d ST ¥izT &
wEardt It Agdt I
Qergde € 39 '3, Had U Ug ¢ =6 I W3 AT W3 d=3 J 37
6,9,12,15,... AP.JI
WMIAIda=6M3 d=—-3J 3T
6,3,0,-3,... AP JI

fen 3gt A
a=-7, d=-2, 3-7,-9,-11,-13,...AP.JI
a=10, d=01, 371.0,1.1,12,13,...AP.JI

. 1 1 N
a= 0, a’=ll, 370, 1-,3,47,6,...APJI
2 2 2

a=2, d=0, 372,2,2,2,...APJI

fer B, 7dd 3976 o M3 d T UIT IR 3t IHT AP fou Fae I fen &

8se Yfgnr © g9 &9 3T ot Jfg Aae I7 3@ Add 3¢ Aftmet & &g
B et Ie, Sttt IfgAae I fafea Ra AP I3 fea fer 3 a3 ¢
T UIT I HAE J7 fa8 T o ufas ue 3, fer set fer § mmrst a7 fofim
7T AdET I 1 wHT wree I fa AP, f&9 9d9a »i@T T uE v 3T ufag ue
€9 d 73d Yz Jer J1 for BEt fog AP © Bet, GAe 999 uE & BFe »eid ue
9 Wwelge 3 YUz ¢ A9 uet get fiq It Jear 1 Gergde © 39 '3 Aftmret €t met

6,9,12,15,. ..
TBE A YNNI I I a,-a,=9-6=3

a,—a,=12-9=3

a,-a,=15-12=3
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&g 9o HigSt f&9, fan <t € sar3tg uet f&g »izg 3 J 1 fer st Btmret
o Budaz &3t £ AP I, far = ufa®™ Ue 4= 6 W3 AST %3d d=3 JI
Aftpret &t w3 6,3,0,—3,...¢ Bt
a,-a,=3-6=-3
a3—a2:0—3=—3
a,-a,=-3-0 =-3
fer et feg <t ffa AP I fAr & ufgs ue 6 J W3 HiST %i3g -3 J|
WM U €9 AP.a,a, ... a € BE

d=a, , —a

i, M3 a, HET (k + 1)T M3 k& UT TS|

feq fedt It AP. € dU3" 996 BE HS 0, —a,, a,-a,a,—a,, . ... [€9
JIF & U3T 99% T B3 &dt I feat &9 fan € & uzm ggar It aret 91

Hfimret € 7et 1,1,2,3,5,.... '3 feg9 931 a5 Ty 3 It feg uzr
I8 Aer J fq fan € Bar3rg et & »izg oner fed faar sdt 91 fer B¢t feg
&g AP & JI

fimrs fe@ fa AP :6,3,0,-3,... T dU3T 335 BET wiHT 3 €976 &
uerfen H, 6 €97 3 & ot wetfen HY I 972 ¢ BT U3T SIS BE A (k +
1) T ue 9 & ue § Ftwe@er grdter 9, 979 (k+ 1) T e 8 It fag"
GUGES

»E 93 Gergdet € AofesT 578 fegt uga=t (concepts) & I9 AURS
Eitd

@_ml:A.P.:%,%,—%,—%,...,%Be“ruhwuzrawéwvfrﬂdfg@n
o - 3 1 3 -
J% . fog a=7.d= 5 -2 =-1JI

we 9y fd #ag 7§ feg uyzm I< fa Hiimet AP &9 T 3T vt fan &t €
BAMITF Ut BT YWl Idd d € U3T FIT AdE I
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Qurggs 2 . Hitmet dit Jat fanit BT f28° faaz -fagz AP, &dt I&7
g oot f&9° I AP. 3, 37 OFe »ars € ue fsy)

@) 4,10,16,22, ... () 1,-1,-3,-5,...
(i) —2,2,-2,2,-2,. .. (v) 1,1,1,2,2,2,3,3,3,...
I8 : () a,—a, =10-4= 6

a,-a, =16-10= 6
a, —a,=22-16 =6
I III TG a,,,-a, fEd fAgr |
fem @et, At <t fo3t 98t 53t f£'a AP I1 fareT AT %3 d=6 J
o © a8 € UT 22 + 6 =28 M3 28 + 6 =34 TS|
i) a,-a =-1-1=-2

a,—a,=-3-(-1)=-3+1=-2
a,-a,=-5-(-3)=-5+3=-2
I< IId T q,, , - a, fod fagr J|
fem =et, Hitmret <t fo3t It B3t €9 AP 1 farer AT %33 d=-2 JI
fer € »ae © ue

—54+(=2)=-7 M3  —T+(-2)=-9T&I

(i) a,—a, =2 - (-2)=2+2=4

a,-a, =-2-2=-4
T;a’@;r_o(az—al ¢a3—a2§,mw,wﬁWﬁw%APﬁ
J
(ivya,-a,=1-1=0,a,-a,=1-1=0, a,-a,=2-1=1
f?gfaz—alza3—a2¢a4—a3_:fl

fer met, Aftmret € fio St It B3 Fa AP ot J1

YAeH! 5.1
1. It fguint AfaTrt feg faaght rfastt fi wefus Hitmet S adt AR
w3 fag?
(i) 99 fadHteg & amie Zart =t fagfenr, ae fa ufad fadiea
et fagen R 15 I m3 I9d @ fadHled = fagfenm 8 J1
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(i) ToH 883 (cylinder) fE9 I € H3aT, A {4 I dEe @& YU Idd
o9 986 &g gdt ger er i fA 9799 ow fder J1
(i) I9 Hied €t yeret 3" gmie, €9 YT Uee €t 313, Ae fa ufas
Hieg yeret & sz % 150 I m3 gmie &9 yf3 Hica yeret &t
T3 T50 < At I
(iv) U3 &9 99 A8 = fHagus, 72 fa T 10000 € 99IH 8 % A&
wd '3 fHafas fewm '3 AHT gaeret 7t J1
2. fedt I¢t Ap € Ufg8 99 ue f8y, Aae g ufagsT ue o« W3 AT %i3d 4

J& WEGHT TS
Q) a=10, d=10 (i) a=-2, d=0
) 1
(i) a=4, d=-3 @iv) a=-1, d= 5

V) a=—125, d=—025
3. J&T Idd AP € S UfgsT ug W3 HIST %39 U3T dd:

G 3,1,-1,-3,... Gi) —5,—1,3,7, ...
i L2218 iv) 0.6,1.7,2.8,3.9
(111)333 3 @iv) 0.6,1.7,2.8,3.9,...
4. J& fefimi &9 faa3-faaz AP I5? Hdd Jet AP I 3T O e AT WiZg U3t
a—a':
. 5 LT
(i) 2,4,8,16, ... Gi) 2,2,3, 2, ...
2 2
(i) —1.2,-3.2,-52,-7.2, ... (iv) =10,-6,-2,2, . ..
™) 3,3+~2,3+242,3+342, ... (vi)0.2,022,0.222,0.2222, . ..
(vii) 0,—4,—8,-12 ('“)l r_ 1.1
vii) 0,—4,-8,-12,... V111—2,—2,—2,—2,...
(ix) 1,3,9,27,... (X) a, 2a, 3a, 4a, . ..
(xi) a,a® da’ d,. .. (xi) 2,/8,/18, V32, ...
(xii) /3, 6.9, V12, ... (xiv) 13,32, 5472, . ..

(xv) 12,5%,7%73,...
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53 AP. € naTUe
wQ grar 5.1 fe9 fio3t € nfast '3 orar fegrg dte fan &9 dis & fea
394t BEt ga3t U39 fE3T /it w3 €7 & v four famr vt ERg  feg 3adt
% 8000 Yf3 WaftsT Iaua w3 T 500 IrsTaT @ W3 3 fe3T famur wt | dae” A
feg €w <t wdter @9 Iaurg fdat Jeaft?
fer w7 €739 T B, »E el fa g 7 Gn & valeerg 3autg fdat
Jeatt
&g 8000 +3500) =I8500 I3t | fem 3gt ItHT, 98 m3 (e 7 BEt R
Tt 35urg fUsd A € 35ytg &9 3500 73 o Y3 i3t 7 maet I 1 fom e,
€n &t I3 7 &9 35U =3 (8500 + 500)
= % (8000 + 500 + 500)
= T (8000 + 2 x 500)
= %[8000 + (3 - 1) x 500] (Fe 7 © )
= %9000
98 7s fE9 3593 =T (9000 + 500)
= T (8000 + 500 + 500 + 500)
= T (8000 + 3 x 500)
= T [8000 + (4 — 1) x 500] (Y9 7s © )
= %9500
Ime 7s &9 35ug =7 (9500 + 500)
= T (8000+500+500+500 + 500)
= T (8000 + 4 x 500)
= T [8000 + (5 — 1) x 500] (Ime” 7 )
= 10000
fimrs fe€ fa wré wftmet & It fet met yuz 9 9t 9
8000, 8500, 9000, 9500, 10000, . . .
feg Aftpret 8 AP, g gt I (fa8°7)
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@%ﬁ%@@@attern)é@ﬁ&%ﬁ@_ﬂ@%%%ﬁ%ﬁ
ISYTT U3T dd AIE 97 ot AT 152 A €t HdleTe™d 3a4™J UST 9d Aae J°¢
feg Hoe I fa Qg wiar <t for Sadt '3 oW Iadt IJdft, 258 A & Hdlaed
35yTg g9 AT ot afg Aae I7 for v 6739 © wEl 3HT uss ws
3auTg 89 500 73 o B3Et 35ug & gresT I3t ot 3T fem yfgnrm &
YU gu € Aae 37 w2 | fam yarg wit fegt 3surat & € ug yuz i3
J, §° 3 39§ 99 Higaw 3t J fopur Iear|

15¢ s fég 3aug
14T 7S fe 9 3a9d + T 500

500+500+500 +...+500
13 27at

=X [8000+ :|+ 3500

T [8000 + 14 x 500]
= [8000 + (15 - 1) x 500] =% 15000
g Ufgst 384TT + (15 - 1) x ATSTST ST
fer 3gt 259 7 &9 Gret 3surg et -
T [8000 + (25 - 1) x 500] =T 20000
= Ufagst 35UTT + (25 — 1) x ATSTST &Y U7
fern Gergde 37 3078 I wiewr 3T 7gd J fam JSar fa AP. ¥ 158 UE,
258 yg W3 mH QU &9 e~ ue & fam 37t faftmm 77 Ao J1
)-rI"cFE@al,az,ay...ﬁaA.R I far w7 ufgsT ue o I W3 HIST W3 dJ|

CHITUE aq,=a+d=a+(2-1)d
ST UT a,=a+d=(a+d)+d=a+2d=a+@3-1)d
YT UE  a,=a+d=(@+2d)+d=a+3d=a+@-1)d



o IfE3d B3Pt 13
feH BHS (pattern) & T J€,WHT afg Ao It fd n@f U= a =a+(n—1)d J|

fer Bt . ufasT yT a M3 "gT wisT 4 T8t f£©59 AP. ¥ nSt UT
a =a+(n-1)d A9 Yyuz Jer JI

a & A.P. € WH UE (General term) T IfJe I | Had fam A.P.f€g m
YT I& 3t o feWE wifsw yE § wew@e I, faw § I€ - I© [ v
TIATENMT "I J

WG ge g3 Bergdet '3 fegrg Jdie |
QeggE 3: AP 2,7,12,...€ 10 < Y€ U3T J4J|
% :f88a=2, d=7-2=5 M3 n= 10JI
ﬁ'@ﬁan:a+(n—l)d _:TT‘?FTEE'T

a,=2+10—-1)x5=2+45=47

fem e, fd3t AP = 102t uT 47 J1

QurggE 4:AP.:21,18,15,... v fdoer ye - 81 I?feA € o5 - o5 of fom
A.P. = J¢t ue fAed 3?7 Ide Afaz €739 feli

I5:fe8, a=21, d=18-21=-3 W3 a =-81 JIMH n T U3T Barger J|

ﬁ'@ﬁ a=a+(n-1)d,
fer Bt —81=21+(n—-1)(-3)
Gl —81=24-3n

Gl ~105=-3n

fer et n=35
fem et &3t It AP =7 3587 ug - 81 J
Wiar, wHT feg Aresr 9de I fa aEt nifaar I fda, = 0 99 1 Hdd mfaT nde
3t
21+ (n—1)(=3) =0,
e 3n-1)=21
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Hr n=28
fer e, st uw 0 J1

Qerggs 5:67 AP U3 I3 fAr = FHIT UuE 5 W3 7=T UE 9 JI

J5 g fE3T I

a,=a+@B-1)d=a+2d=5 (1)
"3 a,=a+(T-1)d=a+6d=9 )
AHldge (1) M3 (2) T 73 & I8 996 '3 A YUz Jer J ¢
a= 3, d=1
ferm met, B3TEt AP.:3,4,5,6,7,...J1

Suraaz 6 ot "t & \EY 5, 11,17, 23, ... €7 d€ uE 301 J7 g7
J5 A fE3T 9

a,-a=1-5=6, a,-a,=17-11=6, a,-a,=23-17=6
faQfa k=1,2,3,mfe Bt o, —a, =999 € A Hitm J, fem Bt i3t

1

It B3t g AP T
feg a=5 M3  d=6
W& B AP, T e UE 301 JI
WHT Free I fa
a=a+(n-1)d
fer et 301=5+(n-1)x6
g 301 = 6n-1
fe el e

Y3 nfeq ds frugs At Jat ordtet 9 (fa6? )1 fem et 301 ot Jet

Hitmret € 7et T ue st J

Qurggs 7. < viat T@MT fdamt Hitmitet 3 o158 St AT 9% ?

TS 3 o8 ST HTE T@n & wigh Ehi Htmet Is
12,15,18,...,99
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ot feg fe'g AP I79f, feg JIfe8 a=12, d=3 M3 4, =99 J|

ﬁ'@ﬁ a =a+(n-1)d,
fer et 99=12+(n-1)x3
gre 87T=m-1)x3
EiG n—1:8?7:29

EiC n=29+1=30

fer B, 3 & I AT TTEHT & wiar et 98 30 Hitmet I |
ugeE 8: AP.:10,7,4,...,- 62T W3y g 3 (Ufgs uT T U ) 11=F
yg U3t 94|

9% .88, a=10, d=7-10=-3, [=-62,

fr I= a+(n-1)d

wfsH e 3 11 @ Ug u3T Bare &gt wint fer AP, © 98 et &t Afumr
U3T IIar

ferm et —62=10+ (n—1)(-3)
o —72=(n-1)(=3)
g n—-1=24

Eu n=25

fer wet, fg3t Iet AP, €9 25 uT I5|
Wf3H Ug 3 1= U AP. T 15 e e Jear| (fimmrs fe€@ fa feg 14 et ue
St Jear | fag*7?)
for o a =10+ (15-1)(-3)=10-42=-32
for Bt wisw ue 3 11=f e - 32 J1
gEse IS ¢
Had WA A.P. $ §Fc uiE” Tue ot 3T fer e ufg& ue a=-62 I ™3
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HST Wi3g d =3 J1 (fa8?)

I yrs feg g Ater I fa fom AP, T 112t g U3t 3T A

for st a,=-62+(11-1)x3=-62+30=-32

fer =, »ifsw ue 3 S3ter net ue -32 J1

Qerggs 9:T 1000 <t ¥ U5 I 8% AT®ET AU fawd &t €9 '3 AHT
3t At I1 99 A € wiz fET fomma fEa t gresT 991 &t feg fonm €9
AP TG I&7 Had wifar I 3t for 39 T yudr Iae 9T 30 TSt € i3 fife
fomm € IresT a9

U5 . At Aree gt fd AroTge for™ U3t 996 BE B39 I Mg O

PxRxT
RTOTaE Tem = 100
~ N o ) 1000x8x1
%HEETU&]BWEMB’E‘HW:?T:?SO

- ~ o o 1000x8x 2

@WEW%W:?T =160 :
- ~ o o 1000x 8% 3

B?HHWEMBT‘QUEWF:?T:?MO

fer 39t Wit 98, Uae wife st @ »iz &9 fomma € 9ies 99 Aae If |
fer wet, ufa®, THd, 3HT .. Aet B »iz &9 formm (qufentt fE8)Hemg Ja:
80, 160, 240, . . .
feg &g AP I, faBfa fan <t € Bar3Td ugT € %39 80 J,97€ d =380
Jias I, '8 4 =80 JI
fer sEt 30 At © w3 &9 fond U3 398 BET o, UST I3
g ay, = a+(30—1)d=80+29 x 80 = 2400

fer &€t 30 At © Wiz &9 form % 2400 J<am
Gerage 10 : €8t € € famrdt &t ufost 939 €9 23 I8 € Ue I8, gt
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9379 f&9 21 Ue JIs, I+t 3379 &9 19 Ue s wife, 81 €t »ifsy 9379 feg
5 918 € U Js | for fawrdt feg 98 fdamt 937at 957

I @ ufgst, g, S .. 939t 89 g € dfent & forest gveg Is
WMEHT J:

23,21,19,...,5

feg fea AP gt Is (fa8™?) | Ha B8 a3mat &t Hitw n J1
El a=23, d=21-23=-2M3 a =53
ﬁ'@ﬁ a=a+n-1)d
fer =et

5=23+(n-1)(-2)
i —18= (n—-1)(-2)
B n= 10

fer e, <57 &t fanrdt &9 10 93797 I3 |

YHGRHT 5.2
1. J& fE3t mraet &9, uat marst § 99, fig AP T Ufg®™ Ug o AT %39
d M3 nUE a JI

a d n a,
@ 7 3 8
(i1) - 18 . 10 0
(iii) . -3 18 -5
iv) |-18.9 2.5 . 3.6
(v) 3.5 0 105

2. Ja fefamt f&8° 7dt €739 g w3 Brer 99e ©h .
() AP:10,7.4,... €7 30T U O
(A)97 (B) 77 (©) -77 (D) — 87
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gifez

3.

10.
11.
12.

13.
14.

(ii) A.R:—3,-%,2,...,ET11€+UEF%:
(A) 28 (B) 22 (C) -38 (D) —48%

I fEIT nigarfeaa IZt (A.P) R urat yfanit € uer & U3 94 |
Q) 2, D 26

il .o [ ] s

(iii) 5, D D 9%

w00 0 0O

ol s [ ][ ][] =
AP.:3,8,13,18,... = fdaet yg 78 J7
Jot &3t wigarfeza B3t &g gda &9 fda ue 97

() 713,19, ...,205 (ii) 18, 15%,13,...,—47
dt AP, 11,8,52... 2 feg ug—150 7 fa@™?

©F AP T 3127 UE U3T J9 fAAET 1127 UE 38 W3 16 < U€ 73 J|

g Ap &9 50 ue I, far = SHaT ue 12 I w3 »if3H ue 106 J1 fer
T 2027 U U3T Jd |

HJd fam AP =7 STHIT W3 92T U gHeTd 4 W3 -8 I< 3T for v fdaset ue
fagg dear?

fam Ap e 178 Ug GHC 108" uT 3 7 20 J1 fer T AT »i3g u3T I3 |
AP.:3,15,27,39, .. € fdset yg Ord 54 27 e 3 132 <4 Jedr?

T WMIITE3T ST T /ST %39 989 J | 79 fegst & 1002 Ueh &r
W39 100 I 37 fegst & 10008 UET ©T %3 ot Jedr?

35 wiat @@ fdatt "itret 7 37 ITauar I

10 M3 250 © fegard 4 © I8 Iren Ia7
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15.

16.
17.
18.

19.

20.

nd fIa3 S € B, 82 wid 9ifesd BT 63,65,67, .. M3 3,10,17,... €
ne Ud gdgd JEdi?

T APU3T 94 faR T FAHT UE 16 I M3 72T UE 52 UE ST& 12 20 J|
AP :3,8,13,..,253 f&g wifsH yg 3~ 20eT U U3T JJ |

faH AP € 98 W3 82 Uai €T 13 24 I M3 68 M3 102 Ul &7 03 44 J |
fer AP € ufg® 35 ug usT 94|

HET 38 & 1995 &9 ¥ 5000 Yf3 HdlsT I5uma '3 W HY o137 M3 I9d
S %200 BT ASST @7 Y3 137 faad A Gret 35ug % 7000 I
Haait?

IH I8t & fan 7s 2 ufgs® ge3 T 5 & 93 it w3 feg mmust
Jegrerd! 993 T 1.75 gt et 599 «2 ge3 f&g Brdt geserdt
g93 £20.75 9< 3T 1 UST I |

54 AP. T Ufg® n ust = A3

Wi grar 5.1 feg fest It mfast
'3 feg fewrd qae i, fam fé9
AAST wiyst y3dt € 98 feg
Ere 1 A Tt de '3 T 100 UEEt
J, BT grg WM fes €3 T 150,
I AoH fes '3 T 200 UEE I
w3 fen 3gt It »igr At IuEt I
Ao Oret ysdt €t Qg 21 B 9
Aedft, 37 Brdt dua &9 fdar

s fedar I Aaan?

feg e ufad, gn, 3, 99 ... 7o fes €3 €n © oiga feu uret

ITET IIH FHETT 100, 150, 200, 250, ... I w3 fedt g Bre 212 #oH fos 39
B fgor 212" #eH fes 3a feast et J5 IHt uzT 996 Het A Guddas
T3 et wftmret & H3s € 83 J1 & 3 3t AT fa feo £ wRfas
yfernt I w3 fer &g ant & wifad Saram 1 ot it fer yfgnm & Ao® ge Aae
gt? feg 37Tt Hae I<am, A wiHt fer e 133 9ds €t Jt fett usT 39 S=idr|
Wg THte |
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Wit I (fm g9 AT wiftefe 1 S8 Ug 99 9) & o3t ot mifir '3
fegrg J9e If, & GRS I% dds Bet G a3t aret Wt e €9 10 3 = A
@_‘H@l?loome%wmmmwﬂswmwmwm
S7d 393 €739 fez fa 73 5050 J 1 31 3H wigHs Sar Fae J fa §A mifaar
fae dtzm? Gwa fem 3gt faftmr .
S=1+2+3+...+99+ 100
feg GHs G5 av &9 Hftmet § fem yarg fafior -
S=100+99+...+3+2+1
Sudas § #1353 G F yus oz
2S=(100+ 1)+ (99 +2)+...+(B3+98)+(2+99)+ (1 + 100)
=101+ 101 +...+ 101+ 101 (100 <Tdh

100 x 101 -
fer =&t S=T=5O50,§1ET-|3=5050

g wit fem 3aala € YyWdr 99€ I€ AP € ufd® n Uet € A3 U3
Fatal | Vs B8 feg AP T
a,a+d,a+2d,...
e AP T ni@U€ a+(n-1)d J1Ha BC S fem AP T Ufg@ nuei ev vz
I3t

S=a+@+d)y+(@@+2d)+..+[a+(n-1)d] (1)
ot § €5 aH feu foue '3 mg yus Jer 9
=la+(n-1Ddl+[a+n-2)d]+..+(a+d) +a 2)

T (1) M3 (2) $ UE € WEHT A3 '3, Hg yu3 dor J ¢

[2a+ (n — 1)d]+ [2a + (n — 1)d] + +[2a+ (n—-1Dd]+[2a+ (n —1)d]
n <9t

T 2S=n2a+(n-1d (fa8fa fem fdg nue I3)

2S=

o =2[2a+(n—1)a’]

fer et fan AP. T ufgd n ust w 73 S I3 oy 39 o7& yuz der 9 :
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S= g [2a + (n - 1) d]
it fen § fen gu €9 & fgu Hae of
n
S= E [a+a+(n-1)d]
n
g S=E(“+“n) 3)

e, 799 faH AP T 38 n It UT I, 3t ¢ »if3H ue | © 999 Jer J1
fen Bet (3) 3 Qe I I -

S= = (@+l 4
=5 @+ “)

yfge e feg gu B Afazt ffe Quuialt 9, 7e” AP, T ufg®T w3 wifan
yz 3 J& »3 AfsT ¥i39 & &3 famm 32|

g wHl GF YFs '3 9T TUR T e OF, § Hg e wd Ufemr famrm
HH I HeteT € U3dt € 9isd fde 8 ufas, gn, 34, .. 7er fes '3 ureht
greEmt gt (R f89) @HeTd 100, 150, 200, 250, . . ., IS |

feg € AP JIwHt GF € 212 #oH fos 39 fedat Jet I8 It uzT
Fgat J1 32 wirt fer AP, € ufg® 21 Ut € #3e8 U3T 9957 J|
fe8a=100, d=50 M3 n=21J1H33

s= [+ (-1 d] e dier 9e 3

S= %[2><100+(21—1)><50] - %[200”000]

- %x1200:12600
fen Bet, Gre 21T 7oH fos 39 fEast I¢t 9isa ffg 9& gaH 12600 J1
ot H39 T YWdT 378 YAS I8 J9&T HIS &dt J faput?
faf AP € nUet € 13 & TonGe SEt it s €t & '3 S = & ywar 99
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Hae I §Egde € 39 '3 »HT AP € 20 et € 73 & TIAEE BE S, T
YWIT 99 I71 Ufgs n Ut € 73 € 139 €9 979 I S, ¢, d M3 n THS
T | Hag feat f&9° Jet {3 gt w7 uzr J< 3t J6t gt v uzr sarfemr 7
AoET J|

feust : fam AP T »2t U, GF © ufgd nuef € 73 M3 Ufasd (n- 1) uet
TAZEM3IETEIEIJI I a =S -S| JI

g g3 Gergget '3 fegg dE|

Qerggs 11:AP.:8,3,-2,... ¢ Ufgs 22 yel & #3es8 U3T I |
J%: 89 a=8,d=3-8=-5M3 n=22 JI
WHE Aee I fa
= 2[2a+(n-1d]
2
2
ferm wet S = 7[16+21 (-5)] = 11(16 - 105) = 11(~89) = — 979

fer e, fadt 9t AP € Ufg® 22 yei @ 93 - 979 J|

Gerggs 12: 799 fIH A.P. € Ufg® 14 ye @7 133 1050 I w3 fer er ufgs ue
10 I 37 20 T UE U3T IJ|
I fed's, =1050, n=14M3 a=10J|

ﬁ'@ﬁ S, = %[2a+(n—l)d]
14
fen =t 1050 = ?[20+13d]=140+91d
I 910 = 91d
Eu d= 10
fem et a, = 10+ (20— 1) x 10 =200

20

g€ 20 =T U 200 J|
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Suags 13:AP :24,21,18,... T fdd ye &€ e, 31 fa Gt & #zes 78
7

U5 88 a=24, d=21-24=33 S =78 JI A »n U3T JT&" J|

. ~ . n
WHT Aee I fq S, = E[2a+(n—l)d]
fon =t 78 = %[48+(n—1)(—3)] :%[51—371]
Hr 3n2-51n+156=0
o " —-1Tn+52=0
| n-4Hn-13)=0
fen met n=4 9 13
ng g U8 HI< I& W3 AL i3 77 Ade J& | for s, et &t 83t
AT 4 |7 13 T

1. for Afest fev, ufa® 4 uet v 12 = ufa® 13 uef e A8 =78 JI
2. feg @2 6§39 Hae Io, fabfa se 37 13< el vr 13<s figd I A<ar|
feg for =et I 9 fe8 ¢ ge3Ha I W3 d fae=sHua 3, fAr o IF ue
TST3HS M3 I UT fga=3Ha I ATe I M3 WMUR 9 9 Ae I |
Serggz 14 : It fefsuit e 193¢ U3 949:
(i) Ufg@MT 1000 TS HYTS HiYmTT (ii) Ufa@MT 1 U8 HYJs Hiymret

Y]

I%:
HHeBES=1+2+3+...+1000J1
A.R%uh@nw%ﬁswggasnzg(aﬂ)@l{@mm I H YIS
Jderd:
= 221+ 1000) =500 x 1001 = 500500

1000 —

fer &€, ufa® 1000 T Hyds Hftmret B 53 500500 J1
() & BES =1+2+3+...+nJl
feg a= 13 ¥ifsH 1=n UE JI
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n(1+n) . n(n+l)

fen met S = 5 =T
fen g7, ufastnt n Ts Hyss Aftmret T 73 B39

S = n(n2+1) 3B YUI 3T AT I
Qurggz 15 Afere’ <t OF B 2 ufod 24 yeT TT AZEB U3TAd, AR T

TUT a =3 +2n 3 fE37 AfET JI

Y]

J3 .
ﬁ'@ﬁ an:3+2n_?.f
fem =&t a,=3+2=5

a,=3+2x2=7
a,=3+2x3=9

fer yarg Aftmret & 53t 5,7,9,11,... J1
ey 7-5=9-7=11-9=2nfg T&|
fen =, fegt o5 f€a AP, gt J1 faAeT AiST %39 2 J1
S,, U3" 996 BE HS aB: n=24, a=5 d=2
fer =t S,,= 2—24[2><5+(24—1)><2] = 12[10 + 46] = 672
fer =t Hfimret & fidt It 53t € ufa® 24 ust T 73 672 I
Qurggs 16 : A& A = foausT I 78 600 . w3 77 S 700
A& 7t v @3uws gaer J1 fog Hae It fa 99 A G3ues &g €
NS gu 7 8 fanfas witm org @or ger 9, 3T 99 -

() ufa® s &g E3ues (i) 108 7& &9 §3ues

(iii) Ufgd 7 Tt e 9% G3ues|
3% : (i) faQfa 99 Ae G3ures €8 AHs gu &8 fEd forfas Hitmir s e Jar
AP &9 It I M@ 2 g f&e G3ufes A&t Aer &t it § 0 &8
TIATEE |
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125

fer =t a,= 600 M3 a, =700
G a+2d = 600
"3 a+ 6d = 700

feat & I& 998 '3 H'S d =25 M3 a =550 Y3 Jer J|
fer =, ufos are @3urfes Jt &t At &t Hitr 550 J1

(ii) IE a,= a+9d=550+9x25=775
fer wet 108 73 f&e G3ufes 2t.&t Aet = farest 775 I
(iii) fer 39t S, = %[2><550+(7—1)><25]

= %[1100+150] =4375

fer =, ufos 7 Aret f&9 98 gare are Jt.t 7et € ’iumr 4375 J1

yHseEt 5.3
1. 95 et wigarfesa s & 93es U3 J4:
() 2,7,12,..., loUet 3 (i) =37, -33,-29, ..., 12Uel 3
Gii) 0.6, 1.7.2.8... . 100U I (v) 4, . 1L nuet 3w
15 12710

2. I ffamt & Azes U3 99
(i)7+10%+14+...+84 (i) 34+32+30+...4+10
(i) =5 +(=8) + (=11) + ...+ (=230)

3. fegarfes
() a=5d=3M3a =50fE37 J1 n M3 s UIT IT|
(i) a=7M3 a,=35 fE37 I a3 s, U3 3|
(i) a,,=37M3d=3fE37 I a3 s, U3T IJ|
(iv) a,= 15M3S, =125fE37 J1 aM3 a, U™ I |
v) d=5M3S,=75TE37 I aM3 a4, U3T IJ|
(vi) a=2, d=8M3 S =90 TE3T I n M3 0 USTIJ|
(vii) a=8,a =62M3 S =210fE3T I W M3 dUST I |
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(viii) a =4,d=2M3 S, =-14TE37 I M3 aU3T IJ|
x) a=3,n=8M3S=192 f€37 J| 4uU3T |
®) [=28, S=144M3 I 9 U€ I&| o U3T AT |
4. 636 T8 YU II5 B AP.:9,17,25,... € fda U 8 grdie I&7
5. far AP € UfgsT U 5, Wif3H Ue 45 W3 93SS 400 I& | Ut & Higmr
W3 AT %39 U3T I |
6. TaH AP T UfIsT w3 »if3H ye gHe™d 17 W3 350 I& | Hdd HIST %39 9
J< 3t fom 29 fda ue Jear w3 fegt v 13es fdar J<ar?
7. BH AP T UfI® 22 e €T 93€8 U3T dd A €9 ¢ =7 I W3 22T ue 149 J |
8. ©H AP T UfIS 51 Ut T H3Es U3T 94, fAHT EHI ™3 SHJ UE gHeE™d 14
W3 18 TS|
9. Add faH AP € UfT8 7 Uel € #3e8 49 I W3 Ufg® 17 el € 193 289
J: 3 fer € ufg® » uel g A3 U3T 94|
10. feu @ fa ¢, a, .. ,a,... 3 f€d AP gEt J, 799 o« I& fE3 »aAg
yghz 92|
(i) a,=3+4n (i) a,=9-5n
% dt, g9 AigSt e, ufa® 15 ue’ e 93e8 U3t J4J|
11. 7dd fan AP € Ufg8 » Ul € A3e® 41— 2 I 37 forH v ufgsT ue
(@< s,) ot 37 ufg® & et e wzes of 97 gAr ue of 97 fen 3g°
SHaT, 1087 W3 s Ug U3T 4|
12. WiAIMT Ufggrt 40 U8 HYds Hitme! &7 A3e% U3T 93 | 6 3%
IHEI I |
13. 8 € Ufg® 15 I € A3¢8 U3T JJ |
14. 0 W3 50 & fegdrg g AftpeT €7 13e€S U3T JJ |
15. fsgHe Irgn &8 AYUS fan 34 &9 fan forfes 3t 37 gmie JIH et

S YJT II6 BE, TIHTST Barge & feers fer yag I« ufad fes €
el % 200, THI fos et 250 SHI fes Bt R 300 mife 3@ Ida »as
fes & goHsT Mue 3 3l ufas fes € gons a8 %5020 J1 fea
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16.

17.

18.

3dTd § goH™S € U &9 fdat gan gt ueaft, vag G fem oH &9
30 fes €t 2dt a9 feer 37

far Ags © fefenradn & Gt & A fefora years st sde feani g
et 700 € IH It It I 1 A9 IIF fesH My 3T St ufas fea
3 %20 e I2 3T I fea™H BT Y u3T Id |

fe'a Has © fefenrggt & ge7 Ygne weGe 3t Ags € wied i3
Trgd Ue Barg@e =a Afowr | feg SrgT fenr famr fa 999 Hat v g99a
HaHs must Hat ©f ’itmm € g9rgd Ue sarear| ergge © SEt
ufgst Het e fe'a Fams 1 Uer sarean, Jat 11 e ¥ fams 2 i
BATLIT, Hat m & fe'd Hams 3 Ue Saredr, »ife, W3 mfagr J&t xn
3d 98T JJIT | IId Hl € 3 HaHs I& | fer Has © fefenragt emrar
Bare 9e Ufentt € 98 Aftmr fdat Jeaft?

IEI A 3 HY I9¢ JIT, Tt I8 A W3 B § € Haw JE,
WIUEM™ 0.5 cm, 1.0 cm, 1.5 cm, 2.0 cm, LT &Jr31d, Wmé
fig o ffa IFBTT (spiral) TN faprr I, (A fa fi39 54 &9
feyrfomT fam J1 397 BI3Td Wdy JadT 3 g fer I38Ed (Spiral) =t

&5 Hadt ot 37 (n- 25O

fasg 54

[Fa3 : HE'T I'TJ A,B,A,B,... T8 WU Jad &mff et 11,11 IS 1]
19. 200 Het B3 (Logs) T Bt & fer 3g fumm wier J fa g 37 I @t

379 &9 20 HIt BI3T BH3 W8t 99379 fE9 19 HaT Ba3TER 3
WISt I379 &9 18 Wt Jazt wife (B9 939 5.5) 1 fog 200 Wt
BIZT et I31aT f&g T Iret I w3 A 3 Budst 9379 g
faat Wt 8937 357
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20. ﬁm@a(potatorace)ﬁﬁwmm'%ﬁwgﬁﬁﬁ;ﬁ
Ufgs wrs 3 5 Hieg T3 I W3 grall Wit & ATS JuT &9 3 m &t mrurt
gdt 3WWU|MW@?10WWW%(€H%€HS@

ﬁ o o o [ o o

fg39 5.6

\

WB_ Jd&3T Hd ddt!l U d)Ht!Id 3_ (’)‘HEIO( E"B’WK
ﬁae"rzr @ﬂégaaﬁmwa(esa)mﬁvwf—eﬁa THIT M
Ja< oot Tur 831 J, 67 & ga o ofun gsd ffg ur fidet 9, w3 €9
wifar €87 39 ga¢t I e 39 AT Wiy Tredt g o wre | e feg
yf3waft & 95 fdat gat 3 gaat uaft?

WHa3 Ufds W3 ga mrewmt & 99 3 g8t &9 v st €3t
et gat =2x5+2x(5+3) J1]

yHsesl 5.4 (e nigarg)
1. AP:121,117,113,... % f393" Ue AT 3 UfgsT fgazHa ue J=ar?
[Fd3 : a <0 € B n UIT ]
2. fam AP T 3HI M3 A3 UsT €7 13 6 I W3 G T Taes 8 I few
AP T UfIS 16 UET T 13e3 U3T JJ|
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3. f8q U3t € B3t 33 mun &g
B35 em BTSN ITS @R[ et R

5.7) | St &t Haret B A !
U &% weet et I w3 A T '
Jo8 33 &t 45 om T I WY ;'
3 Buds 33 <t BEl 25 em I !
g QUIB M3 IS I3 &
et mRISigEege [ |
et Bt &t fIat Saret € B3 25 cm
s34 e

o o . o 250 2 5
e St & Aftmr= - +13) 93957

4. €9 9319 &9 Hast § BAr3Td Hitwm 1 3" 49 &8 TIrATenT famr J1
feu@ fa x & fea »ifaar Hg I fd x 7% TIAT Ha® 3~ Ufgs & Haat
ot Aftmiet T w3 €7 37 gmiE o8 Harst € Aftmiet € §3 € 9989 J1
x ETHS USTIJ|
[ﬁ‘&s':sx_l:sw—sﬁ]

5. €9 Sca® © He's U fea a7 99397 J fan €9 15 USht gt Jetmt
5 | fegt Ut i85 99d =t et 50 m I »3 B9 3F dadie e gat Jet
31999 T ey m S oget w3 L mw Suw (FaE) T (38
5.8) | e 9939 & go@e Bt B9t dadle T I8 mife3s usT a9 |
FaZ - ufget Ut & gerde ot 9t dadie e nfess =

X %x50m3ﬁ]

I

E l\)lt—l

ENI
AN

fesg 5.8
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5.5 ATI-MH
fem wiftmrfe feg, 3t Jo fod safamt e wiftws 37 I -

1. € niq gfesd B, Aftmret & f€a wifadt wet Iet 9, fam e gda ue
(ufas 3 faat) mue 3° sta ufas ue &9 fea forfas At Az a yu3
Jur J1 fog forfaz Bt ¢ fom wig afesa &t 2 /AT wizg so@ et I
fETAPTMH QU a, a+d, a+2d, a+3d,...J|

Z%W?ﬁfé’aﬁs?ﬁe‘fgﬁ‘r,wjﬁﬁ ?\Ia_d’h:l‘gaaz—al,a3—a2,a4—a3,.

L, 3 e s yuz 32 9% « € 95195 Ha € BEt o —a € I2I
3. Ufg®T UE o M3 AS 139 4 T8 AP. T nf UT (7 fenmud ue) o I fod

H3J e Y3 ger J ¢
a=a+n-1)d
4. fan AP T UGS n UEf T 13 S B39
S= §[2a+(n—1)d]z§r&51{ru3j@‘3r|
5. 7o fEa FifHz AP T vifsHue M B8 netuw) 1 J, 3Tfem AR e AT
Y=t T A3 S H3J

S= g(a+l)3r81{ru3§|"??r|

ysar @ Bet ferm

a—+c

Hdd a, b, ¢, AP. f&9 I8 3T b = W3 b, a M3 ¢ & Wd

JfE3d HOHTS I T J1




IEEC]

6.1 gfiar

AT »yEt fugght i3t 37 3wt w3 BT © I 37 99t 3gF A¢ I 1 7AHT3
&<t &g, At f3gwt <t Aadamv3T © ¥ (feramg) o7 wifts 99 gd J1
we 99 fa € f3gat & Aademn €€ fagr wfer I 7e” €31 & AHTS nirarg w3
AHS WY Je | fer wiftmfe f&9, wiEt wifadt wifgdt g79 wiftons garar
W%W(shape)%ﬁ?lgm!(size)?m ﬁ?ﬂg‘:ﬁ?ﬁﬂ'%l@
939 fagt © wrad AHTS I (Y3 WY ANTS I Fgdt &dt J)AHgy fg3g (similar
figures) Ior@ e I | ferm gu &9 »HtT Mgy f3gwt &f 999 aatal »i3 fem
AedTdt T YT dae I Ufast ugt IEt uretaTaion YHE e TS YHTE Betal |

=gl =gl

7 AR | I — |

=y
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ot AT wiemar Sam Fae J fa ugrst (fre Wi e wiedne) €t €9t 7 ga
Tt gt (fAe” Seant) St gdtwt fam 39t uzT i3yt wight 9&7 ot 3t
AT J fa fegst & fo'a Hue e €13 o fitgr il famr 37 wins e feat
W@_Wﬁm@w&”ﬂﬁ!ﬂmw (indirect measurement) ET’{@_CIT
Fgd Wi faput J, # 9397 & mHguzT © frafs €73 fsgga I (B9 Gerage
7, Mifgn 6.3 T YIS 15 W3 fer ursa € miftmfe 8§ M3 9) |
6.2 AU fo39

A3 3t feg, It eftu fa gaag
W3y few™ 8 A9 I3J AIHITHH
Je J&, §d9d &gl € g9 9%
Byt &t gAT @78 AT AHgHT 394
d (1)

g fan 2 (At wifgs) daat €73
fegrg ad 24 939 6.1 ()] 1 <t feg
HIgdmH J&? fagfa fest f&g
AT & wigg fewmmr fa AHTs adt
51| fem met, feg wur feg
HIGIHH &t I | famrs fe€ feat (ii)

I, 43 feat &9 999 & wrarg fed
fad 9o 1 for =, feawd 6o fdsg
TS frst & wirt AHgU (similar) Ifde /\

It & AHgU 939t T »iag AHS

Je g5 3 fest @ Wy AHs (i)
Agdt st J1 fem wet, wd a9 939 6.1
AHGU Je I5|

< wifys =99 §Td A & wifr mHgHt f3gHT avd 3Ht ot Aee 97 [2d fu3g
6.1 (i) ™3 (iii)] A'd Y9t &f 3gF 1, fed A9 ST AHIY TS W3 ATt AHGHT
397" AU Is |

Sudaz 999t 3, Wil I Hae If fa AT AIdTAH 939 MMy de I3,
Y3 A9 AHgY 33t BT AagaHH I Agdt st J1
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ot fo'q 999 w3 s <991 AHgY J e 957 ot fed f3ga w3 fed =gar
AHGU J Aae JI&7 feat f93at § Tufent ot 3t €739 € Aae J [29 f¥39
6.1] |1 AUrE mEe’ &9, feg f93g9 AHgy &dt o551 (fag™7?)

3IAT € 93dgAT ABCD W3

PQRS © ¥d fég ot afg mae I7
[€4 937 6.2] ot feg fi939 AHgY
I57 feg 939 AU AUE 95 43 c 0

Aae | fer get feg mgdt Iafer I fa fg396.2

AT AHgY 939t 2 g9 €9 Jet ufggmr u3T adte w3 fen ufggmr € »marg 3
feg fonfaz 995 BEt fa fid3 9T € 939 AHgU I #f ot I fewn yuz 9ae
Tt G 937 6.3 fT &3 T8 939t & e -

fg396.3

3T 393 It a9t fa feg fea It wrearg (3™ Higs) € o33 98 Y3 feo
Y-TY HY & I& | ot 3T feg gJ41 fa feg fig3g migu 97 of, feg g51 3AT
fod fanast 2 fea vy @8 Qat € 9397 g9 ot afg Aae J fast fee” fiq
Sret 10 75 & @Hg v I w3 T GnEt 40 Iy © GHa T 91t feg B
939 mHau I&7 feg fI33 A= Wy € I8, Y3 fonfes gu o& feg mis
g T8 & I5 | fen s, feg gy st I8

e JEt gdared fEd It aaifee o8 f95-2 Wyt @8 8¢ flle Jger I 3¢
€9 ot ggur I7 3HT feae AretH, uide ATEtH W3 UAe 9793 Al €¢ (At
fg397) ¥7d #gd Afen 3291 8T Arurde gu 99, f&d 8¢ WU (size) ©f fe@H
(film), H& BE 35 mm HY & feon J,83 €2 fiodt I w3 feg Em & fFa <3
HY, fAe” 45 mm (7 55 mm) WY o7&t €¢ € gu &g =u@et J1 fom yamg,
Tad wirt 8¢ f939 € fan ffa w3 § 8¢ If, 3t <3 fiza feu fem er Harz
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N o [o) ~ NN o 45 55 (SN v
Iz Faret g ufas Jynds er s (ng I JeIr | wrs feg fem =

wag feg J fg 82 939 & 999 Uiz 35 : 45 (A7 35: 55) € wisus feg <u
famr 31 ferm & fer 39t & fagr a7 AaeT I fa €3 939 27 gda Jumds 45: 35
(AT 55 :35) © wisur3 f&9 uie famr J1 fem © 78-2 Aag 3t fF5-2 vu =%
< f9339t &9 Aoz Jundst € fan &t A3 € €999 5 ot § B<ar 37 IAT
Tydl fg feg d& gHeT 999 Jedr | fedt € 939t w3 feny g9a € f3g=t &t
AHGU3T T g J | mAT Ffge It fa:

FHTET © FHTS HitwT €78 € 9997 HHIY JI€ I8, Add (i) 837 € Haiz d&
gI9d I (i) BT et Ha1z gt fod It wdw'z 189 I (9@ AHS MauT31)
Jei

fimrs fe€ fa gggnt set Hos garet € for fia It wisu3 & 7as gea
(scale factor)[HT I{??ﬁﬂ]?? & (Representative Fraction)] fagr AreT J| 3AT feg
Tigd HfenT™ IL91 fd HAg €7 3aH7 W3 325t € fodHs BEt gare! Are T8t gu
T fE'd QUTA3 Ao Jied M3 I3 faeTfest (conventions) & fimims &g Ty o
g Ad IS |

fg3at & migu3T & <U AUTE QU T8 ANSTET BEL mig Jot fE St fafamr
Jae I
fafanm 1 : vt A3 € IHd St 83 ©
far fig 0 '3 IS ¥89 BIrg M3
Ore ot Jof f¥q He J9 1 fFd AH3®
ABCD, d¢ 3 fem o113 & mls &
AHT3d He W3 AdIe J¢ ¥&9 © fegag
JYIHE '3 ABCD © f¥q yggrer gaar|
fer &t godt qu 9T & ABCD I8
TIAG (BH 939 6.4) |
foours e fa 93997 A’'B’C’D’ 93997
ABCD ¥T f&q wrarg <fsmm@ar
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r—

(Enlargement)W@@%Iﬁ?@@mmm%ﬁmﬁﬁwgﬁ
g8t JI13A fea &t afg rae I fa A’ fags 0A €3 rfa3 3, B’ fags 0B €73
Afaz I, ¢ fage oc €3 nfaz I w3 D’ fage obp €73 nfaz J1 fow yarg
Y3991 A’B’C'D’ M3 ABCD AHS miad € I8, Y3 fegf & vy fds-fFs Ta1

fem Bet, 93997 A’'B'C’'D’ 93987 ABCD ® AHgU J | wirt feg & afg
Aae I fa ABCD 93997 A’B’'C'D’ & AHIY J|

fog 3t feg <t 29 Aae I 3 g A’ firdg A€ Ha13 I, g BY faug
B & Har3 3, fidg ¢ fHyg € € Har3 I w3 figd D’ fHyd D © Ha13 J1 HI3S
@ﬁ?ﬁ?m(correspondences)éA’HA, B’ B,C«<>CM3 D <D
&5 foguzs 3T AeT J1 €2 93997 € 9 W3 gAel § WAS gu ffg v 7,
AT fog feur Aae I fa

) ZLA=ZAN,LB=4B,LC=/C,.D=24DM3
AB BC CD DA
A'B BC CD DA

(i)

fer o worar fog 918 AURE J At I fa gaer € A Bt @8 &
§IFH HHIY I IS, AT (i) BT € A1 HaIF a& g9 J& 3 (i) BT et
It Ha1z garet f8a It wdU's (AHTS-m3UT3) 89 I

Qudas € wmurg '3, IHT WSt o8 JIfd Hae J fa fg39 6.5 feg fe3 are
Y3937 ABCD M3 PQRS AHIY IS |

P 3.0 cm Q
fg396.5
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feust : At feo & feum Hae J fa wag f€a gggw far 9 gggn © AU 9
w3 feg THIT ¥ggd fea 3HJ gugn € AHgu I<, 3T ufosT sgad 3T
¥ggd © AHGY J<ar|

AT Ty Aae J fa f939 6.6 feg © 939gqt (fg Tgar w3 f&a »ife3)
&9 Aoz de g9red Is Y3 fegt € Haz gaet fed miour3 &9 adt 75|
fer =, feg €< 93997 AHIU &I TS|

D 3cm C S 3.5cm R
3cmy 3cm 3cm 3cm
P
A 3cm B 3.5cm Q
fg3396.6

fen 3gt 3HT 2y Aae J fa {939 6.7 & © 939g#t (fea egar w3 fEa
AHY3dgn) €9, Hoz gaet fea It wigur3 &9 95 3 feat © HaTz de 9999

ad" g5 | fer et feg T wggnt (93937 <t AHgY &1 I8 |
S

D 2.1cm C R
2. 1cm 2.1cm
4.2
A 2.1cm B cm

fg396.7 Q
fer 3gf, 3HT T4 Aae I fa © ggasdt € ANgUST © B W3t (i) W3 (i)
& fam e er ot Hzre Je 637 & AHgysT et arel a1 1
YHSTH 6.1
1. gdact &g &3 92 meet feg” Adt meet e Yuar Ja9d, yEt 7ETs 99 ¢

o

(i) A'd 9dd —— I I&| (AIETHH, HHGY)



fagq 137

r—

(ii) A'd TIIT—— JT IS | (AHIY, AIHITHH)
(i) A'd ——— f3g7 AHgu I¢ T& (Mg, AHgH)
(iv) gt € g A Hitmr 18 € 9987 AHQU JF I8 wag () 8 € Ha3
Fe——— I M3 (i) BF Tt HaTz gret ————J | (99mad, AHEUTSY)
2. J& fog Afswt dwit € fdo-fda Geraaet fef -
(i) AHgu 939 (ii) wfid f939 7 AHgY &t T& |
3. ©n fa I5 f&3 93997 AHgu I& i &dt
D 3 cm C
H L]
S 15¢m R 3cm 3cm
1.5cm 1.5 cm
[ 1 []
P 1.5 cm Q A 3 cm B
939 6.8

6.3 f3g# <t mHguzT
3T € 38w € AHguzT € ¥9 &9 ot afg Aae J7

39 we Jear fa f3gm & f€q ggga & J1 fem met, vt f3gat &t
AHgU3T BET & Bt mast fou Aae If, # gggnt € AHgu3T 3E fgunt A |
ELC

(i) BaT @ HaI3 d& 999 J& M3

(ii) BT @t Harz garet fe a It waus feg
(€ AHE-HBUS]) T&

firs e fa #ag € f3gT © Har3 de gareg
fl?, 37 @_U AHS Sat %@W (equiangular triangles)
FIG Tt I3 | 8 YfHu worst arfes Ama3dt asr
(Thales) & € AHTS dt gt B¢t fed Ha 3eUds
39 979 ST 1§ widt f88 wigAtg I (TT Y. 640 - 546)
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& AH'S 37 13977 18T 837 e Halz IaTe’ 7 MaU's JHHT AH'S JIgeT J1
wfaar ferem szt wer I fa for © ot €t & €9 ufgay e ygiar i3

fAHE HS AHTS WMEUT33T YNT (W Aes §%H YHW) fagr Ater J1

HS AHTS MEUT33T YHT (Basic Propor- E C Y
tionalityTheorem)éWﬁW@ﬁyw A |
fafan aate:
fafanr 2 . 9t 9 XAY fug w3 Orelt fog 977
AX €73 33 fdg (Hs € im fdg) P,Q, D, R »3 X
B fer 39t »ifa3 93 fa AP=PQ=QD=DR=RB 535 6.9
I

ge fig B 3~ It Jet fea dur fug, # gam Ay  ffg ¢ '3 d< (BH
939 6.9) |

fer € &8 3%, ffg D 3" BC € AH39 fEq duT fdg, 7 AC S E '3 J<|

. . el ~opn AD 3 AE
ot 3HT WWB‘?&WU%{D— EU? AEVHB’ECSHTUIEC

EN Y AE 3 ~ EN PN NS ¥
ot J7 EHEETEEWUI%HW,B’H‘]'_ T4 Ade J fd AABC &9

DEIIBCUW% I::—AE J1 ot feg fiags Huar 37 adt, feo Is fiddt yiw
T 995 J (A & US IS Waur33T Ynw fagr Arer J) -

UNT 6.1: Aad 1R 357 &f ffa Ir7 € AH3T 911 © gre’ & (9196 gt
'3 geet I o G it AR, S’TWE’WW#WWE’W
HigmT I& |

7g3 W fe'a f3gw ABC fd3t Iet 9, fam S8
g1 BC © AHT34 fudt aret s gy g7t € garet
AB W3 AC & gHeg D W3 E €73 deet 7 (2d
9379 6.10) |

N

AD AE o
it fie o o B fg3396.10
DB EC

g B W3 E W3 Cw3 D & fHeEle i3 feg DM L AC m3 EN L AB fudie|



fagq 139

r—

- 1 . 1
@,AADE@W:(EW—&x@_—d@)=EADxEN
A3 & 3 W 99 fa A ADE € 439€E § ar (ADE) 3% €aHTemT Hier J|
1
fem met ar(ADE) = — AD x EN
~ . 1
fen 3t ar (BDE) = — DB xEN,
1 - 1
ar (ADE) = ) AE x DM M3 ar(DEC) = ) EC x DM
L ADXE
ar(ADE)  , ADXEN  4p
fem Bt m=17=— (D
ar “DBxEN DB
2
L AEx DM
N ar(ADE) 5 &% AE
w3 =1 =— )
ar(DEC) ! Ecxom EC

foms feg fa ABDE W3 A DEC f&q It Ward DE W3 AHT3d du™=T BC W3 DE
© fegag g2 € f337 I51

fem =&t ar(BDE) = ar(DEC) (3)
fem et (1), @) ™3 (3), 3 7é YUz ger O

AD _ AE

DB EC

ot fem yiw e €we (fedn) <t /e J (8%< < »iag Set wifsar 1 24) fem
T 79 BE, mg Jat &3t fafonm adte
fafamr 3 . miyet anft i€ f€a de XAY fi9
w3 fage AX '3 fdg B, B, B, B, W3 B fer
3¢ "ife3 93 fa AB,=BB,=B,B,=B.B, =
BB J<I

fer 3qt, fage AY, 83 f¥g C,C,.C,.C,
w3 C fer 3ginifaz a3 fa AC,=C,C,=C,C,
=C,C,=C,CI<Ifed B,C, m3 BC & Q@
(€9 f939 6.11) |




140 Jfe

AB  AG 1
s fe@ fa BB = cc (999 EEI_CJTEIHU)
ESil 'ﬁﬂﬂ@HHﬁ%ﬁWBICIWBCW%W%,W
B .C, Il BC (0
fer 3¢, @49 B,C,, B,C, M3 B,C, 3 &' 4 3AT Ty Hae I 1
AB, _ AG, (=EJ w3 B.C, I BC )
B,B C,C | 3 2
AB, AC, (_g} -
BB = CC | 2 "3 B,C, I BC, 3
ABy _ A (=iJ w3 B,C, I BC (4)
B,B C,C 1 4T

(1), (2), ) M3 (4) T, feg Sfumr 77 AaeT J fa Aag Jet qur fan f3g7
Tt € garet § 8 wigurs &9 €3, 37 89 3twdt g7 & ms »izg Jet 91

IHT I 3T HU =7 d< XAY 49 J W3 garer AX W3 AY 3 s <t s
3791 Wifaz 994 fer fafom™ § TJ97 Hae 1334
wrg At R A2 3 udeat yJgadr| fer 3gt vt Is
th}ml{mlgaa%mﬁwm T 8B I
YN 6.2 : 7T a1 347 faH 1397 et € garet
& fra It wauz 9 @5 37 8 3Hdl 77 €
AHTZT Jdet J1

C

fg396.12
fem yHw & g 137 77 FaeT J, #dd WHt 9uT DE few 39t wEle 37 fa

AD AE Y Y N - v
DB~ EC Je W3 DE 34" BC € AHI33 &7 d< (B4 f933 6.12) |

I 19d DE 9T BC € AHEJ &d J, 3T BC & AHIZd f'q Jur DE’ fig

AD AE’ .
fir wet oo (f8)
P AE _AET e

EC ETC
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Sudaz e e utimf fiEg 1 73 o, 3T g By Aae I fA E M3 B’ $ wigd
It Hurgt I grdter 9 (fa€?) udas Y B Yuer AuRe 995 BEt vie 99
Gergges &2 I

Geraae 1 : 7o aEt JuT fam A ABC Ewif 3et AB W3 AC & gHE'd DI E

N N N . N . v “ AD AEH'\ NS nv
@EWWEWBCEWW?WWﬁﬁ:EdédI'(E'tfl'ddd
6.13) 1
Is: DEIl BC (fe3rd) A

AD AE -
fen =t DB = BC (Y 6.1)
e DB _ EC

AD = AE
ot %+1 E+1

AD
. AB  AC C
W AD ~ AE

f¥396.13
AD AE

fer ¥ AB = AC A .

Gwrgg= 2 : ABCD ¥ AHSY 939gd J fan e/ \ g

f&9 AB IIDC J1 AHT3d gre AD %3 BC €3
gHeg fdg E w3 F fem ydg Afa3 95 fa EF

AT AB ¥ ANT3T J (24 939 6.14) | D C
AE BF f396.14
feue fa —=— J1
ED FC A B
TG AM3I CEHICE T HEFSG '3 / e \
dedt I (29 939 6.15) | E G

ABIDCM3EFIAB (fg37J)

fem €t EFIDC (€ dur € AWT3g D -
Jut, R &9 < AH3T JE I5) fez96.15
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JIE AADCTET,

EGIl DC (fI&TIEFIDC)

AE AG N
fem met D = ac (Y 6.1) (1)
fen 397, ACAB €T

CG _ CF

AG = BF
- AG _ BF :

GC = FC @
fer st ()ymM3 (2) 3

AE _ BF P

ED = FC
a) Ny > P_S _ E EN ~
Gerggs 3 : 39 6.16 f9 SO = TR 9
ZPST = « PRQ J| fHu 93 fI APQR f&'s A gt S T
397 J1
g .= PS _PT Q R
J% ¢ fear I fa, SO~ TR .
fem wet STIIQR (T 6.2)
fer =&t ZPST= £PQR (Hd13 dF) (1)
for € om-aw feg & fasr I fa

ZPST= £ PRQ )

fen =t ZPRQ= ZPQR [()M3 (2)3]
fen =t PQ = PR (g9rgg =t Tt ASHY gaTe)

Ie APQR f&F AHEEH! 387 J1
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YHSTHT 6.2

1. 939 6.17 (i) W3 (ii) f&9, DE I BC J1 (i) f€9 EC ™3 (ii) f&9 AD & H& U3 33:

A
A
1.5em A1 em
D E_>
3cm
B 5.4 cm
B C

@) (i1) C

fg396.17 B

. fam A PQR & ga=t PQ W3 PR E™3 gHe™d /M(\
fig Ew3 F rfez 951 3 fofimr 9" 039 A L C
Afa=t f9 o5 fa, ot EFIQR o W

i) PE=39cm,EQ=3cm,PF=3.6cm M3 FR = 2.4 cm D
(ii) PE=4cm,QE=4.5cm,PF=8cm M3 RF=9cm f9396.18

(iii) PQ=1.28 cm, PR =2.56 cm,PE = 0.18 cm ™3 PF = 0.36 cm
A

[\*}

3. f939 6.18 €9 AT LM IICBM3 LN IICD 9=

av oo AM AN . D
IfHgIT T —=—
AB  AD O

4. 939 6.19 TS DEIIACM3 DFIAEJ | T 99
pr BE_BE 5 " FE
FE EC 939 6.19
5. {939 6.20 9 DEIIOQ"3 DFIIOR J | few @ fg EFIIQR T |

6. T933 6.21 f€g gHET OP, 0OQWI OR €3 A3 fdg A, BM3 Cfer 3g7 g5 fa
ABIIPQWI ACIIPRJ | €dAE faBCIIQR J|

A\

939 6.20 f¥396.21




144 afez
7. YN 6.1 T YWdT Ide I fHu a9 fa fe'q f3gw &t f£'a gar © Ho fig f&e°
THIT g7 © AHT3J fidt ot ur Sthdt AT § AHE T3 Jaet I (We 94 fa
3T for & A3 IX &9 fifg 99 9o J) |
8. YNT 6.2 € YW dT Ide It fiu 93 fa f&'q f3gn it fan & gamet © W fdemt
g fis@e or&t Sur Stwdt gam € AHT3T Jet J1 (we 94 fa Irt anms Ix ffe
WfAdT 33 9 J) |
9. ABCD f&'q AN®&g 9393+ J far &9 AB I DC I W3 fer € feade wun f&

AO CO -
fig 0 '3 dee I8 | feug fa — 50 " Do I

10. f€F 93397 ABCD ® fegdge wmum &9 fig 0 €73 fom 3gf dee I5 fa
A0 _CO
BO DO
6.4 f3gw T AHgU3T BEt HUES (Frch)
fugs gra1 fieg it fagr it fa © f3gw mHgu Jemt I& a9 (i) B8 © Haz d
HI™9d I W3 (i) B Tt Hatz et fE'd It wiau3 €9 (AHsmiaun3) 381 3
H3d A ABC W3 A DEFfeq,
(i) ZA=/D,/B=/E /C=/FJIM3
AB_BC _CA -

J1 few§ fg ABCD f&'q AHSY 9399 J|

() 5E = BF ~ D O o< f3gdt AHgu et I (B4 939 6.22) |
A
A ,&;
B C E F
f9396.22

frg st Sy Fae IfA9 A, D e HAZ J; B,EE® HAZ I M3 C, F € HdI3
J1HI3a gu feg, mirt fest f3gwt & migu3T & ‘A ABC ~ A DEF fgue gt w3
337 ABC AHgY J f3g7 DEF €' U3e If| Hd3 ‘~ ‘AHgY’ & YdIe dde J|
we d9 fa 73 IX &9 3Ht ‘HogaiAn’ € Bet Ha3 ‘=’ & YWdl o137 Hi
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for 91% €% fenw frs B grdter J fam 39t f3gat & AogsivaT €t
AfESt &9 37 fapur /Y, 3wt & mguzT § < Hoza gu €9 ganGe
et Gt € firugt € Harz3t & Aat g 99 fafimr wrer grdter 91 Gerade
< Bel, 939 6.22 it f3gAT ABC W3 DEF € €t mHT A ABC ~ A EDF
AT AABC ~ A FED&dT foy Aae Y3 WHT A BAC ~ A EDF f&y Ade If|

g fe'a yns Ger 3:¢ f3g7 Ha & ABC m3 DEF &t AHgu3T €t 79
et St wiH IHET ©F € Ha13 df € AT Af3wT € AHe3T (LA=ZD,/ B =
ZE, £ C=/F) W3 Gat &t Ha1z gmet € Ad Afant T wigurst &t Ans3T
AB BC CA) s - . N . -
(ﬁ=§=ﬁj §73 fegrg gae Ti? »g fen € A9 Jdie | Io6 we Jean
fa M3 1X &9 3t € f3gat € AgdemH3T Set I3 wifrd HuEs yu3 o3 s
gt f&g €< f3gw € Horz grar ¥ fige f3s 13 It wivs Je ms | feg S wmrG
it 2 337 & mgusT SEt I8 mfadht et YUz 99s €t afitm gae It
frgr &9 fegt &2 f3gw € g & rfent &t 5f '3 fegt Hoz 3mar © we Afanf
< fegarg It Agy Aefuz J2 1 for € St W@ Jo fadt fafanm age It -
fafanr 4 . fdo-fda Samet @&, Ho B 3 cm M3 5 cm 8, FHET © JUTHS
BC M3 EF fi91feg ffgnt B w3 C €73 g1 LPBC M3 £QCB JEt & HY,
He B8 60° M3 40° T g5 | for © 57 fdgn E M3 F '3 gHE'd LREF = 60°
M3 /SFE = 40° fig (€9 939 6.23)

Q P
A
60° 40°
E
B 3cm C 5cm

f9396.23
He B8 faget BP w3 €Q »ur &g fig A €73 Jeet & »3 fage ER
W3 FS WA f&9 D '3 deet I& | fegt € 337 ABC %3 DEF &9 3Ht Bue
I £LB=LE,£C=/FM3 LA=/D J& < fegt 3g#t € HaI3 o< ga9d
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5 | feat St HaTs gt B9 3H ot afy A 37 W%@f—o{%=§=0.é

5
AB N CA ~ N v . NS N o
JI o™ T © © g7d f&g 3t ot dfa Hae 7 AB, DE, CA W3 FD § HUE

33Fﬂ"“\1%r— s R o 6 € §979d I& (AT BT 0.6 € §I™Hd I3,

FD
N y o . AB_BC _CA
Had Hue e ar83t J< )|f€Fr3§TDE =D

o f3gdt © widat Az fig o fen fafonm § oo Aae J1 99d @9 3HT
=2*K) ﬁ@w@nmmf&aﬁmﬁvmmaﬁﬁw
fafan 3° A € f3g7t ©t mHgu3T BEt Is foudt ardt yus Jet O
UNT 6.3 : 79T € 477 €9 HaI3 a9 59789 I, I 87 &’ Haiz et &
AHTS-MBYT3T Tetvt 95 w3 fer el 8T 1397 AHgY Je 51

Sudaz anct yfsdy & © f3gat &t
AHUZT BT AAA (JE-de-dT) THT
fagr AreT J1

JI IHT AHTS HATS de

A
fer yiw § © mfid f3g7 ABC w3
DEF & o, fAat fég L A= 2D, ZB=
ZEM3 £C=/F 3, Hudlzrar |
Haer J (29 939 6.24) | 2T 6.24
DP=ABM3 DQ=ACde M3 Pm3 Q& H&C |
fem met AABC= ADPQ (fag?)
fem 3° /B=/P =/E W3 PQIIEFYy3 Je I5(fa=?)
DP DQ .
fem met — = — fag™?
PE QF (f6°7)
AB  AC
as A 507
I< DE = DF (f€?)
. AB  BC AB _BC _AC
fer s op = R e T hor

feuzst . vag feq f3ga € © d< fan J9 f3g7 © € daf € gHe™g gardd Je 3t
f337 © de A3 II< © ade, fogt © 3Hg d< €t g9rad Jaai | fom It AAA
At § Is fou gu &9 €t fofimr 7 Aaer 3
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Had IaH 397 € € dc 189 99 1397 € gHe™d € o’ € 99799 I, I
ge 1397 AHgY Jet I& 1

Qudaz § f3ga € AHgu3T BEt AA arRct fagr Afer J1

€ ug 3T Bftm fa a9 fe'a 39w © 38 de gHed grAd f3gn © 33
det € g9t¥d Jd< 3t Gt ©hit Harz garet mieutst (fBa It migurs f89)
It I | for a6 @ ©%c @ g9 f&g 3t ot Ifa rae I7 ot feg @me Ay
J 7 gn wuet &9 Aag fEq f3gw gt garet gHet gAd f3ga &t gmret @
NS wisUT3t 9, 37 ot feg He J fa fegt f3ga © Har3 d< gavad 967 me
fez fafowr ot 79 9a< I
fafamr 5 : € f3gat ABC ™3 DEF fer yag 9§ fa AB=3cm, BC=6cm,
CA =8 cm, DE=4.5 cm, EF = 9cmm3'FD_12cma—% (T4 939 6.25) |

cm 4.5¢cm 12cm
3 cm\

f9396.25
. . = AB_BC_CA . 2 . -
3T IS YU3 JEr I DE-EF-TD ( 3 € Eo= )

IS LA LB, LC, LD, LE M3 LF§HUIIAT Tual fd L A= 2D,
/B=/EM3 LC=/FJ, g< &< 337 € A3 9 ¥I™9g I |

fen 3qF € »iaat f3gnt © 73 e o (figT &9 Hors gaet € misu3 fe'a
It J=), AT fer fafon & Te7aT 99 Aae J19da @9 AT feg ugqr fa feat
f3gwt € Hoz de ¥99d I5| feg © f3gnt € migusT =t Jo fout ardt 2
JaE I
YT 6.4 : 79 < f3gwr &9 f¥a f3gm o gmret grg f3gm < gmmer 2
HS-mgust (e fea It wigurz f€9) J, 3t fegt © Har3 de 999 Je I3,
w3 fer Tet T2 f3gnt AHgy JeEt I5 |
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fen arct & © f3gwt €t Avgyz7 et $SS (3AT-gwT-3+7) Fret fadr
Her J

Qudas Y § mifadt € f3gat ABC w3 DEF & d, fagt f&g
AB BC CA
DE EF FD

A DEF &9 DP=AB ™3 DQ=AC d2 "3 Pm3 Q & Q|

J<, fifg oft3T A7 AaeT I (249 939 6.26) -

A
B C E F
939 6.26
~ N ~~DP DQ N
fEHT‘EUWFﬂTﬂaETUﬁE=E "3 PQIEFJ (fag™?)
fen =t /P=/E "3 /Q=/F.
DP_DQ _PQ
few et DE DF EF
. DP _DQ _BC o,
firm 3° DE DF  EF (fa€?)
fer =&t BC = PQ (fag=?)
fer yarg AABC = ADPQ (fa€=7?)
fen =gt /A=/D, /B=/E W3 sC=<sF (fa@7?)

feust: 3od we Jear fa & gggdt & aHgu3T € B Yf3dat (Fa3f) 32 (i)
Ha13 dE 9d19d J& M3 (ii) Ha13 garer fe g 3t wigurs feg Je, fed ae= fan
fe'g T Jt Hawe Jor G & miguzT 2 et It st 13 YW 6.3 M3 6.4
T mmarg 3 g 3T afd Aae J fa € f3gqt 2 migusT &t afast 99, fegf e
yfzdut & 79 39s €t 7ge3 st I, fa@fa fe'a yfsda s grar »mus »ny
YUz J Aer JI
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g ge € f3gnt T AggamH3T &t G ardt & we gae IF w mHT
3 1X &9 ughit A | 3HT Tue I fa sss mwaﬂzf‘re?s'w SSS
mwaﬂﬁmaﬁrwmﬁmm?mfwmﬁwaﬁﬁgwﬁ
m@@w»ﬁﬁaﬂéwmﬁaﬁmaﬂﬁwﬁmﬁ%@ww SAS
HIGITHHIT JHCT &8 3IB&T 31 A7 A | for & &t v fo'q fafanm age It
fafamr 6 : & f3gAt ABC M3 DEF fer 3gf 96 fd AB =2 cm, £ A = 50°,
AC=4cm,DE=3cm, ZD=50° M3 DF=6cm J< (24 939 6.27) 1

D
A
50°
50° 4cm 6 cm
2cm 3cm
B C E F
f9396.27
~ PN '\ »x AB AC ~ 2 N EN N
feg, 3HT 24 Aae ﬁ——ﬁ(a—dagzrwa—a’zr)w Z A(grrat

AB %3 AC ¥ fegad 9¢) = # D(3A=" DE W3 DF ¥ fegarg d<) J1ge f&a
f3gw v €9 de grg f3gn © €9 de © 9999 I w3 fegt daf & gofe
T AT ANTS MauT3 feg (AHs-maust) 951 I, M@ £ B, £ C, ZE
M3 LF & HU|

3T AT fd L B=/EWM3 LC=/FJ 19, LA=/D,/B=LEM3
£ C=/F JIfen S€ AAA AHGU3T IR 3° A ABC ~ A DEF J1 3HT mifd
nad f3gm e Az i d, g g fea fagm e feade gno fIgne feade
éwﬁﬁ%%%ﬁzmﬁw%ﬁmféﬁ(ﬁm&
wigut3l) Je, fem fafonm & gaor Hae J1 9da =9 3T feg Budl fa €<
3wt Mgy I& | feg f3gwt €t mHgu3zT &t Is fout arct © Ide Is:
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YN 6.5 : Had B 397 &7 F°d 9 TR 397 & F'd 9 & 99789 Je w3 fogt
JIT & FITET TBMT FHET AMTE WSUTST I I B [FFHT AHY Temt I3
fen ar<t & 2 397 & AHgy3T Bt sAS (FAT-de-gw) FHT fdar
Har J1
ufgst S g fer prm § <t 2
f3g7 ABC ™3 DEF wfad & o fa
AB_ AC ) JeM3 LA=2D
pE pr <V =
J< (29 939 6.28) 3T fHy 3T 77 B
HIET J1 A DEF f&€9 DP= AB %3 DQ
=AC IS M3 P 3 Q & &g

A

I PQIl EF W3 AABC = ADPQ (fae?)
forsdt LA=4D, 4B=/PWM3/C=4QJ
fer et A ABC ~ A DEF (fag=?)
g g wiHt fegt ISt & T93° § TarEe Bt 99 Gerddet BElT|
Gergaz 4 : 939 6.29 €9, 799 PQIIRS J<, 37 fifu 93 fa APOQ ~ A SOR J|

R
P
)
Q S
f§396.29

I PQIl RS (fg37 Q)
fen =t ZP=/S (featzg d)
w3 £ZQ= 4R (feaizg d<)
% It ZPOQ = £ SOR (frag ASHY d)

~—

fen wet APOQ ~ A SOR (AAA AHQU3T IHST
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Gvrgas 5:f939 6.30 €9 £ P U3T 991

A 6l3 7.6

=]
(=)
@)
-
=)

12

939 6.30
J% : AABC M3 A PQR fE3,

AB 38 1 BC_ 6 1 _CA 33 1
RQ 76 2 QP 12 2™ PR 63 2
AB BC CA
I RQ QP PR
fem =&t AABC ~ ARQP (SSS HHGU3")
fem met ZC= /P
(rigusr fygwt 2 Harg Fe)
ud3 ZC=180°-Z/A-/B(f33A T daf € A3 91 3)
= 180° — 80° — 60° = 40° c
fem =&t ZP= 40°
Gvrga= 6 : 939 6.31 9, A
OA.OB= OC.ODJI o
ey fa /A=/CWM3 £ZB=2/D7JI D
I3 OA.OB=0C.0D (f€379)
PR, OA _OD 0 féz9 631 B
OC ~ OB
a5 dt A yu3d L AOD= /COB (fag Asy ) (2)
fem &t (1) M3 (2) 3 AAOD~ ACOB (SAS AHGU3™ aHeh)

fen =t ZA=/C M3 /D=/B (AHgY f3g7t € Ha13 d<)
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Gergg= 7: 90 cm SIet Tt i B3t B BT f¥g g € mMUd 3 1.2 m/
s € 9% &8 €9 77 941 J1 7dd ¥89 7His 3 3.6 m €9t '3 9 3T 4 Afds
gmie On B3t € 2 € Saet usT I4d1|

I% Vs BE AB 59 Tl 43 & M3

CD B34 @ 49 & »Ud 3~ g9 4
Afds 95 gme @net mfest &
TIAET I (B9 939 6.32) |

fg39 3 3T Sy Aae I fI DESBIA &
ydge ot Buel J1HS 8Q DE, xm J1
de, BD=12mx4=48 m

famrs fe@ fa A ABEW3 A CDEfE9, fi396.32
/B=/D (@3 90° I fagfa g w3
T3 B¢ s € 39 gu €9 U3 J9)
"3 /E=/E (IS dx)
fem met A ABE ~ A CDE (AA AHU3T IHI)
BE AB . .
fon =t — = —  (AHgy f3g7 €t Hars gaer)
DE ~ CD =
e d8rx 36 90 cm = —— m=0.9
= =09 (90 cm = 100 m=09m)
g 4.8 +x=4x
EiC 3x = 4.8
g x=1.6

fer Bt 4 Afds 98 € gmiE B34t € ydee df BgTEt 1.6 m I<dit|

Gergg=s: 939 6.33 @9 CMM3 RN gHeEd

A ABC ™3 A PQR &t Higaet I 1 79 A
ABC ~ A PQR J< 37 fHT 99 fg A
(i) AAMC ~ A PNR

_ CM _AB M
(i1) ﬁ:%

(iii) A CMB ~ A RNQ B

Q N P
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IS : (i)
for =t
w3
ud3g

fer &t (1) 3

EiS

o1 It

fem =t ) M3 @) 3,

Gi) 5 F

o

yd3

fem =&t
Gii) (1) T
fem =&t

1% It

EiS]

ge
fem Bt

AABC ~ APQR (fg37 Q)
AB  BC _CA
PQ - QR RP 1)
ZA=/P, /B=/QWM3 £C=/R )

AB =2 AM M3 PQ=2PN
(fa@fa cM w3 RN Higaret I)

2AM  CA
2PN _ RP
AM CA
PN - RP (3)
Z MAC = ZNPR [(2)3] @)
A AMC ~ A PNR (SAS AHGU3T)  (5)
CM CA
RN - RP (6)
CA AB ..
5 = PO (M3 @
CM AB ~ e
RN - PQ [(O)M3 (D3] (8)
AB  BC ..
PQ = OR [(1) 3]
CM BC ..
RN - OR [(®)31 )
CM AB 2BM
RN~ PQ 2QN
CM BM
ﬁ = Q—N (10)
CM BC BM - o
RN - QR ON [(9) M3 (10) 3]
A CMB ~ ARNQ (SSS AHgU3T)

[feuzt : 3HT fem yme © 3ma1 (i) & 3791 (i) fT9 <93t a1t fedt oz &t fiu 39

AIE J1]



154 gfes
YHGRS! 6.3

1. € 3 939 6.34 &8 &3 9¢ f3g7 © Afenr &9 fagz-fags =3 mau T3
SF mHgu3T arct & fou fam e Yuor 3t €739 B Bt &3 I w3 AWy

f3gwt & Hozs gu &g & gamg | p
P
A 60’ A 6 >
f{]\ 1
80° 4¢ 80’ i N
B CQ R B35 CQ 4 R
@ (i)
P
D
L ) p M 5
27/ \3 2,570 2
N 76
M——P E 5 F N L Q 10 R
(iif) o (iv)
D P
A /XS ﬁa\
7
2.5 0 5f
8¢° 8(° 80 30
B/A\C E = L4l E Foe R
3 ) . (vi)
839 6.34

2. f939 6.35f&9 A0ODC ~ A OBA, £ BOC
= 125° W3 ~ CDO = 70° J1 £ DOC,

Y “ D C
ZDCOMI £ OABUST IJ | -
3. AH&Y 93937 ABCD, A €8 AB IIDC 0 125°
J, € fegge ACm3 BD WA &9 O
'3 e I8 1 © f3gdt < mgusT IRt A B
- N S OA OB = =
TYWIT e I8 feu@ fa — = — J1 f¥396.35

OC 0D
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. —

4.

10.

9 , QR _QT . - pA
fg3g 6.36 feg, 05~ PR M3 L1=22 JI

feu® fa A PQS ~ A TQR J1

A PQR ©f AT PR M3 QR €3 JHeg

fdg sw3 T fem 3g7 Wiz 9o fa Q<L

/P= /RTSJIfeu@ faARPQ ~ARTS J1 559 6.36

f939 6.37 f&9, AT AABE=AACD J 37

feu§ f3 A ADE ~ A ABC T

fd39 6.38 &9, A ABC © fiug &9

AD M3 CEnr f&g fig g3 dee D E

I feug fa:

(i) AAEP ~ A CDP

(ii) AABD ~ A CBE

(iii) A AEP ~A ADB B c

(iv) APDC ~ A BEC

AHT39d ¥3d9H ABCD ©t =uret gret
I AD §°3 Afgz EaEt fig I M3 BE C

ITCD§ F '3 deet JI fewg fa D
AABE ~ ACFB J1

939 6.39 &9, ABCW3 AMPE AHIE

f3gwt 95, fAgt € 9 B M3 M AHAE

I | fig 99 f: A u! B

(i) AABC ~ A AMP
CA BC fg396.38
(i) — =—
PA  MP R R
CD M3 GH gHe'd £ ACB M3 / EGF & C
wfad AHEsT™d I5 fa fdg D 3 H
JHETT AABC M3 AFEG Bt gAet AB
w3 FE €3 AfE3 I51 A9 AABC ~ A
FEG J<, 37 feu§ fa:
_ CD _AC
(1) GH FG A [ P
(ii) ADCB ~ A HGE
(iii) ADCA ~ A HGF

-
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11. 7939 6.40 9, AB = AC =8 f&a megHt f3g7 ABC <t <ureh aret gar B €73
Afa3 Efe'q fdg J17dd AD L BC W3 EF LAC J< 3t fHU 9 fSA ABD ~ AECF J|
12. f€q 337 ABC &t gHe™d get AB, BC W3 Higar AD fan J9 f3g7 PQR
Tt gHeTd grTet PQ, QR W3 HiTaT PM ¥ AHE-waUTSt I8 (YW fo3g
6.41) | few@ fa AABC ~APQR T
A

fes3g96.41

13. fea f3ga ABC &t g7 BC €73 f¥a fig p fen 3t Afiz I fa L ADC = £ BAC
J1 feu fa cAa2=CB.cD JI

14. 89 f337 ABC &Mt 3A=t AB, AC W3 Hitrar AD f¥a J9 f3gw &t 3amet pQ,
PR WG PM € gHe™d AHTG-MEUTST I €dA8 f9 A ABC ~ A PQR J|

15. 6m SgE T8 fiqd Hg gu g y3 49 S mfls ‘I ugee St dget4 mJ, Ae
fa 7 m fEq Hierg €t ugse” &t Saret 28 m J1 HisTg &t §9ret u3T 9d |

16. AD™3 PM f3gHT ABC W3 PQR T gHeTd Hitae! Js, 7e fa

AB AD .

AABC ~APQRJ| fHT a3 fa PQ - PM JI

6.5 WHIU f3gw ¥ U39S
3Ht feg it fonm I fa € migy fagmr e B St Hars grre © wisur3 féa <t
(Ms) Ifde I&1 o 3t Fee J fa fegt f3gnt © U39est © Wau3 w3 garet &
nigu3 fE9 ot Heg I7 3 wiee I fa 43des & <dqr fedarent (square units) f&9
Hilm AT 31 fer et 3Rt feg Gve 99 e I fa U3dest v migus feat et
%BW%W%M%W@WI%W%H%%;@%W
Wl{ﬁ&rhﬁqﬁua@@ A
YHW 6.6 : € AHIY [FFHT € YIS :
o WBUTS [T et Harz grret & :
WSYTS & eddT € I JeT I/
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r—

HE3 : 1§ © f387 ABC "3 PQR fer 377 €3 95 fa A ABC ~ APQR T (2
939 6.42) |

s -~ ar(ABC) (ABY (BC) _(CAY
mHT” T @ger J fa ar(PQR)_(PQ) _(QR) ‘(RP)

o {33 T U39es U3 995 BE mirt fegt © gheTg g AM 3 PN fige T |

Jc¢ ar (ABC) = %BCXAM
w3 ar (PQR) = - QR x PN
leCxAM
ot el ar (ABC) _ 5 _BCxAM "
ar (PQR) leRXpN QR x PN
2
IS, AABM M3 A PQN &g,

ZB=2Q (fs8*fa A ABC ~ A PQR 9)
w3 /M= /N (T3= 90° BT )
fem met AABM ~ A PQN (AA AHU3T IHSY)

AM AB
fem =&t N = PO 2)
&5 It AABC ~ APQR (fezr J)

AB  BC CA
fern et PO = OR RP 3)

ar (ABC) AB AM ~ .
fem =&t ar (POR) = ﬁxﬁ ()M (3) 3]
AB AB ..
) [(2) 3]
_ (ABY
= | 7o

IE (3) T YW I, HS YU JET J
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ar(ABC) _ (ABY'_ EZ_(C_AT
ar(PQR) ~ (PQ) (QR) \RP

g wirt for yHw © yuar § ganle wEt fe'g Gergge & I7
A

Gegg=z9: 939 6.43 f&9, JUH3 XY

f3g7 ABC & 37 AC € AHI3T I W3 X
feg fem f3gm & g99d U39es @ ©
grart f&g 3T I I MGUTs % UITIg| B . c
939 6.43
I A fE3r g XYl AC (fd3r )
fen =t ZBXY=/A M3 LBYX=/C (Ha13 J)
fem met AABC ~ A XBY (AA AHGU3T JHY)
ar (ABC) (ABY -
fem Bt M(XBY)=(ﬁJ (YT 6.6) (1)
&% It ar (ABC) = 2 ar (XBY) (fe379)
ar (ABC) 2
fom wet ar (XBY) = | 2
fer st ()3 2 F
2
(ﬁ} =E,§1—g ﬁ:_zfn
XB 1 XB 1
- xB _ 1L
AB ~ 2
. XB 1
1——:1__
" AB 2
- AB-XB _2-1 AX_V2-1_2-42 5
AB J2 AB 2 T 2



IEEL 159
YHSTH 6.4

1. H5 B A ABC ~ A DEF J W3 fegt € 4398 gHd 64 cm®™3 121 cm? IS |
H3d EF = 15.4 cm < 3T BC U3T I |

2. & m&e 933987 ABCD faH &8 AB I DC J, € fegge mmun &g 0 g €3 dee
IS 7T AB =2 CD J< 3 f3gAt AOB M3 COD © U3deST T MaUT3 U3T JJ |

3. 939 6.44 &9 f&°3 »murg BC €3 € 337 A C
ABC ™3 DBC ¥ J¥ I&|Had AD,BC § O

ar (ABC) _ AO o
ar (DBC) DO

"I IS 3T EIAE T

4. W99 € AHGY 387 € ¥3de® gdgd e 37 B D
o a9 fg €7 f3g7 AodamH d2 I | 439 6.44

5. fem f3g7 ABC € 3A<F AB, BC %3 CA © WU fig gHed D, E W3 FI& |
ADEF %3 AABC € Y3Je& & WgUT3 UY3T dd |

6. fig 93 fa © AHgu f3gat T ¥3des T »iau3 fegt et Harz Hidaet ©
WMSUTS & 2ddT JeT J|

7. g 33 fa fe'a egar &t fan 377 '3 g=me 91e ANgH {397 ©F u39es GF @dd
v f&'q fedae '3 g AHgHt f3g7 © ¥39es v wigr Jer J1

"t €°39 g8 w3 e €°39 nurdlaas & fe@
8. ABC W3 BDE © Mg f3gwt fer yard I fa D g7 BC = Wy fig J1 f3gat

ABC %3 BDE © ¥3Je& @ WaU3 J :
(A) 2:1 B) 1:2 ©) 4:1 D) 1:4
9. © AHgY f3gat &t gaTet 4: 9 © niaut3 &9 I8 | fegt f3gat € u3geyT e
MSUTS I
(A) 2:3 (B) 4:9 (C) 81:16 (D) 16: 81
- N
6.6 UTEtETIIgH YHW

fug@ht mHT3t f89 3T uretaTaion YyHw &7 daft 39T A€ J 9 I 1 3AT 39
foprret gnirar fem Yiw & 719 i3t At w3 fere wog '3 9% yEs I8 o3
A& | 3HT 73 X 29 fer € A3 wd <t ufg /it g wirt fem yhw e fier,
3wt €t mHgu3T &t urgeT T Yuar agd e<idr | fer § i a9 et mrt fEa
AHdE 39 € Jd '3 AeHY firyg 3 9 9re 9 € €2 U ¥ AHgy f3gwt
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o8 Hafuz g fie €t 293~ agiar| B
g g €9 AHde f3gd ABC BElE

farer 9= B AHdE J1H& B8 BD dde AC
€3 8T T (Tu 39 6.45) I U AT T

3 AADB %3 A ABC 1S3, A D—l C
LA=ZA f§396.45

w3 Z ADB = Z ABC (fag=?)

fer =&t AADB ~ AABC  (fa=?) (1)

fem 3qt ABDC~ AABC  (fg&?) )

~ NN n

fer &, (1) M3 (2) © »igHd $9 BD € €< UH © 337 HYIs f3g7 ABC
T AHGY I3 |

o, fagfa AADB ~ AABCJ
w3 ABDC ~ AABCJ
fen =t AADB ~ ABDC (37T 6.2 &t foust 3)

Sudaz g9uT 3 wirt Js fodft yiw '3 udee It
UNT 6.7 : 79T [ AHSGE 39 & AHIE &%
g 3 J9& '3 8 fi fowr 7€ 37 e 89 &
g UH 92 397 W& Fad € AHIY Je I&
w3 wyH &9 & AHgY Ie I&1

»Q yretaTgign YHW & fHu 935 sEt
Sudaz yHw € €33 Fdte|

UNT 6.8 : B AHAE 397 €9 Ja & eddl
ol @ IS € @ € HI 978 JeT I/ (569-479 ¥.)
7g3 : A f€d AHde f3gw ABC fost 98t 9
fam =7 B AHdE J|

wrt fifg s/9sT I fa AC? = AB? + BC?
»@ BD LAC fifge I (29 939 6.46)

Iz AADB ~ AABC (YN& 6.7) 35T 6.46

o -----Ow
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AD AB :
fen st 2B = AC (I AHTE-MEUTST IS)
Gu AD .AC = AB? (1)
% It ABDC ~AABC (YH®W 6.7)
CD BC :
for =t 3¢ = AC (3A=et ANTS- U3t I5)
H CD.AC = BC? 2)

(HM3 (2) 135 '3
AD .AC + CD . AC = AB? + BC?

o AC (AD + CD) = AB? + BC?
o AC .AC = AB? + BC?
o AC?*= AB? + BC?

Sudas yHw & fia ydts 393t aifezs fefomat sums (Fargar 800 €.
y.) & Jaf fed gu &g fiasT Ht
T wifez e feaqde ye Bat It 4596 ga0er J, fiat 67 e 8 grret
(37e Syret w3 937 378 G J gIeT I
fer T wgg I -
for »ifezs € feade o™ g €941 =7 ¥3des for € 8 Braie gaTer '3
I3 IJd1 & ¥3deHT & 73 ¢ ¥IHd J|

fer arge for Yy & ge-ae dums yHw & faor Ater J1
yretgTgign yHiw © €5 © 9 &9 off fagr 7 merer 97 3t fugsht st
&9 79 99 9 J fa fem e @@ A Ho J1ge vt fer § g o & gu fée
fig gatar |
UNT 6.9 : 799 7R 397 &9 B IAT €7 €9d1, TRIHT & Irret & €9ar & 7F
& 999 Je I YISt IHT € AITHE 18T 5%, AHAE JeT J1
wg3 : feg wg € f3gw ABC f&37 J, fam &9 AC? = AB2+ BC? J1

wH fHT 99a™ I £ B = 90°
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fer & |y 99 € et wirt &g A PQR © 996 g9 IF fam &9, £Q =
90°, PQ = AB M3 QR =BC (24 {939 6.47) |

A

f396.47

IE APQR I AT Y3 Jer I

PR? = PQ? + QR? (urfegrsian yHw, fagfa

£Q=90°J)

A PR?= AB? + BC? (@gaT 3) (1)
Y3 AC?= AB? + BC? (fg37 Q) )
ferm =t AC = PR ()M (2) 3] (3)
IE, AABCH3 APQR T

AB = PQ (@gaT 3)

BC= QR (@gaT 3)

AC = PR [€*ug (3) feg fig o137 3]
ferm =t AABC = APQR (SSS HIHITHHIT)
fem =&t ZB=2/Q (CPCT)
3 ZQ=90° (@gsT 3)
fer =&t ZB=90°

feust : fem Yo © B 99 7g3 © st wifzar 1 2d 1§ fest yHat &t 33
TIAET © Bt 99 Gergast sElE|

Gerag= 10 : 939 6.48 f&9 ZACB =90° W3 <
~ av_ _- o BC* BD.
CD LABJI fHT 99 fa - ap Y
I5 @ AACD ~ AABC
T 6.7) A D B

fg396.48
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. —

AC AD
fem met B AC
At AC?= AB.AD (1)
fem 3qt ABCD ~ ABAC UHT 6.7)

BC BD
fem met BA = BC
o BC?>= BA.BD (2)
fer st ()3 ()3

BC> BA-BD BD A

AC? - AB-AD AD

Seraas 11 . g Ut fan derg o fem 3g7 fedlt It
J fa femer Jagr fAgr du (Fleq) 37 2.5 m & gt '3
I w3 ferer QuasT fHaT mHls 37 6 m €t €79t 3 5t
feq fuzdt Ia udger J1 Ut & Sgret uzT I91|
I5 : ¥s G AB Uzt I w3 CA du (demg) I fam &
fuget A '3 T (24 939 6.49) |
Euail BC=25mM™3 CA=6mJ| 25cm ©
yrfegTgign Yiw 37 A e J 939 6.49
AB? = BC? + CA?
= (2.5) + (6)?
= 4225

fer =&t AB= 65 C
fem 3gt, Ut &t Suret 6.5 m I
Gergaz 12 : 939 6.50 f&9 AD L BC J1 g 99 fa AB? o
+CD?=BD?+AC? J|
J5% : AADC 3 7é fger J
AC’= AD’+CD* (1) B A
(urfegratan yHw) f§39 6.50

6cm
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AADB 3 A Y3 ger J
AB2= AD?+ BD? )
2) &8 (1) § wez '3 A fuzer I -
AB?—AC? = BD? - CD?
o AB? + CD?= BD? + AC?

Serga= 13: BL W3 CM &g Avde f3gw
ABC it Hfgaret g5 w3 few f3gw
€T 4T A AHIT JI fAT a9 fa

4 (BL? + CM?) = 5 BC?
T : BLM3 CM f&F A ABC &t W faaret
T A feg £A=90°J (F4 939 6.51)1
AABC ST
BC?= AB? + AC?

AABLT
BL2= AL’ + AB?
2
i BL2= (ATCJ + AB®
2
T—|"f BL2= AC + AB2
U 4 BL2= AC?+ 4 AB?
ACMA T
CM? = AC? + AM2
. ABY
Hr CM? = AC* + B
2
o CM2= AC? +
o 4 CM? = 4 AC2 + AB?

Q)M3 (3)§ 735 &8 Aé fHser 7 ¢
4 (BL? + CM?) = 5 (AC? + AB?)
o 4 (BL*+ CM? = 5 BC?

(urfegrgiam yHw) (1)

(ACE" Hu g L J)

2)

(AB & Hu g M J)

3)

[(1) 3]
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Gurggs 14 : WfE3 ABCD @ »ieg Afgz A

o et fig I (24 939 6.52) | fifg a9 fa

OB? + OD?>= OA2+ OC? J| Y T N

\J 0
J5

0 II AT JE PQIBC ig fAAas  §
fa P gAT AB '3 HfG3 9 W3 Q 37T DC f&39 6.52
'3 A3 I

I PQIl BCJI

fen =t PQ L AB M3 PQ L DC (£ B =90°M3 £ C =90°)

form =t Z BPQ =90° W3 £ CQP=90°J|
fer Bt BPQC W3 APQD €& w3t I |
JEAOPB3I
OB? = BP? + OP?
fem 3gt AOQD 3°
OD? = 0Q? + DQ?
AOQC 3 W Y3z Jer J
0C?= 0Q?* + CQ?
W3 A OAP 3 7S Y3 Jer J
OA2= AP? + OP?
(HM3 ()& "353
OB? + OD?* = BP? + OP? + OQ* + DQ?
= CQ*+ OP*+ 0Q? + AP?

ey

2)

3)

“)

fg8fIBP=CQ®3 DQ =APJ)

= CQ*+0Q*+ OP? + AP?

= OC? + OA? O EROES

YHSRS! 6.5

1. g9 f3gwt Eft garet Jat a3t arewt g1 fegurfas 99 fa fegst feg”

fagdt-fagst f3gm mHae f3gw J1 fem vigst &9 goe <t Jaret < fou

(i) 7cm, 24 cm, 25cm (i) 3cm, 8 cm, 6 cm
(iii) 50 cm, 80 cm, 100 cm @iv) 13 cm, ,12 cm, Scm
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10.

11.

12.

PQR f&€d AW 38w J faAeT d< P AHdE I D

w3 QR '3 fdg M few 377 Az I fa

PM L QR J | €dAQ fI PM>*=QM . MR J|

939 6.53 €9 ABD € AHde f3gw J femer

JE A AHJE I M3 AC L BD J1 feud fa

(i) AB>=BC.BD

(ii) AC>=BC.DC .

(iii) AD*=BD.CD f939 6.53

ABC f€a mHe gt f3g7 I fameT de ¢ AHae J1 fifg 33 faAB?=2AC2 J |

ABC f&€d AHegH! f3gw I fan f€9 AC=BC J1 a9 AB =2 AC* J 3t fig 99

fa ABC f€a AHaE 387 J1

& gt f3g7 ABC & 377 24 J1 fene I9a fiug &g &t Saret uzr a9

fifg 99 fa feq AHg3dgw &€t garet € 2gar

T 13 Ore fedde’ € @9dr € A3 € ¥d°d

Jer JI

f9396.54 €9, AABCE R Afiz et fig 0

W3 OD L BC,OE LAC "3 OF LAB JIfeuy fa
B

(i) OA?+ OB? + OC? - OD?- OE? - OF? = AF? + BD? + CE?

(ii) AF?+ BD? + CE>= AE? + CD? + BF? AY3g 6.54

10 m St g Ut ¥ Ju o8 Sarfe '3 AHls o8 8 m & §9ret '3 mfas

e fuzdt 3q udeet J1du © mug 37Ut € J58 fd & gdt usT ad|

18 m 879 f¥q g u= 49 © Quas 9 &% 379 e f¥q fHar afswr Ifewr I w3

39 T grg" T fEd fa8 & afem Ifenm 31 &g € warg 3 98 & fdat gat

'3 Jifswr A< fa 319 33 99 7 fa 39 <t Saet 24 m T

f&q gerdt wam f€q geret Wiz 37 €739 €% 1000 km/h & 98 5% 73w J1

7w €3 Jg geret Ao O JevEt w3 3T UeH €% 1200 km/h & 9% &F

v EN 1 o N [ . o -

IS zr|1E Ufe gre gt gerdt Aot € fegarggt gdt fdat d<qft?

< U9 fagt &t §79mEt 6 m M3 11 m I& w3 87 AH3S 9t '3 u3 951 Hdd

8ust T Jou fAfant € fegarast gt 12 m 92 3t €t © Quas fiafont ©

fegarast gdt usT g
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13.

14.

15.

16.

17.

1.

2.

f&a f3g7 ABC fAFeT 9 C AHaE J, ot A
g CA W3 CB '3 gHed ffg D »3 E
Afg3 5| 7T 99 fd AE? + BD? = AB? + DE?

J1
foam f3gm ABC © fAdg A 3" BC '3 Hfanr c ]
R
famr &g BC § fdg D '3 fen 3gt deeT J D
fg DB=3CD J (¥4 939 6.55) | fHg 93 f§396.55

fa 2 AB?=2AC? + BC? T

- ~ Ay po . A 1
mm@ﬁﬁgﬁABCﬁgﬂTBC’3fe—orfang€Fr3§TFrfﬁzzrf—orBD=§Bc
3, filg 99 fa 9 AD? =7 AB* J|

foan mvgHt f3gw &9, g a9 fa Gwet fia gar & egar v f3grer (55 are)
Ore f¥q fHyg &9 € 29d1 € 9¥7d 91" © gd9d Jer J|

At €739 9= 9 §HET gig9e € : AABC €9 AB = 633 cm, AC =12 cm M3
BC=6cm JIdE B J :

(A) 120° (B) 60°
©) 90° (D) 45°
YHSTH! 6.6 (e wigntg )
f939 6.56 €9 PS d= QPR & AHEgw J1 fH a3 fa S—Ez% J1
p A
D
N
Q S R C M B
939 6.56 fg3396.57

9339 6.57 €9 D f337 ABC € 9de AC €3 Aft3 fEa ffg A= fa BD LAC
w3 DM L BC ™3 DN LAB JIfig a9 fa

*fag yreredt Wit & famdt 3 st 91
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(i) DM? = DN . MC (i) DN? = DM . AN

3. 939 6.58 f&9 ABC € f3g7 J fam f&8 £ ABC > 90° I W3 AD L CB J1fifg
a9 fa AC2=AB?+BC?*+2BC.BD JI
A

A

fg396.58 f§396.59

4. 939 6.59 f&9 ABC f&€q f3g7 I fam €9 £ ABC < 90° I m3 AD L BC J1fHT
a9 fd AC?= AB?+BC2-2BC.BD JI

5. 939 6.60 f€9 AD f3g7 ABC &t f€a Hfaar I w3 AM L BC J1 g a3 fa

BC)’ A
(i) AC2=AD?+BC.DM + (7}
B BCY
(ii) AB2=AD*~BC.DM + | —~
1 B M_l D C
(iii) AC* +AB*=2AD*+ — BC?
f9396.60

6. g ad fg 3 AHT39 93997 © fedaa & <ddr e 73 Rt gt & dar
€ 13 € 9dr9g JeT J|

7. f939 6.61 &9 f¥a Tag Tt © Hierer
(€33) AB M3 CcDmum &9 P g 3
e I | fig 99 fa

(i) AAPC ~ADPB

(ii) AP.PB=CP.DP

fg396.61



f3gw

r—

8. 939 6.62 €9 f¥a Tag & € @33t AB W3 cD eu@e 'Inmur fda fdg p '3

Jod I | i ad fa

(i) APAC ~ APDB (ii) PA.PB =PC.PD
A
B 5 C
939 6.62 f§396.63
9. f937 6.63 €9 f3g7 ABC &t gar BC '3 f&q fdg D few 3¢ Afez I fa
BD ABA 1% - - - EN
C—D—A—Cmﬁtra—m%(AD, a4 BAC €T AHES™HI J|

10. T fa =<t < arar feg Hahnt
Uaz Idt J1 Grdt e €3 et
e T I U S AZT3 18 m
€ug I3 39 2 I3 I 3 Sfamr

dsTuet et g I feR 3gT A T

far @Rt o 3 gdt 3.6 m I w3
Afes fig 3 Gret gdt 24 m Jifeg 539 6.64

Vs 98 f OFet 39t (@ret &= @

g 3 943 39) 33t Iet J, OnS fdat 39t wrgg oet It J1 (B9 939 6.64)7

Hag Bt 391 & 5 cnvis T €9 8 viwg Y 31 12 AfdsT g oo € d5
fufswt gat fdat I<aft?

6.7 HAI-MH
fer wiftmfe f&g, 3HT I fog safsmt e wiftis 37 T -

1. © {939 figt € wrarg fEd frd J< ug3g wadt gu € Wy 5989 & Je, AHgy

fd3g 908 e Iz |
2. A'd AJEIHH 939 AHgy Je I ud3g ferer §%< Ha adt J1
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Jfes

10.

11.

12.

13.

Hdd € AHde f3gd &9 € f3g7 T qoe w3 ¥ gor, grAd 387 © doe
3 f&d AT © ANE-auTst I 3t €9 337 AHgY JE I8 | feHg RHS
AHGU3T IR faar AT AaeT J1

HY3 J9d &t HIS J AT

. gwet €t g9red Hit 18 € 9ggH AHgY I€ I8 Ha9 (i) §I8T € Ha3 9T

HITHd J& M3 (i) BT Tt Harz garet B dt wisur3s &9 (AHs-migurst) e
wod fan f3ga &t f€a gaT € AHi3g et © gaet & wBar-msar fdent '3
Jodt fiq gyt fiydt are 37 fog grdt € garet fa Jt wigus f&g S5t Aidht I |

. vag & Jur fan f3gn et € gt § ffa It »iaur3z &9 <3, 3t feg qur

FAdt gAT € AHT3T It I
Hgd € f3gnt fi&g Ha13 d< gam9g JI< 3t §Ist &t Hars garet fia ot wisuts
&g Jeit Is m3 fer 3et €< f3g7 AHgy J€ I8 (AAA AHGUST IR |

. Wag © f3gnt &g fEq f3gn © € de gHed THd 387 € € daf © ¥d9g I

3t 2 f3g7 AHgU JT I8 (AA AHGU3T R |

. "ad € f3gAt &9 Hoz gt ffa It wigus &9 J< 3t €9t © Hazg de

g9m99 J¢ JI6 w3 fen Bt €< f3gd AHgU I€ I8 (SSS AHGU3T JHel) |

. Wag f&q f3gw = feq d= gAd f3gw € f€d a< € gargg I w3 fegst at §

gI8T @Mt garet fia It miguz &9 I 3 &< f3g7 Mgy Ie I8 (SAS
AHGU3T JH<1)

T AHgU fIgHT € ¥3des! BT mgus §Ist Eht Hatz grmet € wigut3 € Sgdr
€ gd™gg Jer J|

Tad AHaE 337 € &g AHde @F fiyg 37 6Fe J9c '3 Sg Ao AR 3T Sg ©
o UTH gae 98 397 AYds f3g © AHgU Je 96 w3 »ium &9 & AHgy Je I
&g AHdE f3g &9, JdT BT 291 gt € gAe! € T99T € 73 © §9T9d I
J (urfegTaign Ynw)

Had fea f3gm &9, fan feq g e <gar gt € garet € 29dr © 13 © ¥9¥d
Je 37 ufost a7 € HeHY dE AHAE Jder J1

yrsat € et fern

Higd AT fer et & »iftmfe 8 © Gergde 2 €9 ywar dae J 3t




7.1 gfHar
X 3 &9, gt ug 94 I fa fea 3% '3 fan fdg & Afast fsaufas a9
€ ®et, i fagen »ig gfent € feq 73 St mgezs gt Jifan fdg e y-u9 3
gﬁ@ﬂ'fﬁg?x-ﬁﬁﬁﬂﬁa’ﬂrgﬂ (abscissa)a?.l"@ﬁﬁ'lﬁﬁ'ﬁgﬁ x-gﬁ'gf
gdt On fig e y-fagen »ig At et (ordinate) FITQTL I 1x-9 '3 Afax fan
fdg € fagem ¥ia (x,0) gU € I% & W3 y-Ud '3 Afg3 fan fig © fagen via
(0,y) ue JE I |
&ﬁa@gﬁaﬁg%ﬁwaﬁ%Iﬁam%%ﬁ’ggﬁ”ﬁ(perpendiculm
axes)?%ﬁﬁ?ﬁ%lﬁﬁ?ﬁ@ﬁ@ﬁémﬁm@%@m@
fegent MaHTg feust & e g 1 fdg A4, 8)& fdg B(3,9) &, B & CG, 8)
5%,C&D(,6)5%, DEE(,5 &%,E & F3,3)35,F§ G6,3)35,G
& H(8,5) 35, HE 1(8,6) 55,18 J(6,8)3%, J & K6,9) 3%, K & L(5,8)
sEM3 L& A e Q Ifen 3 g fdgmtP(3.5,7),Q 3, 6) M3 R4, 6) &
A3 q f&q f3gm 5@ | 5% Tt, feq f3ga se< € et fdgm X(5.5, 7),
Y(5,6) M3 2(6,6) & M 17 fq f3gm g @< wet fdent 5@, 5), T(4.5, 4)
M3 U (5,5 & e 1wz fE, fdg s & et (0,5) M2 (0,6) 578 HEE w3
fag U & fdgnt (9,5 M3 (9,6) 5% He™g 1 378 fagsT fesg yus ger g ?
&% 3, AT fea S e 9 T T ax + by + ¢ = 0 (fA8 « MI b fedd fART
&t ) € gu 9 € 9% =&t feq mitade & Ae »ayt gu L9 faguz aae
It 3T g T Ae® duT YUz gt I 1575 It 3Rt mifonrfe 2 e ey ga I fa
y=ax2+bx+c(a¢0)€TWF'8'H%a'fW§W (parabola)j?"’ﬁ'lh‘lﬂ'&'ﬁ?,
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WFWMW@@,WWW (coordinate
geometry)ﬁaaﬂﬁmm(algebraic tool) @gufévﬁe'srfﬂga’lﬁmﬁ
J | feg gtaarfes e y@ar gaa farrfest e nifors g9 f<9 rorfesT gt
J M3 dinarfez § fanrfest evmer iz fie <t morfea d<t 91 fen
aae, fogew »ia fanfest € MBar-wsdr 439 @9 993 A9 Busar I,
frm 3gt 3f3at, féatstfdar, mivdt ufs=us (navigation), 9% HTHIT Hedt
(seismology) NI IS

few miftmrrfe f&T, 3t feg u3ar fa € fdont, fist € fsaer via e
J€ J<, <f fegaaat gat fan 3gt uzT i3t 7 Faet I M3 3w &3 I8
fadent 3 92 f3g7 & ¥39es fan 3g7 U3 3T 7 AgeT J| At feg &t
ySar fa feg Je e fder § hieBe I e o459

(VNN

mgafeahgwmn?hvmw %
fageﬁ'mmrwmwwa‘lgwa?ﬂ
7.2 €<t g9
WG gaT 83t Afa3T 3 feeT adre B
fesr wfag B fear 39 Afog AT 36 km Iﬁkm
Yag (east) M3 15 km €39 (north) TF J| ox
It afgg At afge B T gt fast wms vy A 36km > UdY
q9& 3 fon IgT uzT A9 Aae T 2w SHiE | -
few Afaat & wrant gu fee, 939 7.1 mgATa fo39 7.1
SgHTfenT AT AaeT J1 g€ IAT BItEt gat v
U3 J9& Bel, yrfegrdign fa@an e yGiar a9
HIE T

g His 38 € fdg xgd I Afez o= 1at
AT feost € fegaast odt u3™ 99 Aae J°7
Gogas €39 3, figg 72 & € o A
(4,0) M2 B (6,0) gﬁe'@'o'aa'lfa—trAwB X
Ud ‘I Afg3 95 |

f939 3 AT @y Aae T fa OA =4
fea*e’erB:gfsa*e’rzrl ) -V“ : 6\

fer et A B E}gﬂAB=OB -OA= ,)0) 6, 0)
(6—4)W=2W3| fazg 7.2

N W A 1SN X

=)
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few 3¢, Aag € fdg x g9 '3 Afez I 3wl fegst © fegaaat
T WATET &8 UIT dd HE IF |

e H& B8 mit y 43 '3 Afgxs det € fdg &€ ot | ot it fegst €
fegarast gdt u3T a9 AaE It ? A9 féE C (0,3) M3 D (0,8) Y-Ud '3 AfE3
J< 3wt gat QU € 3gT U3T a9 AFE IT I= CD = (8-3) fearett =5
feamett I (24 f939 7.2) |

geatgatfase 72 fdec3 A fde et gat usTaorae 9 7 faGfa
OA = 4 fegretnt w3 0C =3 fearetnt 3, fer set c F AT gt AC= /32 + 42 =5
feareht § | few 397, IAT D M3 B € gt BD = 10 fearetmt U3 99 Aae T

g< A3 wHt € fen 3¢t € fdgnt '3 fegrg gdte, 7 fsaen »ia ufent
'3 Afgz &dt &, 3T ot wirt fegst € fegarast gdt u3T a9 Aae It ? I,
fen 397 q9& © Het, wrt urfegdion faGen e ytiar gatar | Mg féa Geraae
B I OHIT |

fo3g 7.3 i<, fd P 4.6) M3 Q (6,8) Ufgst TEET (First Quadrant)
feg Afas gs | feust €t fegaast gt U3 I95 Bet, Mt urfegrdion faGan
?MWWWW?W@PWQE)CW EWWPRWQSM
B I PIQS gfesrmfu—u'FrQsa'T 'J deeT I2 1T R M3 S © fogen
W FHSTT (4,0) MI (6,0) I& | fed Lt RS = 2 fearet™ 71 57% Tt QS=8
fearett M3 TS =PR = 6 fearetut J|
AURe J fad QT = 2 feamet »3 PT=RS =

2 feamebur A Q6.9
g yrfegraion fa@an e yGar 3, g |
YUz der I 6+ P T
PQ? = PT>+ QT2=22+22=38§ St (4’{;
fem met PQ = o5 feamehut Jfemm | 4]
It & WS- wS T Saret g g fdgt |
ot g4t fam 3gt u3T Jdar ? i
faen™ P (6, 4) M3 Q (-5, -3) '3 feg@
a%(éﬁgsaw.i)x)g%’é%%(ms)fﬁﬁw o) i 2(43{;4 S 6'\(6 0)
gt fdg p3 Ut Jet Qs 3 PT &g fde & fgg 73

y-g9 & ffg R '3 deer J|
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AN I )

R(0, 4

P(6,4)

101 2 34 55

QE5,-3)

fgss 7.4
J< PT = 11 fearebdt w3 QT=7 feareut I (fag ?)
mae f3gw P1Q f&9, urfeaaion faGan € =93 Jaa Ag fise
& PQ=+112+72 =170 fearetut
W < fai & fdgnt P (x,y) M3 Q(x,y) v

ot fegamaat gdt u3T JEe | «-Ud '3 &I PR M3 Qxy 1)
Qs fifg1 P F Qs '3 ¥ &9 fifg 7 fend T3 2 2T
(Y 939 7.5)1 )

3T OR=x,08=ux,JIfeA B RS =x,—x, =PT J|
&% dTSQ =y, MIST=PR=y J ITEH BE QT =y, y,
J1 g APTQ &9, urfeargion faGew € y&ar 3, © koS
H’?;'iﬁ-l'&?"'%:

fgss 7.5
PQ* =PT? + QT
=0, =-x)+0,-y)
few et PQ = (-3 ) + (32— )
forrs fe@ faQfa gat ovmt usTaHa get 3 | it d=® T&T3IHd TS
BT
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fer 3g7 P (x, y) M3 Q (x, y, € e &t fegaast gat J:
PQ=(x,— %) + (3 )’
=) fﬁ'gﬁ""g?ﬁ' (distance formula) aﬁw@? JI
feustnt .
1. femm gu 578, fég P (xy) € ¥& fdg 0 (0,0) 3 gat
OP = 4[x2+y2j€:r %|
2.9 PQ = (- x,)" + (v, - y,)" T fBU HIE Tt (fa€7)
Gemee 1 : a1 fdg (3,2), (-2,-3) M3 (2,3) feq f3gm g BT 95 ? Agd oF
3t R fa faw 3gt e fggma geer 37

4% : W™Q PQ, QR M PR § YU JI& BT gdt H3d & Yuidr qdte, fAg p
(3,2),Q (-2,-3) M3 Q (2,3) f€3 98 fdg g= 1 Ag fimer §

PQ= J3+2) + (2+3) =4/5* + 5 =+/50 =7.07 (&TTFaN)

QR = (-2 -2 + (-3 ~3)> =/(-4)* + (-6)* =52 =721 (ar5aT)

PR= \(3-2)> + (2 -3)" =1’ + (-1)> =+/2 = 1.41 (&ar=aN)
fa@fa fegst f3at gdtmt fST fan € e A3 It gt 3 <u 9, few =&t
fegst fdgn p QW3 R &% fea f3gm geer J1
&% Tt PQ* + PR? = QR? T | femr &et, urfeardign ynw € €< 3, wg U™
Baer I fa £ P=90° T
fem @et, PQR € M f3ga 1
Geage2 : feu@ fa fde (1,7), 4,2), (-1,-1) M3 (- 4,4) T =TT € AT T= |
i : Ha B &3 98 fde A(1,7), B@4,2), C(-1,-1) M3 D(- 4,4) I5 | ABCD &
=941 fHT a9 «t fEa feut feo I fa €rer g A= fa =9ar St At
AT §ITHd M3 ©< [SddS HIT9d J¢ I&, T <93 di3t A= | IS,

AB =\/(1_4)2+(7—2)2 =.9+25=1/34
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BC=(4+1)’+@2+1)7 =/25+9 =+/34
CD =/(-1+4) + (-1 -4)> =9+ 25 =/34
DA=\/(1+4)> + (7 -4 =25+ 9 =34
AC = J(1+ 12+ (7T +1)° = 4+ 64 =68
BD =./(4+4)’ + (2 —4)> = J64 + 4 =/68

fegd AB=BC=CD =DA J§ "3 AC = BD J, < 93d9H ABCD &4 979
gA'ST 59799 IS M3 ©6 fedde g999 I | few &et, 93994 ABCD fEa
TIIT J|

qusel I8 . WAT 979 gATeT
w3 fEa feads, Ha 58 AC
S <t 39T uzT T9e I | fem
AD? + DC? =34 + 34 = 68 = AC?
J I fen s, urfeargion faGan
T8BcEaT L, D=90°TJ 19T
gHATT §979d 9 M3 ffa a=
A S J€ &% 93d9H fea
TIaTJ AeT J | few &€ ABCD
fox Tgar J|

Gurgges 3 . f939 7.6 fan
AT f&9 d4 §97 (desks) ©F T

Afggt & SaRT@er I 1w 1 23 45678 910
gra3t M3 IHBT g TTEH

A3, 1), B(6, 4) M3 C(8, 6) '3

ot &5 | o IF AOe 7 foa y

Qg &g gt 3™ (in aline) &9 fesT 7.6
gt I& | ITds Afaz €39

feg |
J% : gal H39 € YGar 3, g YUz ger I

AB= \(6-3)+(4—-1 =0+9 =18 =32
BC=.8-6)+(6-4)° =4+4=8=2/2

—
=]

N W A NN 0O




fagen »ia farfeat 177
AC= (8 -3) + (6 1)> =/25+ 25 =+/50 =52

fa@fa AB +BC =32 + 242 = 542 = AC J, fer &gt widt afg Aae o fa A, B
WMIC e JUT’I AHIHT (collinean TS Ifer Bet €1 f3& e It gy fEg gahrt a1
Gegae 4 3 y ST ffa AdT uzT &3 3 fa fdeg (x, y) gt (7, H M3
(3,5) 3 99799 €T (equidistant) "I I2 |

3% : W& B9 P(x, y) fdemT A(7, 1) M3 B(3, 5) 3 99799 gat '3 I I A"§ AP =BP
fagr J| fem set AP2 = BP? J

EAc) =72+ -1P=x-3)2+((y-5)7
< X—14x+49+y* -2y +1=x>-6x+9 +y>— 10y + 25
g< x—y=2

fegdt xm3 y ST &Ster AT 7
feuet : fors fef fa mildae -y =2
T8y foq JyT ger J | IHT mMuE
fue® nifers 3 feo e 7 fa 89
fig afea e fderr A M3 B T
g999 € gdt '3 der J, JUHT AB €
&9 AY g9 I Afgg der J1 fen
B x—y=2 T HBY JUTUF AB T7 B
A €9THd J (84 939 7.7) |
Gegae 5. y-gd '3 fEq wifmor fég , e
U3t &9 | fggmt A6, 5) MI B(-4,3) T /2 34567
gdrgd gat ‘I I2 |
J% : wAt Aree IF fg y-ud '3 Afgz
et St fdg 0,y TguerderJifen feg9 7.7
set, ¥ &Q fa fdg P, y) fdgmt A
3 B 3 99799 €t gat '3 JITS
6-07+(G-y=(-4-0+@B-y)
at 36 +25+)>— 10y = 16+ 9 + y* — 6y

=<

N
2

N

PO RN WA ®

&
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a 4y = 36

Cu y=9

fem ®et, (0,9) e fdg I

MG MU I8 S AT FANE: AP= (6 -0)> + (5-9)> =36 + 16 =+/52
BP= /(-4-0)° +(3-9)° =./16+36 =+/52

feust :Qug &3t aret féusT e ytiar aoe 98 wiAt gue 97 fa (0, 9), y-Td M3

JUYS AB € &Y AHEITHA € a¢ fig J|

YASEST 7.1
1. fdgmt € Jo fEfaut Afant &t fegaast gat usT a9 -
Q) (2,3),41) (i) (=5,7),(=1,3) (i) (a,b),(—a,—b)
. fdent (0,0 7336, 15)€1 fegaraat gt usT a3 Idt gt ge gmar 72 fea
fe3 €9t Afgat A M3 B € fegaas! gt U3 a9 AaE J72
3. fsgufaz &g fa at fée (1, 5), 2, 3) M3 (-2, 11) AUt T& |
4. Ao FI fadat fde 5,-2), 6,93 (7,-2) fea miggrt f3ga e g os |
5. fanr M3 &9 99 a9 10
fdent A,B,c M3 D3 ¥
I 5, fam 397 fa fo3e
7.8 &g TanfemT famr I |
U3 IHBT ANTI & iEd
YT 3 gmiT TUT, INST

[\*}

LY B~ Y | B N B - -~

afe

& U<t 9, “at 3 =t Feet Co
fa ABcD feg =garJ ? Snst
fen 7% Afons &t T 1 gt
H3d € YWdT g9, o fa D%
fegst f&9 d< At T

6. Tt ity ot anitgr gu 123 456 78 910
T8 IJIgH ©f famd e
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(79 Jet J 37) &7 M WU €39 e g < In:

0 (-1,-2),(1,0),(-1,2),(-3,0)
1@ (-3,5),(3,1),(0,3),(-1,-4)
@) (4,5),(7,06),(4,3),(1,2)
7. x-G3 '3 QU fdg uzr ad 7 (2,-5) M3 (-2,9) T §97H9 € g '3 T |
8. y € §U H® u3T a9 fAne &t fde pe2, - 3) M3 Q(10, y) € fS9aTa &t gat
10 feamehut T |
9. FdT Q(0, 1) fgmT p(5,-3) M3 R(r,6) 3 TI™89 & gal 'F I 3T x T HS
U3T dd | gahHT QR I PR ST UIT T |
10. x 3y < g wifFgr Adu uzT 93 fa fde (v, pfdent 3,6 M3 -3,4) 3

SN =

gdrgg &t gdt ‘I I=|

7.3 fesHs H3d (Section Formula)

g grar 7.2 feg &3t Jet Afast &
wre gaie ME 88 fa 28lies duat afaa Y

A W3 B ¥ fegga fq yAde e=qd B(36, 15)
(relay tower) MfAd AE™S P '3 AETUI (x’L)_’LP c
gaaT grget J fa e=9 & B I gt

X

=)t

D E

Gret A €t gt 3 daret 9= | Hag P
JuHs AB '3 Afgz I, 3T feg AB & g5 7.9
1:2 enigu3 fee fegfaz ad | (R 939 7.9) IAge vt A $us fdg o
Hale M3 1 km & &9F gfert '3 1 fearet vate 3t B & fsgem »ia (36, 15)
J<dr | P € AfE3t ATa< € &e AS P € fagen Yid U3 J9s 9die s | feg
fsgen vig wrt fam 3gF usT aaie ?

H& &G P € foaem Md (r,y) I | P M3 B 3 x- U9 '3 &9 9 7 fend
FHE9 D M3 E '3 W& | BE '3 &9 pC fug 7 feng C '3 & | g mifoorrfe
6 f39, U=t aret AA MHUIT ARt € YTaT 3, A POD 3 A BPC AHGY T3 |
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OD OP 1 _ .

PC PB 2
=~ 13
fermet % -1z Y _-lg
36—-x 2
fegst mitdaeT I x=12 M3 y=5Jer J|
IHT fenet A9 a9 Aa<e J fa P(12, 5) H93
OP:PB=1:2 & AZHE daeT J |
g ge Qudaz Gegde 3 YUz
I3t aret Aeardt €@ w9 '3 fegHs
o fenmud H39 YU3 99 €7 U3E JAIE |
fam & fdent Ak, y) 3 B(x, y)

few met

(x,y)\

B(x,, y,)

o

¥

'3 fegg ad M3 Ha € fdg P (v, y)
JUTHF AB & m : m @ U3 fEg niegat
(internally) 39 3 S3€7 J,

PA_m

PB m,

J (@8 f¥39 7.10)

9339 7.10

x-Ud '3 AR, PS M3 BT &9 fi< | x-Td © AHT33 AQ M3 PC 5| o=

AA AHU3T dHeT I

1

m;x, + n, X,

my +m2

A PAQ ~ A BPC
PA_ AQ PQ
fem et BP PC BC
J< AQ=RS=0S-OR=x-x
PC:ST=OT—OS=x2—x
PQ=PS-QS=PS—-AR=y-y,
BC=BT-CT=BT-PS=y —y
fegst Wet & (1) feg 995 '3 7g fimer T
moXTn YT N
m, Xp =X Y=y
.X—.X EN - o
LI LB I HSE x=
m,  X,—X =

)]

fHser 31
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. m y_y 2 =~ o m +m a
few 39 L _ L L FT I s = TN fmar §
m, Y2y = m + m,

few &, € fden™ Ax,, y,) "3 B(x,, y,) & W& BT T8 Utz AB & m, : m,
T migus 9 niegat 39 '3 S5 8 AT P(r, y) © fager wid 0% -

[mlxz T myXx , Yy, +m2)’1j )
m, + m, m, + m,

@uﬁaaél’ewmgsa (section formula)&ﬁ%’ﬂ??l

fen g39 & A, P 3 B T )-U9 '3 &Y fdg a w3 Qug »aAg yfafenr
g9d < YU d13T AT AAET T |

Had P IUTHT AB § k: 1 € nigu3 9 23, 3 fde p © fagem »ix

[kxz"')ﬁ’k)’z"')ﬁ

k+1  k+1 ] Jedrl

ferm Afast: fegur iz e iu fdg @nd 1:1€ mgus figSsergifen
sel fdentt A(x,y) M3 B(x,y) d @B B8 qur i AB e Hu fdg &
fagem via

1~x1+1-x2’1~y1+1~y2 _[ftn nty =
I+1 I+1 2 2

Mg ge feg™s §39 '3 wufa3 ¥ Gergaet & I JaiT |
Geee ¢ : On fdg € fogem vig uzT a3 7 fdent 4, -3) M3 (8,5 &
H3S T8 JUTHT § iegst 393 3: 1 ¥ ngu3s g dzer J|
1% : & 8@ P, y) B3teT i 91 fegvs §39 &t <93 d95 I Ad

3(8) +1(4) 3(5)+ 1(=3)
x= a7y 2T T g
3+1 341
Y3z der 31 fern Bt (7, 3) It Ste fdg 31
Gemae 7 : fde (-4, 6) fdent A(-6,10) M3 B3, -8) & @@= =8 qur &5
& far msurz feg dger g ?
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7% : Ha B8 (- 4, 6) IUHT AB § MiEgat 39 '3 m, - m, € Mau3 g 3T

J | fegrs §39 & =93 d9q, S fser I

3m,—6m, —8m, +10
<—4,6>=['"1 o, mzj (1)

ml+m2 ml+m2
e dd fa 799 (v, y) = (@, b)) TR I x=aMI y=b JT J|

- -~ —8m +1 . =
fer 39T - —4=MW6ZM§?U|

ml+m2 ml+m2

3m—6m, .. o a
g= 4= "2 Fynyzderdl:

m, + m, s

—4m —4m,=3m, — 6m,
< Tm =2m,
Cu mom,=2:7
R Iug feret A9 a9 <t et I fa feg migurs y-fagen »iat & Adne
Jddar d |

S 410 8™ 410
- + m . N Y Y
g A L R (m, 5% GUT &8 g1 8= 'F)
m, + m, m
m,
—8><%+10
= 5 =6
i
7

fen et fdg (-4, 6), fdent A-6,10) M B3,-8) §HE BB wr iz &

2:7 Swigug feg 3w J|

BT IS MEUI m cm & L1, AT k1€ g I < fafunm AT AgeT 91
m,

H& &G T (- 4, 6) U AB § niegat 39 '3k | fRg SFer I I fegrs A9

THTET, ATS YU e T
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a6 |36, Bk+10 .
S0 T k4l k+1
3k—6
few &t —4=
. k+1
Hr —4k-4=3k-6
AT Tk=2
U k:1=2:7

AT y-fagem wia @ Bt < fenet A9 39 Aae T |

few Bt fdg (-4, 6), fden™ A6, 10) M3 B3, - 8) & @< =& quts &
2:7 ewsug feg Ezer J|

feust . AT fem migurz & T PA W3 PB U3T J9d w3 feg Gust €
MU & J T YUI J9 AT 7, A fq Iug feg Areardt 92 fa fdg A, p
M3 B ANJHT I |

Gemee 8 : fdgm™ A2, - 2) M3 B(- 7, 4) & H&B< =8 3yis § f3s mis
g7aT (Trisection) d9& & fdenT & fagen #iq U3T3d |

75 : H& 88 Uz AB § {38 mirs grart AP Q B
fegdsc s e pm3 Quaslge ) (7,4
AP=PQ=QBT (27 fd39 7.11)| fesg 7.1

few e, P JUTHz AB § »iegat 39 '3 1: 2 € wigur3 fo9 ST 7| few et
P € fagen wid H39 ©vmar I&T foy 95

1=7) +2(2) 1(4) + 2(~2)
1+2 1+2

j,ﬁ"%’(—l,O)
IS Q YT AB § miegat 39 '3 2: 1 € vigu3 fSg S I fem et QF
fogen vid o5
2(=7) +1(2) 2(4) + 1(=2)
241 2+1

j,g@'(—4,2)

few e, fdent A m3 B § ieGe =8 dumis § 35 mirs gma1 d9s @8
fdgmt € fagem wid (-1, 0) M3 (- 4,2) I |
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feust . nmt Q € fagen »ig Grd PB & Hu fig Ha & =t 3™ a9 Aae I |
fere &€t Arg Hu fdg 8 §39 €7 y§dr d9&T u=ar |

Gemae 9 : fdgn™ (5, -6) M3 (-1, 4) & eBe =& Juus § y-uar fan
nigurs feg Izer I fen are fig € fsgen »iag St usT 99 |

7% . He B8 BStermau3sh:1 17 fegAs ped onar, ferur 43 &
k: 1€ naurs &9 S5 a9 =& fdg © fagen vig 75 -

(—k+5 —4k—6J
k+1 k+1

feg fdg y-g9 '3 Afaz I w3 wit e 9f fa y-19 '3 37 (x " %) fA=a (0)
JerJdl

-k +5
few »et =
k+1 -
few »et k=593
-13
I BT HIUI 5 1U|k€TH853u€’3H1?s'a12fa€[ 3 JWEUE"’UI

Gemgae 10 : AT AT A6, 1), B(8, 2), C(9, 4) M3 D(p, 3) fea mit3g 9g9g+
e ferntgufeg g 3T p e s U3 ad |

J% : wAT Aree I & AHT39 93099+ © fedde feq grd § migsag da<
I |

fen set, feqae AC € Hu fig € fsaen »ia = fegge BD € Hu fig & fagen »ia

(6+9 1+4J (8+p 2+3J
g-'e- > = ’
2 2 2 2
. (15 Sj (8+p gj
" 2 2)7 T2 2
15 8+ p
fen met — =
2 2
Cu p=1
YASTESHI 7.2

1. @ﬂf&?@ﬁﬁ?ﬁﬁ@&?ﬁf&%( 1,7) M3 4,-3) & B =8
S & 2.3 @ wigurg feg Sser J|
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2. fdet @, -1 M3 (2, 3) &
HHTS JTdT (Trisection) dd&
=% fdgnt € fager vig uar
od |

|
a

3. 3U3 HIS [T U SHTES
gae@s @ BT f¥a
wrfegrard He™s ABCD feg,

e 70 4 48 38 8 J8 qu S 0
N

9% @ &% 1m & wat '3 o2t | /

gt gETEPHT et IS5 | I Al

AD € WMEHTT MTUF 9 i

in gt 00 B I W

g%, fam 39t fa fdza 7.2 | | | 5
f&@g wanrfemr fapur J| 123456780910

fsgrfaar gndt @379 f<9 AD fogT 7.12

=~ 1 =~ ~

ezwewe’rgﬁg

@3¢l I 3 €8 ¥ g ¥ oz fiat T I yig nis<st aga ffg aD &
1 Y =N o a S Y N o ) o a
5 99T € "9rE o g4t 3 €3t I M3 ¥ fea &% 937 i3 féet I
Sut Sfamt & fegaast gat af 97 Aag afid & fea aiwr §37 fegst
ut gfant & a8 & Jyis € ta »iut get (fegam) '3 Iz
2 3t GRE miryeT ¥37 fag stz gater 97

4. gt 3,100 M3 6,- ) S Tm BT B iz e  1,6) faanau3
fegdzera?

5. fdgm A(1, - 5) M3 B(- 4,5 § H® BT & Jumig & »Ua™ fan wigur3
feg dzer 7| fen I3 =3 fig € fosgem vig St U3 99 |

6. 799 f8€ (1,2), 4, ), (v, 6) M3 3, 5) feR g ffT 8= '3 fea AT 39 9399+
é’fﬂ’ﬂ?ﬁ??xm@y U3t g |

7. fdEg A © fogen »ia u3T a9, fAg AB f€a I & fenm J farer aeg
2,-3) IMI B € faaem wid (1,4) TS |
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8. HAd A M3 B FHITT (-2,-2) M3 (2,-4) I 3T fdg p & fsgem i uzr

— o 3 -~ -~ =~ o -~ —_— =
a‘o'sT1%rAP=7AB J< M3 p JUHF AB '3 AfGI d< |
9. fdgm™ A-2,2) M3 B2, 8) § HB BT T® JU™HF AB & T'9 §979d FaT
feo S5 =@ fdenf € fasem g usT ad |
10. f&F AY 939gH 7 U39eH U3T &9 fane faua few g <93, 0), 4, 5).

-~ o~ -~ 1 Y 0
-1, HMI (-2,-1) TS | [Hd I : AHIIIIH €T U3JeH = E(Qﬂ?feaw

T ITEeH))

7.4 fIgA e u3Ies
fugstit 3t f&g gnt ufgmr 3 fa g faga & wrug w3 Ene
Har3 fug &9 (89 €3 9= '3, 33+ & 439e® fam gt ugr aigT &
AgeT J | gAt It f&3 §39 & y@ar a3 At
1

f3gw er 439es =Exn-rrma'xfﬂuai=’ssr

IX a3 &9, AT f3gw =
U39eH U3T Id& © B I1da (Heron)
¥ H39 @ <t Hfods Ji3T ATl I
Hod fai fggw @ 35 fayat @ fogen Al 1)
o o3 3=, 3T 4t 3t fereT 439es
U3T Id HAC J ? (35 5) C(x3, y3)

ey feett fow T Mot 3 for gt M
gdl 39 €7 YGar dad {38 gar=t
u3T g9 M3 feg 919 € H3T &8
¥39e® U3T &9 BQ | Y3 feo feut
wAfa® I Aaet 9, fermgu 3 Gr s o QP R
A ga=t MufoHw Afrret & gu ffg9 7.13
fg yuz § 7 | v Sle fa &t ’
fer<t J9 gt Aow feut J|

H& B8 ABC ffa f3gw 3, fene &€t fidg Ax, ), B(x,, y,) M3 Clx,, y,)
35 | fdgnt A, B 13 C 3 x-U3 '3 U9 B9 AP, BQ W3 CR fiS | mume gu
fS9 93997 ABQP, APRC "3 BQRC AH®Y I& (Y4 939 7.13)1
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g f939 7.13 3, feg AUAE T fd A ABC @ 439e® = AMSYT ABQP €T
Y3deH + AHBH APRC TT 43JeH - AN®YT BQRC T 4398
At fego St aee g fa
e IS T 439eH =
few =¥,

N 1 1 1
AABC ¥ §39EE = —(BQ +AP) QP + o (AP +CR) PR - - (BQ + CR) QR

1 1 1
) (v + YD) —x) + = ()’1 + ¥ —x) - B (¥2 + ¥3)(x3 = xy)
1

By [xl(yz =)+ (3 —y)+x(y - )’z)]

few e, A ABC T 43de® fanina — [xl — %) 5= W) +F 50—y, T
A SHT W& J1

Qg fen g3 e Qutiar sene ¥ e, g3 Geudet '3 fegg qdte |
Gegge 11 . OF f3g7 & ¥39e® Uz a9 fAme faug (1, -1), (- 4, 6) M3
(-3,-5) T& |
9% : fAMaT A(1, -1), B(- 4, 6) M3 C (-3, -5) ¥ f3gd € 439, Qudas
H3d T 96 MEAT J

(AHT3T ga=T & A7) x (Bust €t fegarast gat)

N | =

% [1(6+5)+(-4)(-5+1) +(=3) (-1-6)]

1
= —(11+16+21) =24

fem wet, fagw ©r 439w 24 Tgqr fearetnt T

Gergas 12: fder A5, 2), B4, 7) M3 C (7, - 4) 3% 98 & AABC &7

H3deH U3T I4 |

J% © gt A5, 2), B4, 7) M3 C (7, - 4) T8 {397 ABC ¥ 43965 J
%[5(7+4)+4(—4—2)+7(2—7)]

1 —4
= —(55-24-35) = —=-2
2 2

fagfa u3z9em fea vy I, fen st feg fae=aHa &at T AaeT | fer et mnt
Y39e® © gU -2 T A3Ha U 2 BT | fen 3et f3gw = u39es 2
=9ar fearett J|
Gergas 13 : fden P(-1.5,3), Q(6,-2) M3 R(-3,4) & g&& &8 fIga v
U39es U3T a9 |

\S)
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7% : fe3 9% fdent &5 9o @8 f3ga e 439es J ¢

%[—1.5(—2— 4)+6(4-3)+ (-3)(3+2)]
= %(9+6—15)=0

dat wAt 0 =dar feqret 439ed =FT JEt f3gn YUz J9 Aae It ? femer
w3y ot J ¢ ferer »@w I fa Aaq faw f3gw e 439ew o feaet g, 3°
e frya Aot g=ar|

GeaeE 14 : kT W& U3T a9, Aa9 fig A2, 3), B4, k) W3 C(6, —3) MMt I ?

J% : fa@fa {35 fég miodt s, fom et fegst 3 9o =8 fagn @ 839 @S 0
J=ar |

%[2(k+3)+4(—3 -3)+6(3-k)] =0
=T %(—4k)=0
A k=0
fer e, ke BHTTHB 0 T |
g My §°39 € ATg Fdte
AABC €T §398% = %[2(0+3)+4(—3 -3)+6(3-0)]=0

GvrgaE 15 : AT9 A(-S, 7), B(- 4, -5), C(-1, -6) MiJ D, 5) f&a 9399+
ABCD ¥ fHyg 95 3 fen 9399H €T 43de® U3T d4 |

i% : Bm3 D & i@ 3, 3078 € f3g7 ABD "3 BCD YUz g€ 75 |

JT  AABD €T #3995 - %[—5(—5—5)+(—4)(5—7)+4<7+5)]

1(50+8+48):%:53E'?JEITfE!s(TEﬂm‘r

&% I, ABCD €T 4398% = —[4(-6-5) —1(5+5) + 4(-5+ 6)]

R —= | =

(44 —10 + 4) = 19 =II1 fearebut
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few €, ABCD €T 439e® = 53 + 19 = 72 <J4T feareht

feust : fam gggd € 439w U3 dd& € Set, mAl Gng few 39t fagwat fi<g
3¢ dF, hﬁr@aﬁmwmﬂ'wwm&wmme

WEQ'HSWUTI

YASESHT 7.3
1. €7 f3g7 & 439e® U3 99 fan € fiug 75
@ (2,3),(-1,0),(2,-4) (i) (=5,-1),(3,-5),(5,2)
2. Jot feIhit &9 gaa <9 « &7 W& u3T a9 3 fa f3a fdg miadt 3=
@ (7,-2),(5,1), (3, k) i) (8,1),(k,—4),(2,-5)

3. gt 0,-1), 2, 1) M3 (0, 3) T fIgw St gar=T & Hu fdent 3 g5
T8 {397 T U39eH U3 7 | for u39es v fe3 9T 397 © u39es
SH MEUTI U3T AT |

4. BW 93997 T 4398 U3T &9 fane frua, fer i f<L(-4,-2), (-3.-9),
(B.-2)MI (2,3)TS |

5. Mg 1x f&9 gt ufgmT § (urs 9, @emaae 3) fa faw fggw < féa
HfTa™ (Median) A& Sam99 439esT @8 € f3gwt f<g <3<t 91 fen
&3 €t uz3% BF f3g7 ABC © et 99 fAne fug A4, -6). B3, -2) M3
C(5,2) TS |

YHSEST 7.4 (féar migwa )
1. fdent AQ,-2) M3 B3,7) § HERBT T8 Uz & U™ 20+ y—4=0 fam
weurg feg I3 3, 8a usT ad |
2. x M3 y fS9a fea AT u3™ a9 A9 € (v, y), (1, 2) M3 (7, 0) AHIHT T& |

3. fdentt 6,-6),3,-7) M3 (3,3 FITASTB IAF T A LI UST AT |
4. A9 f€a TIT € € HOHS (Opposite) T TAHT (-1,2) M3 (3,2) T& 3T =IIT
T At @ o< AT u3T &g |
5. fgHaT =919 € T Aasdt Ag® ©F X A3 € fefemraghit & garerat
faferr=t aa& et feq nirfegrara mils @r a3 f&3T fapdT J | IsHag
* feg ymarest yifonr &t fewet 3 &at 71
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T UT (Safding) fem EtAr e e oo ecs
(boundery)’3 »ryRfeg 1m &t :
T I BATE IIE IS I AHts & o]
fon $a3 © ea feafagn +|
warg erwrg Bfaerr gfewr &
m(lawn)ﬁ'ﬁﬂ'gq'i'ﬁ E
939 7.14 fegfeyrfemr
famr I Ifefemmagbrt & 4
s € gat fR feg &t
< Ufent @ giv gtie a5 |
i) A& H® fdg Hae JT, f3gw © fiusf € fagem g usT ad |
(i) Hod H® fdg c I= 37 APQR € fagenm »ia dt J=ar ?
&% Jt, Qudaz €9t Afggtmt f[<T f3gwT €7 u39e® u3T &g | IAt
Jreye g ?

6. T8 f3g7 ABC € fAUT A4, 6), B(1,5) M3 C(7,2) I& | FAT=T AB M3 AC &
IHSTT D W3 E ‘I deat get gy fen 39t fast aret 7 fa %:%:i
J| AADE €T 43Je8 U3T dd 3 feRdt IBET A ABC € 43deH &8 Id
fa@ar (yiwr) 6.2 W3 fa@an (Uie) 6.6 & @ F9) |

7. H& B A(4,2),B(6,5) M3 C(1,4) fea f3gw ABC € fiug 75 |

i AT I A< TS Hfaar Bc § b '3 fwset 91 fdg b € fagem »ia
U3Taq |

iy AD '3 Afg3 wfad fdg p € fsgennig uzTad fa AP PD=2:13< |

iy Hfaar=t BE W3 CF €3 »ifad fdgm™ Q w3 R € fagen #ig u3T
g9 faBQ: QE=2:1 J&@ M3 CR:RF=2:1 = |

(iv) SAT ST TYE T ?
&< : Qv fdg 7 f3&" Hfuar=t & Afyr 3=, G0 & f3g7 & dedd
(centroid) Ffde I& M3 feg gg fea Higar § 2:1 € »igus ff9 S3e
ol

(v) HId A (x,.y,), B (x,,y,) M3 C(x,, y, g1 ABC € fAyg I= 37 fen
f3gn € d'edd © fagem vig u3Tad |

8. fdert A (-1,-1), B (-1,4), C (54) M3 D (5,-1) 3 f&a »rfes ABCD
e JIPQ.R M3 S §H=d A= AB, BC, CD 3 DA € WU fdg 7% |
3t 9399 PQRS f€q =9ar 37 ot feg feq wfeg g2 4t feo foa
AHY3dgH J ? ad< Afaz €39 fef |
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7.5 AI-HH (Summary)
few nifowrfe fe9, 3t o fou safamt e »ifrrs 137 T -

L P(x,, y) "3 Qlx,, y,) T fe9aa & &t |, —x)* + (3, - 3)* T

2. fdg P(x, y) ST yB fAg 3 gt 2 + 2 JET T

3. 6w fde P(x, y) € fogew #ig 7 fdeudt A, y) M3 B(x, y,)_ &

TH IJYHUS & m, :m, Ewgﬁe'anm?f’rsa 3 I I, I
ﬁw&_“zm

[mlxz + myx Sy, + mz)’l}
m,+ m, m, + m,

4. fde™ P(x , y) M3 Q(x,, y,) HEET =& Jumiz PQ € WU fig < fagen
ke (_xl”z,iyl + yz] de |
2 2
5. f8g (x, ), (x,, y) M3 (x,, y,) T 95 T fIgH € U33EH

o 1
ferina E[Xl(h = ¥3) + 5= ») + (- )’2)]
T At v W& Jer T

Usar @ &l femm
g1 7.3 &9, fan fdg p € &<t fAne faoem ¥ (x, y) 96 M3 AdT
Gu fde fan € fden A(x, y) M3 B(x,, y,) § B QT =Byt §
negat 39 '3 m, :m, € Mau3 g dger g 3t
B mx, + nm,x, , _omy, +myy,

m1+n12 m1+m2

fors fe@ faPA: PB=m, i m,

yg #aq fég p fdent A w3 B € f[So Afag sat T, Yz feo quts &
g799 34T AB €9 Afgz T f78 PA : PB = m, mUB"’MFﬁ'HﬁE’U"’
fsrPfa@wrrAmaBaﬂmr@a'wmsawaa’rsa(externally)
'3 e J| wifaagt Afgstnt s Adfuz fegms AT e mfons
It I AT ST USan|




o=t 99 A ugTe

There is perhaps nothing which so occupies the middle
position of mathematics as trigonometry.

(3=l 3~ fegrer mee It aifez ef J¢f fer 397
et gy I, 7 @nel W Afg3t T AEs 8 AY)
— J.F. Herbart (1890)

8.1 gfiar

gd 1M miFt MuE WS o8 3 g3 Gergdet BElE, e AHae f3gat e

o d Iuust 3t A "Aadt J1 @erade € Bt
1. ¥is 36 fEa Has © fefonradt 339
HieTg Sde 9| g& Add Jet
fefenrget Hisrg T fivg & 2y faar
I 3t g mHde 33 gae
FBYST 3t AT AaEt I fan 39 fa
fd3a 8.1 feg foufonr famr Ji

HIET g7 fg3a 8.1
2. Ho 88 ffq 834t et € faard Afas

WMYE HI'S € I&%dat '3 gal Jet

I w3 Q7 fen o<t © THd faad '3
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Afez fEa veg € ¥ Jost U=t '3
I IS & ey gt I fem Afgst
&9, fEa mHde f3gm 9o ©f asusT
3t A maet I fam 397 fa fio39
8.2 &9 fexrfent famr J, wag 39§
feg €%t uzr Ie, fam '3 feo
B3 gat I 31 o 3HT ot o 93
U3T 3 HIY J7
3. Ho B f&q 9ray g=T = grargr ger @A @B
&g €5 faor 31w 9 €5 <
3 o AEl I JET § TUE € BET M:jf_-;_':'_‘___r_?_ ______________________ I
Ot v 393 W9 € g9 foam §
e T 17 s B A e e T fe3983
T3t IreTd § Syt I 3t graraT fig A '3 H e W 9 ©9 99T § BuE
et grgd wiG Tt I 31 feg graraT e J9 fdg B Sa wr gfam Jer J1
ot AT Al € €1 rETs 37, fag W 5t €yt 9%, B €t @9t usT
I HIE J7
IIBIAT I3 F UST SIMT AT et I | fog Saatar aifes &t 7T f3dH3t
T nied W et I | "P'fEl\[Fl"THHEr ‘trigonometry’ dﬁo{ Hae ‘tri’ (InHHe' wag J
f‘Esf"H) ‘gon’ (fHHETMHH%QﬂT) W3 ‘metron’ (fFrFIET’HHH%)-FU) 3 fisd gfeomr
J1mms &g faasfst oo 8 f3ga &t gaet w3 af ¢ &9 © Adaf =r
s 3T AT 1 yrets s &g f3dehzt §ua o3 are oW = faag fimg
w3 gdteTs e fiser J1 ydls o 89 vais fefamrat f3defiat e yuar
fuset =t 3ot w3 fogt 37 gt Hue Bt aoe s | win < ferishifdar w3
3f3a fefamis feg gzt a7 gt feafas fedwt f3d=fizt © Aasut '3
WOTfa3 IS |
fer wiftmrfe &9, wirt™ fEa Avae f3gw &t gaet © 99 migumst e Gre

A

o
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Jfes

%@E@@@ﬁéﬁﬁﬁmﬁ%mﬁl@éé@@m (Trigonometric)
U3 dfde I8 | fed »iHt wmust 999 fsBe def 3a It Hifwz Jufar g
fegst niaur3t @1 fererg TR dat © BEt & J3T 7 Ager J1 feu wHt 00 M3
90° & HU T8 def € f3det3et niaur3t & & ufgafias aaiar i wiHt I3 ferm

dat & f3aEH3T Wiaut3 U3 Il W3 fegs WgUT3T 5% Hefus 93 IIAHAT
(identities), gt & f3a=fizet 33AHa Jfde I, mafUz dafar| C

8.2 faa=fizdl msus
a1 8.1 &9 IHt MBIT-MB 91 AfgInT feg g I3
Ao f3gat € a8usT 99 9d J1

@ wrt € AHaE f3g7 ABC eElE, fae
fa fg39 8.4 f&T faurfon famr I

f€8 £ CAB (A "y &9 a< A) € fabe
d& J1dT A &8 HEfu3 g7 BC &t Afadt 2y feg
I AT AT FOHS J1 fem gam & wirt de A €t
FSHY 3T Jfde If, 377 AC AHde 337 & dde
I M3 I AB, £ Ae fEq gra1 I| for st wiFt
ferg d= A€t ot g Jfde If|

s fe@ fade AT G '3 deC 8 '3
gt €t Afg3t ges At (B9 9339 8.5) |

fugsht T3t &g 3t waurs” 79 ug 9o
J1 feg wirt Avde f3ga &t gaet o Hefuz
3, Ufggas J9tar|

FAHa< f337 ABC (B4 fg39 84) Eds A ©
faaefizdt meuz Jo' fgy wigAg ufgafas i3
Fl'ii_-:\.’fl_c')':

Je Adtmeqygm  BC

— " AC
de A€t ot s AB
EGL AC

Z AdTsine =

Z AT cosine =

dc C =t
HSHY g7

IEECK]
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Z AET tangent = dE A RIEL _BC
JdT AT Bt 3AT AB

1 dde

AC

Z AT cosecant =

1 B I

~ AT sine BIEAEFTH?'D-IHBT-IT BC

AC

Z AdT secant =

L AT cosine o A<l SORT I AB

1 AT AT ORI IA  AB

Z AET cotangent =

~ A€ tangent o A ©f HoY T BC

€ ug ufgehz 13 IE U3t § HYU &9 FHETT : sin A, cos A, tan A,
cosec A, sec AM3 cot A Tafemr wier I | s fe@ fa WU cosec A, sec A W3

cot AMEUT3 sin A, cos A W3 tan A € JHSI €T Ie TS|

BC
3ﬂﬂ‘f€Hf€U€°rEHna€zrf—ortanA=E
cos A
COtA = sin A

BC

AC sin A ~
= w3

AB  cos A

AC

fer 3gf, f€d mide f3gn © fEa fsGs de € feasihzet mauz f3ga ©
dE 3 Gr et garet €t Saret © 9 Heut § S9me T I5 |
ge o8 HT f€d AHde f3g € a< ¢ € f3aefze! mgust & ufggfins

II5 T W3S I (Y 939 8.5)7

HEE “sine” €7 AF 3 UfdsT YT, TR gu feg mHt
ge I I7 Grer €8y 500 € fe9 wifowrge ewrar
fodt aret urza nifawrgdton 1&g fHser I wirfamr
< & HUE WIU- HET €7 YU MdT Hier © B 13T
H s I e i3S s Aw A M e HU quU B
fonm | 72 R3S »ifangdieH e wigere wgdt ST
ﬁﬁaﬂ?mrr?naemﬁa’@na—gra?ww
famrm | wee wer & AfeaH (sinus) © U 189 wigee
3T famn, farer wog e9g 9, Al It QUisT &
Bfes g nisere 13T famr | fer € 393 97€ sinus HET

476 — 550 €t
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Jfes

1>

HYU Ha3 'sin’ €7 YWl o137 H |

YGaT o137 HH

sine © gV €9 Yd oy © aifedt utst &9 23famm A Sa1 fimdT | uais
fefamits © f&°'q wigrdwt © YeHd €303 died (1581-1626) & AS 3~ ufgst

T—[EIE"T‘cosine‘*rlf{‘tangent’E‘r yzT fer 3 et €9 9T BfdTl €SS cosine
= U7 ET Ydd o9 T sine U3T J96 B JET | »ifamide & el & (Kotijya)
aferar =7 a1 237’ cosinus aH & Hgm3 fesHs died © o It It H
1674 &89 g 9ife3s HH3dT AT #a™H Ha &, Ufgs! HuU HA3 ‘cos” &7

feust :Wﬁ@ﬁo{ﬁﬁusinAﬂTl{ﬁﬂTa@A’@sin
@%@%WW%I@QHA, sin M3 A €T
TS &It TIAZT MBIT I d “sin” € aet wigg Jt
ﬁﬁ?lfi’ﬁ?@*cosA, ‘cos’ ‘YH@'AETW?EW
J1 few 3g7 <t fowrfimr I fadefizet waust &
o5 gt diFt At I

I, Had MHT AHaE f387 ABC € 99T AC '3
fe'g fdg pwele At euret Jet gar AC '3 fig Q
TBEE W3 AB '3 B PM HIE w3 <ut It 97T AB
3 BF QN HlE (T4 39 8.6) STAPAM T LA T
a3t MaU 3T M3 AQAN T LA © f3aef3et
wWaUT3T fEg ot »i3g Jear?

Q
Re
c.’
S
..
M B N
fg398.6

fer yis v €739 u3T 995 € B v ufgst wirt fegst f3gat § Tdfie |
ot APAM ™3 A CAB AHGU I&7 3J% e Jedr fa miftmfe 6 f&9 3HT AA
AHGU3T I © §19 9 wiftrrs 99 9d J1 for andt § &g 99s '3 3HT YUz
Il fa A PAM %3 A CAB AHIU I | fer &et, AHgy f3gwt € 91 © maAd

fegst f3gat Emt Harz grret AHTs-wiauT3 &g Jaaf|

AM AP _MP

fer met = —=—
AB = AC BC
— . s} o 2 MP .
— = —=sin A
fer 3" AS YUz der d P = AC
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- AM AB MP BC
f‘E’FTBQ' —— =—— = COSA, — =—""=t A e -mfe
AP AC AM AB 0
fera” frg uzT EaeT I 9 APAM € 92 A € f3deH3e iU w3 ACAB

o J< A € f3deizdt wigurst f&g adt »izg odt” Jer

fen 39t 3t feg Uz3™ 99 Fae I fd A QAN &5 & sinA BT HS (M3 J9
f3daf3et »iaust w W) gargd afder J1

WS YuaT 3 g feg Aume I weT 9 fa Aae a9 €5 It 99 3T g 9
¥ faasfzet weust € Wat i f3gn dht garet St St € &5 et
ufgeass adat Jeri
feuat . Ay 2 BT (sinA), (cosA)?, MTfe & AETS '3 WHT gHETd: sin’A, cos’A
wife foy H&@’Uﬂ@cosecA:(sinA)“;tsin“A(%H?EW@HET@?EHHW
T J) sin! A T MBI WIG JeT J | el 3 9a9T wirl @St aunst g Iatar|
e 3gF &t Jugret 39 f3aefizet wigurst '3 & g Jet I5 | Ie-ae Ifid
Wiyg 6 (dter) T YudT 9 § YIIe J9% € SEL 13T AT J

feg it fEa fols d © & f3aeih3e »iau3 ufggfizs o3 I | fdg
A JEt fod wigur3 3T 9< 3t &t »iHt g6t wigus YUz 99 Aae 9! Mg
wH fer '3 fegg gdtE|

C
Had fed AHde f3ga ABC &9 .

e e 1 B :

A= AC 3’

g2 f3gH ABC @i garei BC w3 AC B

Tt Sarert 1: 3 © wiurs &9 I8 fe398.7

(€9 9339 8.7) | for BEt 749 BC, k € 99799 J< 3t AC, 3k © ¥JTHd J<dft,

g« fe's us At 319 AT gt f3dei3et a3 YUz 39 © SEt A

AT I AB €1 et uzT g3at u=ditl dt 398 urfeargian fAGaH (yHw)

wre I7 w@ wirt urfeerdign fa@an (YHw) € Hee 3% AB T Suret uzT IdiE |
AB?=AC? - BC? = (3k)? — (k) = 8> = (22 k)

fom =t AB =+ 22k

fersgtmd yuz derd  AB= 242k (AB= —2/2k faf st I?)
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AB _2V2k _2V2

Jdg cos A= A—C 3k 3

fen 3gt 3AT d< A © Tt f3deH3E Waus Y3 o9 Aae J|
feust : fa@fa mide f3gw v g9, f3gw <t Az 3 St gar Jer g, fom o=t
sin A 77 cos A BT H& IHAT It 1 3~ uie Jer J (7 ferw nfast feg 1 < ga=g
ger J) | W wirt 93 Gergdet BEE |

C

e N 4 . - N

GT 9= 1 : Add tan A = E,BTB(EA < gt
f3dEHzet wigus 3T I91

I5 : w8 AF 3 ufasT wiAt f£'d AHdE A ABC 4k
geTEle (Y 939 8.9) |

BC 4
g WA Aeed I7 fd tanA= — =—

AB 3 A B
ferm et 799 BC = 4k, 3T AB = 3k, T8 & o<t 3k
USTIHS Him T | fg398.8

ge yfegrgign fa8an (i) B7q 998 '3 A Y3 JeT J
AC?= AB?+ BC? = (4k) + (3k)? = 25K

fem Bt AC = 5k

g wHt fegst €t ufggmret 3+ grdt f3deM3et wigus fey Aae ot

_BC_4k_4

SIMA=AC 5k 5

W AB_3k_3

COSA="AC 5k 5
1 3 5 < 1 5
: = ——=—,cosec A = = = ==
fem & - cotA tanA 4 sin A 4‘Y>‘|3'secA cosA 3

P

Gerggs 2 : Had L B3 £ Qmifad

fofs de Je A TS fasinB=sin 4

Q.3 fHuadfasB=20Q

TS g AT € AHaE 337 ABC

‘YH_B'PQR '889@! ﬁ-l'ésinB:sinQ

(24 939 8.9) C B R Q
fg398.9
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feg sinB:£
AB
KES inQ= n
sin Q = PO
- AC _ PR
= AB = PQ
AC AB
2y 22—k A%
fer st PR = PO (Hs 59) (1)

g yfegrdign fa@an orq J9s '3 1§ fHger 9
BC= ,[AB?— AC?
QR = ,/PQ? - PR?
BC JAB>—AC’ \JK’PQ’— k’PR®> _ k\[PQ’— PR’

OR = = = =k
o RN oom R oo

(Hm3 (2)3 7 fiser I

AC _ AB _ BC
PR~ PQ OQR
TS YHH 6.4 T YWIT 995 '3 AACB ~ APRQ yU3 Jer JIfem &t £, B=2Q

Ceug= 3: AACB B8 fimeras c mHae 3 A
fam &9 AB =29 fearegnt, BC =21 feardhi w3
ZABC =0 (24 fg339 8.10) J 3t Jat fafipit &r 2
H& U3T 9|

(i) cos? 0 +sin’ 0
(ii) cos® @ — sin2 @ 0

y S " s 21
U5 : AACB I ARG YUz dev J ORI

AC= \JAB>—BC? = ,/(29)> - (21)?

= J(29 - 21)(29 + 21) = /(8)(50) = v/400 =20 fearemt
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for Bt sino= — =

() cos 4 sin6 21) (20)7 _20°+217 _ 400 +441 _
JT, (1) cos*0 + sin“0 = 20 341

yy@- . 29 in20 = 2 2_
(i1) cos’0 —sin’ 0 = 29

20 : _(21+20)(21-20) _ 41
29 292 841

Serags 4 : 9 mide f3gw ABC feg, famer
d& BHHAE J, Hdd tan A = 1 3T USI'& 4 fa
2 sinAcosA=1

. y BC ~ o
IS : AABCTEH tan A = 5 =] (24 f939 8.11)

I BC= AB
o N ~ o 2 _I
Ho B8 AB =BC =k a8 « ¥ goana Htmr §1 B ¢

fosg8.11
d< AC= \/AB”+ BC?
= VK’ + (k)" = k2

BC 1 AB 1

sin A= A—C_ﬁ M3 COSA:A—C_\/E

forl wd ZsinAcosA=2(%}(%}:1,?1’?@3’3@%%|

Gwrgg= 5: A OPQ fé9, fAReT dE P AHdE

J, OP = 7cm hE?’OQ—PQ = lcm

(T4 937 8.12), sin QM3 cos Q¥ H'S UIT

I

TH:AOPQT S fiwer §

0Q?*= OP? + PQ?

EjC] (1+PQ2=0P+PQ  (fag€7)

g 1 +PQ? + 2PQ = OP? + PQ? P 7 cm
fg398.12
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ELS 1+2PQ=7? (fa67?)
e PQ=24cmM30Q=1+PQ=25cm
fem =&t sin Q = %M@'cosQ:%
YHSTH 8.1
1. AABC &9, fAHET 9 BHAHAE J, AB =24 cm ™3 BC =7 cm J1J&t fefamit &
);IU'&'UBTB(_B': P
(i) sinA, cosA
(i) sin C, cos C
2. 939 8.13 f&9, tanP-cot R H& U3T IJ | 12cm 13 cm
3. ﬁ%sinA:i— 3Tcos A M3 tan A ETHLSLBTGFS'I
4. Had 15cotA= 8 I 3Tsin AMI secA?H%U?a%I Qj R
5. Fadsec 0= - 9% 31wl 713 Fraeheet wours vz @y 939 813
6. 73 £ Am3 £ B 688 d& I, fa¥ cos A=cos B3T fau@ fa ~ A= /B
7. ¥FT cot@= L, 3t ) LFSNOA=sinG) o g T e uzTaT
8 (I+ cos ©)(1 —cosB)
- . . 1-tan’ A ~ . .
8. Tdd 3 cot A=43 UIISH I3 T 1o A = cos? A — sinA J 7T &1
9. A ABC &9, fAmeT 9= B AHWdE J, Hdd tan A = Jlg 37 I o3 He uzT 949:
(i) sin Acos C+cos AsinC (ii) cos Acos C—sinAsin C
10. APQR f&9, fAaAeT 9= Q AMGE J, PR+ QR =25cm M3 PQ=5cm J|
sinP,cosP‘VH_:\sr tanP?H%U?a%I
11. ¥R fg I=f f&3 986 31T Is AT 183 | Id< Afaz wus 8739 € urdt 94|

() tan ATTHE IHHT 1 3 We Jer JI

- ~ N v 12
(i) 9 A © fan s met sec A=
(iii) cosA,aE A¥ cosecant ?ﬁ&ugufn

(iv) cotA, cot™M3 A &7 dIcbe S ﬁ?%l
a - ~ 4
(v) for @ d= 0 © Bt sin6= 3
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8.3 99 fenw d=f ¥ f3d=3el maus

ffest © wiftis a5 A 30°, 45°, 60° M3 90° T dt & 9T 3° 9t 3T
me J1 fer gra1 €9 »iHt fegst det w3 a7 of 0° @8 de € f3deH3et
WIUTST T H& UIT J7dT |

45° @ f3aefizdt maus C
A ABCfEg, famer 9 B AHd<E J, Had ¥ de

45° T J, 3 AT de < 45° T Il IE

Z A=/ C=45° (29 937 8.14)

fer Bt BC=AB (fag7) A B
fg398.14

JIT He B8 BC=AB =4

yrfeETgiagn fagaH(YHY) © WMaAd AC? = AB® + BC2 = @’ + @* = 2a°

fem =&t AC = g2

f3defizet miaur3st Eht ufgamret & B7q 998 '3 A feg yuz Jer 9 ¢

. 45°2dz Etweygar  BC  «a _
sin 45° = — AC a\/g \/5

45°ddedigadtgwm  AB_ a1
cos 45° = f— AC a\/i \/5

45° 2 d= dt meHy gar BC a
tan450= N S . = :_:1
45° 2 J= <t Brarel gAT AB a

- 1 1 1

W3 cosec 45° = — =\/§,sec45°= =2, cot45° = =1
sin 45° cos 45° tan 45°

30° W3 60° © fIa=fizet wsus A

We I& wHT 30° M3 60° T f3d=H3Tt nigus -

3T adte | fo g aHgHt f3g7 ABC '3 fegrg ad |

fagfa gt f3g = gg fea de 60° = Jer pA60° C

JIfer Bt LA=/B=2C=60° D

fgs3a8.15
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A3 39" BC '3 B9 AD T (24 937 8.15) |

Iz AABD = AACD (fa@?)
fer =&t BD = DC

W3 ZBAD = £ CAD (CPCT)
ge 3AT feg 2y Aae I fa -

A ABD &g AHdE f3gw J fameT 9 D AHdE I w3 f&8 £ BAD = 30° M3
Z ABD = 60° (24 939 8.15) | fam 3¢ fa 3Ht 7w I fa f3dehzet migust
 U3T 995 € Bl A 330 &t garet &t Sarenit u3T 995 €1 7gd3 et
J1G wirt fog He e fg AB =24

. 1
37 BD: EBC=CI
3 AD? = AB?- BD? = (2a)* - (a)* = 3d’
for st AD = a3
D AD ax/§ \/§
JdT i O —=—=— O =0 = —
< SN 30" = g T2 2T AT e T 2
o, BD_a _ 1
tan 30° = AD a\/§ \/g
w3 30e — =2 3002 — =2
cosee "~ sin 30° » See ~ cos 30° \/5
1
cot 30° = =\/§
tan 30°
fer 3qt
. AD a3 3 . 1 .
sin 60° = 5—3—7,00560 —E,tan60 =3

-

2 ~
cosec 60° = ﬁ sec 60° =2 M3 cot 60° =
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0° W3 90° ¥ f3a=izet niaus
g At Bl fa Had AHde 33T ABCEde A § 82 39
B8 di3T AT I A¢ 34 fa feg fagg adt” I Aer, 37 e C
Afest &9 3T A © fadefiEdt weust '3 &t yge Uer g
(e 937 8.16) fae~-fAe” 9= A 87 Jer AeT I, EF 3gr It
g7 BC ©f Furet ue get et J1ffg C, ffg B @ ometa A B
wGET HeT I w3 W3 fEY A LA, 0° @ It sAelg g Arer (999 816
J 3T AC BIgdT AB ¥ ¥ITEd J AT J (29 939 8.17) |

C

" R . .1 .

A S e e
I I a I o I 1 I oC
B

A B A B A B A B A B A

fgsa8.17

Ha LA, 0° ¢ 993 fimvmer sadtd Jer 3 ©F @8 BC, 0 € 993 SHElS wiT 7ig!

%l@_ﬁ%&?sinA:i—g THS 0 € 993 sAld WMT HeT I M3 Ae LA, 0° €
gg3 fimer sadla Jer 3, 3T AC &drgd1 B89 It Jer I 7 fa AB e I w3
cosA:% T HS 1 € 9J3 sadid JeT J1

fer <t rorfesT s WAt fer Afast 9 sinA W@COSA%HEMF

od HaE I Aa fd A = 0° WH sin 0° = 0 ™3 cos 0° = 1 UfggTH3 Jae It

fegst & yGar 995 '3 W YUz Jer J
i 00 1 — - .
tan 0° = ——— =0, cot 0° = 7 f ufggias adt 31 (fa8?)

cos 0° tan 0°
1 ~ 1 N . A .
sec 0° = = 1 M3 cosec 0° = —— MI Tag S ufgghiz adt J1 ([FE7)
cos 0° sin 0°

Wi wiH g Bn Afast feo et fa £ A € f3de3d wigust 2 os ot
JerJ, A9 AABC ® feR 9z § € Sa I3 dizrAter 9, A 34 fa feg 90°
T I ATl £ A fae-fae €37 I<ar, ~ C €F 397 It 8o Jer wear | fem
wet §ug ot mfst € 397 g AB ©f Suret uie Jet wEt 1 fdg A, e B
o Adld JeT 7ieT I w3 w3 89 A8 Z A, 90° T 993 famaT 33 wT AT 3,
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3T £C,0° & gI3 fmer 33 i 7T I W3 gAT AC 99" BC € &8 FITFdl

HuSt g At I (29 939 8.18) |
C C C C
B
A B A B AB

f9398.18

e £ C, 0° & 9I3 fmer sadla I #7eT I 3T £ A, 90° © g3 frimmer
SAEIS I 7eT I W3 gAT AC BI1FdT AT BC 2ddit I At I 1 for Bt sin A, 1
993 fimvmer sadla I AT I w3 A LA, 90° © 993 fimer sadta Jer 3,
3T £C,0° & g3 frimTeT sAS I ATeT I W3 AT AB &aigdr fHEd J Aet J1
fer Bt cos A, 0 € I3 favmeT At I e I

fer et wirt feg ufggiz Sae T : sin 90° = 1 M3 cos 90° = 0

ge AT 36 =t 90° & grat f3aeH3et »iauts u3T I9e?

g At fea Aget 8.1 € qU fE9 0°, 30°, 45°, 60° W3 90° € g f3dafHaet
WMEUTST ¥ HS TIA=A |

AISt 8.1




206 Jfes
feust : Aadt 8.1 3 3HT SY AT I fa fAe” -fAe LA T H& 0° 37 90° 3
TYCTHET D, sinA THB 03 S0 I 1 I AET I M cosA @THE 1 3 WS J
0Jd Aer JI

g Wit ge 99 Bergdst ¥ o Ardet 8.1 feT &3 9 Wet © ywar §
Yeafis Jate |

A

Qerag= 6 : A ABC &9 fAReT 9 B AHdeE, I
AB =5 cm ™3 £ ACB = 30° (29 939 8.19) JI
A=t BC M3 AC ©T gmetw u3T 3491 B 3067
J% : gAT BC € Bgtet U3T 996 © Bt wiHt 81 f¥3g 819
f3deH3et migu3 & Betar fan &g BC m3 ot

Jg g7 AB J<| fa@fg BC, d= C &t Bt

gAaT J, M3 AB de C €t AWy gdT J for et

5cm

AB
BC—tan
5 300 L
gie Bc—tan _\/§
fm 3 BC = 53 Y3 Jer J|
AT AC €t BITE U3T 996 € Bt mHT
AB
. O=_ AN . ?
sin 30 AC & Jr (a@_ )
e 1_5
2 AC
ge AC= 10cm

firrs fe@ fa €ug &t Gergde feg 3tadt g &t Saret yuz d9s © wEt
geSe gu e wHT urfeardign faGan (yiw) < a1 99 Hae H,

e AC= \[AB?+ BC? = /5> + (53)* cm = 10cm
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Qergg=7: APQR &9, fAAET de Q AHdIE P

J (€9 f¥39 8.20), PQ = 3 cm W3 6 em

PR=6cm J1 £ QPRM3 £ PRQ U3T JJ| 3cm

ﬁ'&':ﬁ?%PQ:3cmM§PR=6cm Q R
P \J

forr met PR iR f398.20
PR

G nR=>=1
Sin = 6 B

fom wet ZPRQ = 30°

w3 ZQPR=60° (fag?)

3HT feg 2y Aae J fa A9 f£a AHae f3ga et foq g7 w3 fe'a Jet I9
397 (7 7 3t f5@% d= I2, Aot g garde ) uzTde, 3t faga et et gwmet
W3 9T U3T 13 AT AIE IS |

- 1 1 .
@erggs 8 : 7T sin (A—B) = 30 cos(A+B)= 2 0°<A+B<90°, A>B, 37 A

WMI BUITIJ|
I : fabfa sin(A—B):%,fEHEE"T A-B=30° (fag7) (1)
w3, ﬁ@ﬁcos(A+B)=%,f8Frm%A+B=60° (fa6?) )

(HM3 (2) S IS JI5 '3 A A=45° W3 B=15° Yu3 Jer J|

YRS 8.2
1. Ja fafini @ H8 U3t 39 -
(i) sin 60° cos 30° + sin 30° cos 60° (ii) 2 tan’?45° + cos? 30° — sin? 60°
cos 45° sin 30° + tan 45° — cosec 60°

@iv)

sec 30° + cosec 30° sec 30° + cos 60° + cot 45°

(iii)

5 cos® 60° + 4 sec? 30° — tan” 45°
sin? 30° + cos? 30°

v)
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2. AJt €739 9 w3 Orer 9de €R

2 tan 30°
1+ tan® 30° -
(A) sin 60° (B) cos 60° (C) tan 60° (D) sin 30°
_l-tan® 45°
() 7 an? 45°
(A) tan 90° ®B) 1 (C) sin 45° (D) 0
(iii) sin2A=2sinA @8 Hg9Je'd, e A 999d J :
(A) 0° (B) 30° (C) 45° (D) 60°
' 2 tan 30°
(iv) 1 — tan® 30°

EN

gdrEad J

(A) cos 60° (B) sin 60° (C) tan 60° (D) sin 30°

~ ~ 1 . ~
HJ tan (A +B)= /3 M3 tan (A-B) = 5107 <A+B<90%A>B 3T AMIBE

HZU3Tdd|

TR Jo' fe fawr f&8° faazr vt I w3 f3a3T 9183 | Iae "oz viug 6739 <
yrdt I91

(1) sin (A +B)=sinA + sin B.

(i) 0F TUS & sin O =T HS < <geT J1

(iii) 0€ TS 3 cos O TT HS < TUT J| C
@iv) © @W%E\WTB'EDF sin © = cos 6

v) A=0° 3 cot AUfgafazs =t J1

8.4 UId d=t ¥ f3a=fizdt maus

A B

397 W J<Ir fa € daf § yad fagr Aer 9
Ha BJam v 13 90° JeT J|

fgs3a8.21

AABC f&9, fareT 3= B AHaE J, ot 3T Yad daf e Jet naT fouret

féer I (29 fd39 8.21) 1

fagfa £ A+ 2 C=90° for met fegst 3 yad dt v fo'd 73T geer J|

wWHT Free 97 fa
) BC BC
s1nA=—AC cosA=—AC tanA=—AB
AC AC AB M
cosecA:B—C secA:E cotA:E
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W I WA £ C=90° - £ A © T33! niguts fodte |
Y & Bt wiHl 90° — ZA € AES 3 90° — A foutar|
T 90° — A € ASHY FAT W3 BTaIet AT ot Jeait?
IAT Y dT fd AB d< 90° - A & FeH Y g7 J W3 BC BTdIel gAT J|

o AB o BC o AB
fer Bt sin (90° - A) = e cos (90° — A) = C tan (90° — A) =

BC

(2)
007~ A) = o Sec (90°—A) = o= cot (90°— A) = o=
cosec (90° — )—AB,sec( - )—BC, cot (90° — )—AB

I (1) M3 (2) © wmaurst €t 38aT 995 '3 A e I fa
i 90°A—ﬁ— AN 90°A—E—'A
sin (90° — )—AC = Cos cos (90° - )—AC—sm .
IES tan (90° A= 22 oA t (90° A= 2t a
an (90° — )_BC_ ,cot (90° — )_AB—

AC AC
sec (90° —A) = Bo - cosee A, cosec(90°-A)= ap % A

fer BEt sin (90°—A) =cos A, cos (90° — A) =sin A
tan (90°—A) =cot A, cot (90° —A) =tan A
sec (90° —A) =cosec A, cosec (90° - A) =sec A

feE dT AT AT HB 0° M3 90° € fegad I I ER fIfeg A=0° AT A=90° '3
T Jer J A &I

feUat: tan 0° = 0 = cot 90°, sec 0° = 1 = cosec 90° M3 sec 90°, cosec 0°, tan 90° M
cot 0° Ufggiz adt” I |

Wi wHt ge 95 Gergder BElE |
Gerggs 9 26 ar kg yzr a3
cot 25°
T - fam 3gF 3 wirt Aree IF £ cot A = tan (90° - A)
fem met cot 25° = tan (90° — 25°) = tan 65°
tan 65° tan 65°
g<e = =1

cot 25° tan 65°
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§EU9E 10 : 7T sin 3A = cos (A —26°) IS, 8, 3 AT fs@a A= I 3T AwEr
H& U3T JJ1
T feg fe 3 Ifonm I fsin 3A = cos (A - 26°) (1)
fagfa  sin 3A = cos (90° - 3A), fer Bt wrt™ (1) & fem gu €9 fgu Aae of
cos (90° — 3A) = cos (A — 26°)
fagfa  90°-3AmM3 A-26°E< It fos d= Is, fem wet
90°—3A = A—26°

fm 3 A=29° Y3z Jer J|

SET9E 111 cot 85° + cos 75° & 0° M3 45° € fegag € daf € f3defizet
WIUTIT & et f&g Tgug |

Is ¢ cot 85° + cos 75° = cot (90° — 5°) + cos (90° — 15°)

= tan 5° + sin 15°

YHSRSE! 8.3

1. J&f fafum en H® U3T 94 -

sin 18° tan 26°
(1) m (i1) m (iii) cos48°—sin42° (iv) cosec 31°—sec 59°
2. few@ fg

(1) tan 48° tan 23° tan 42° tan 67° =1

(i1) cos 38° cos 52° —sin 38° sin 52° =0

HAJ tan 2A = cot (A— 18°), g 2A f€d fs€5 de J, 3 AT HS U3Tad |
ASJ tan A = cot B, 3T T 99 fg A+ B =90°

T sec 4A = cosec (A—20°), fiE 4A € {565 d& I 37 A TTHE U™ 93|
Had A, BM3 C 337 ABC € »iegat de 78 3 fau& fa

. (B+Cj A
sin = Ccos —
2 2

AN

7. sin67°+cos 75°& 0° M3 45° ¢ fegarg € dat © f3deiz3et migurst € uet feg
TIAE |



faaeiat g9 A7 yug'= 211

8.5 f3a=fizdt I3AHa(HITAHIT=)

39 e Jear fa e mldae & 33AHa (FggAH3T) A
¢ fagr 7T I A €U HYU3 9% € A U Bet HY
J< | fer 37t fEa d T f3defizet waust 575 Heuz
AIgRH3TEt & f3deH3E HagmHaTet faar AT J, 749
feg Heuz det € A9 U € SEt HY 39|

fer gra1 fe@ »irt feq f3de3et AggrH3T i
Fardt w3 ferer yuar 99 Qudant fadefawet © B

o oav o = fg398.22
HAIgAH3E & THU 996 &9 aTdl |
AABC f&9, 7 B '3 AHde 7 (29 939 8.22) Aé
e 3 AB2+BC?=  AC2 (1)
(1) € IJ9F UE § AC? & 79T v '3 7é e J1
AB* BC* AC?
>t 2 = 2
AC?  AC? T AC
. ABY (BCY [(ACY
A — |+ =] = | =
AC AC AC
g (cos A)? + (sinA)? =1
g cos?A +sinA =1 2)

feg A3 AT B, A8 0° < A <90°, HY Jer J1 fom =, fog &9
fadei3et AggRH3T J1
»g gE At (1) § AB? & 3791 e¥ie | fen 397 998 &8 A fuger I
AB* BC* AC?
2+ 2 2
AB? AB’  AB

. (ABJZ (BCJZ (ACJZ
Cu — |+ = —
AB AB AB
g 1+ tan’A = sec’A 3)
ot feg AHtade A=0° € et He J97 o, feg He J 141 feg A=90° & =&t
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T HT I? A=90° € B tan A M3 sec A Ufggas st gs | for s, (3) for
3T € A AT BE HY g J, g 0° <A <90°
g wirt feg edite fa (1) § BC? 3% gma1 B¢ '3 g ot fiuser I

AB?> BC? AC?
2 + 2 = 2
BC? BC BC

(36) +(5¢) - (58
I< BC BC) =~ | BC

EiCE cot’A + 1 = cosec’ A 4)

fimrs fe fa A=0° T BT cosec A M3 cot A UfgaTiz odt” I | for B,
(4) fer 337 © W ABE Ho Jer I g 00 < A < 90°

fegst AggAH3=t € T93° 99d »HT 99 B d f3dei3et wiaus & I3
faaEH3et wigusT T uet &9 TdrT Aae I7 37 Add JEt fod Mau™3 U3t I
3T wHT g7t f3dEH3T wigutsT € W& < U3T 9d Hae J7

g wiHT feg Tfie fa fegst AgeRHa=t & yudr 99d feast & mHt fam

. -~ . o . 1 BN .
BQTWHHHHEUTIHHB'@WtanAzﬁUBTUBTcotAz J3

NG

. 2 ~
fa8fa sec?A=1+tan?A = 1+l=i, secA=—=,M3 cosA= —
33 3 2

M@'ﬁ'@ﬁsinA: J1=cos? A = 1_%:% fer et cosecA=2

@_E"UEIEIZ : MSUT3T cos A, tanA’H@'secAésmA @UET%HE!HFIT@I

5’81%@‘%( cos? A + sin? A = 1, fer =&t
cos?’A= 1—-sin?A, € cos A= T/l —sin®A
few 3° wé fiser 9 cosA= \Jl—sin2A  (fa€7)
sin A sin A 1 1

ferm et tan A = =7WE\>’SGCA: =
cos A [l -sin’A cos A \1-sin’ A
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@_E"UEE 13 :'Fﬂzqa%f%(secA(l—sinA) (secA+tanA) =1

V]

QK

5 . 1 _ 1 sin A
YT UTHT=sec A(1 —sin A)(sec A+tan A) = cos A (I—sin A) COSA+ cos A

(1—sin A)(1+sin A) _1-sin® A
- cos A cos® A
cos? A

= =1 = Fluﬂl u H'
cos’ A

cot A—cos A cosec A -1
cot A+cosA cosec A+1

Qerggz 14 . U I3 fa

cos A
- —cos A
o o cot A —cos A sin A
J & gdar YH = =
cot A+ cos A CcosA
—— +cos A

sSin

cos A _1 -1 _1 -1
sin A sin A cosec A -1 o
= = = AT YTHT

cos A .1 1 .1 1 cosec A +1
sin A sin A

GEUgE 15 : IZAHT sec?0 = 1 + tan®0 T YT 93 fHT 93 fa

sin®—cos O +1 1
sinO+cosO—1 secH—tan O

TS : fa8Ta wirt sec © W3 tan 6 3% HIU3 I3AHAI @931 J, for st W
yfgs ¥8 UH & "MH W3 99 & cos O 3T IT9T ddd Y8 UTH & sec § M3 tan @ €
uet feg gesdle

sin® —cos®O+1 tan O —1+secO
sin®+cos®—-1 tan6+1-secO

YT YTHT =
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3 (tan © +sec ©)—1 _ {(tan 6 + sec 0) — 1} (tan 6 — sec 0)
" (tan ®—sec ) +1 {(tan O — sec 0) + 1} (tan O— sec 6)

(tan* @ — sec? ©) — (tan 8 — sec 0)
{tan © — sec O + 1} (tan® — sec 0)

—1—tan 6 + sec O
(tan © —sec O + 1) (tan 6 — sec 0)

-1 1

tanG—secsteCG—tanG’
w fig i3t 7 vt S 33AHT T HAT U g
YS! 8.4
1. WW sinA,secAWI_;'tanA?;;cotA _Q’UET%_U’EHHT@I
2. LA @wﬁwmésecA@Wﬁﬁml

3. H®S U3Td9

_ sin® 63°+ sin® 27°
@ cos?17° + cos? 73°
(i) sin 25° cos 65° + cos 25° sin 65°
4. AIT €739 9 w3 mue feasy <t yrdt 99 -
(i) 9sec’A -9 tan’Ag9dradd I

@ 1 B) 9 (O D)0
(i) (1 +tan © + sec 0) (1 + cot © — cosec 0) Id™=d I
@A 0 B) 1 <€ 2 D) -1
(iii) (sec A+tan A) (1 —sin A) ¥d™™&d J:
(A) secA (B) sinA (C) cosec A (D) cos A
1 +tan® A

(iv) 1+ cot? A g

(A) sec’A B) -1 (C) cot? A (D) tan®> A
5. J&t fe It AggA3T=t (33RHAT) g 99, fag €9 d<, fagt et fenfrat
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ufggTfas s, fobs de Is -

1—cos ©

(i) (cosec 6 —cot 0)* = 1 +cos 6

A 1+ sin A
(i) —28 L ITIA 5 sec A
1+sin A cos A

tan © cot O
(iii) + =1+ sec Ocosec O
l-cot® 1—tan ©

[ﬁ%l?: Wésinﬂ’ﬂ?cosﬂ@@ﬁﬁf&'&]

I+sec A sin? A
sec A 1--cos A

@iv)
[Halz : ¥gT UTHT W3 HAT YT § MEBI-MEBdT HdS JJ)
(v) 33AHT cosec?A=1+co AS TI3¢ I, fHT 93

cos A —sin A +1
cos A + sin A -1

/1+sinA
i ————— =sec A +tan A
(vi) 1 -sin A

. sin®—2sin’0
(vii) ——————=tan6
2 cos” 6 — cos 6

= cosec A + cot A

(viii) (sin A + cosec A)>+ (cos A + sec A)?> =7 + tan’ A + cot> A

1

; cosec A —sin A)(sec A —cos A) = ———
(ix) ( ) ) tanA + cot A

[Ha3 : U9 UTH 3 Hrl UH § W& 91-MS 9T AdS dJ |

1+tan2A_ l—tanA2 ,
(0 1 + cot’A 1 —-cot A = tanA
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8.6 HATI-WH
fer wiftmrfe f&g, 3HT I Ty safamt e wiftmis 3T I

1.

AHdE f3gw ABC &9, fAAeT 9 B AHdE J

d& A € HeHy ga d& A €t saret gaT

sin A = »cos A =
ddT dda

J= A €t AoHY 39T
tan A= — -

d A <t Baet g
cosec A = ;sec A = ;tan A = ’tanA=SlnA

sin A cos A cot A cos A

Had f£d fs6s de v fo'q f3aei3e! »aur3s usT 392 3 < © gt f3aefi3et

WEUTS MATST TE Y3 &3 7T Aae IS |
0°, 30°, 45°, 60° M3 90° & daT & f3dSHIT WMaUT3T & HS |

. sinAHTcos A ?%a@ﬁﬁaé‘éuaa ' ﬁ?ﬂ@_ﬁ secAT-I"fcosecAET);m

g g 37 Su A 9 € gadrgd Jer J|

sin (90° —A) =cos A, cos (90° —A) =sin A

tan (90° — A) = cot A, cot (90° — A) =tan A

sec (90° — A) = cosec A, cosec (90° —A) =sec A
sin”? A+ cos’A=1

sec? A—tan’A=1 A8 0°<A<90°
cosecA=1+co? A TAE 0°<A<90°




